eHa
Machine Tools Price

E-mail:eva@mzgtool.cn

| o

~—

¢

k. I.dl.'.'

WeChat Linkedin

CkaHunpaHe, CBbpxeTe

Scanning, Contact Us
P 0 1 TB'bp,'ClOCI'lJ'I.a{BeH cbpesa E Pm]peem 3a 3aBbpTaHe Ha BbHLIEH LUNUHAPUYEH / BbTPELLEH OT
* Carbide Milling Cutter

External Cylindrical/Inner Hole MHCTpyMeHT 3a cTpyroeaHes

Twitter

P 02 Peszau 3a kapbupg E P 1 7 MHCTpymMeHT 3a cTpyroBaHe / psizaHe ’,

Cemented Carbide Cutter Grooving/Cut-Off Turning Tool

P03 BuWHT 3a ekcTpyaunpaHe e — P 1H8'pyMeHT 3a 3aBbpTaHe Ha nuueBaTa/BbTpelwHaTa Ay
- Extrusion Screw Tap

End Face/lnner Hole NHcTpymeHT 3a cTpyroBaHe

Apex Tap e HCYPYMEHT 3a 3aBbpTaHe Ha CNC 7.
P04 Apex Tap e PMI g CNC Turning Tool ’

P05 CnupanHa kaHaBka m PZO YacTu 3a MIHCTPYMEHTH cLJ,I'Iyii ﬁ/vﬁf
+  Spiral Grooved Tap + CNC Turning Tool Parts @ sl

e .
P OIBNeH KpaH / LUPpKYNSApHO ykpengade \ P2 1 BAP lNpaBobrbnHa pesa N é
- Hand Tap/Circular Die = . BAP lNpaBobrbnHa pesa ——
- ®pesa 3a hpe3oBaHe Ha KPBIIM HoOCa -5 >
P07 i CCMT.. @ CNMG.. P22 Machine-Clamped Round Nose Milling Cutter e

= >
P08' ,DCMT.. ﬁ DNMG.. P23' KM12.. SEHT.. &239.. P3200..
P09. I e P24, e sl s gl
P10. & o M o P25 o W
PI11. . 5P P2 e ==
P12. @WNMG_ 4 ) WNMG.. P27. ER. . g ‘FMA/B.. l
P 1 ey s prane s 6 rs e, *. .

P 1I/I nioysaHe / BonbbHatuna / ObpaTHo BbpTeHe Ha W P2 9 Akcecoapy 3a CNC MHCTpyMeHTH % =
. Cut-Off/Grooving/Back Turning Of Small Parts . g -

CNC Tool Holder Accessories
P JII TPYMEHT 3a 3aBbpTaHe Ha BbHLUHU LUITMHAPUYH anu P3 O AKkcecoapu 3a cTpyrose u“ ;.. v
= External UunuHgpuynu kaHanu Turning Tool * Lathe Chuck Accessories

KOHd)VII'ypaLI,MFI Ha UHCTPYMeEHTa 3a 06p360TKa Ha I'lpod)eCMOHaJ'IHVI CTPYroBsu, (bpe3OBM, pe3614 n I'Ip06VIBHM npouecwu.
Professional Turning, Milling, Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

TebpaocnnaBeH ppesa

Carbide Milling Cutter

\YepHHTe NOKpUTUA MOraT Aa ce pexar | MeArnTe noxpurua worat Hawowepnurenorpurnsworar ga cepenar | Hawoweqwn nonphrasnorar ga cepenar Hawo cunun nNOKpUTHA MOXKE
Cromana noa 45HRC Crowananon SSHRG Cromananog 58HRC Cromana nog 60HRC Wapexere cromana non 65HRC
D1IEID Black MokpuTtusi Can Cut | Copper lNMokputusa Can Cut Nano Black Mokputusa Can Cut Nano Copper MNokputusa Can Cut Nano Blue Mokputus Can
L1 L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
Cesm—— i WAL
Pt EN N | f ; h & 5
‘ ‘ A A
L1 abnxuara Ha dpeaa ¢ paanuuHa TELPAOCT MoXe 1a GbAe pasnuuHa.
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
1. 5x4xD4x50  |RO. 75x3xD4x50 2.0 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7 (5.7
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0] 2.6 2.7 ] 3.1 4.6 5.1 Q\ 9 5.715.7
2. 5x8xD4x50  |R1. 25x5xD4x50 201256 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
3. 0x8xD3x50 | R1.5x6xD3x50 2.0] 2.6 2.7 ] 3.1 4.6 51 5.1 5.7 (5.7
3. 0x12xD3x75 |R1. 5x6xD3x75 3.113.9 441 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 | 4.4 50| 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 2.0] 2.6 2.7 ] 3.1 4.6 5.1 5.1 571 5.7
3. 5x10xD4x50 |R1. 75x7xD4x50 20126 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.712.61 3412731494446 6.0 6 6.7]151 16151 [61]57]|57]76
4. 0x20xD4x75 |R2. 0x8xD4x75 29136504451 6.1 71179 66816781 7.7|7.7]8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3] 4.1 6.4150([5.4[7.7 7.6 19.0 7.819.117.919.1(87]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6.9 475677 8.119.3 9.5 111.6] 9.6 111.6(10.7[10.7[12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5.3 6.1 7.717.4(81(91 11.3113.5 13.0(13.0(14.7
5. 0x13xD5x100 [R2. 5x10xD5x100 | 6.6 | 7.6 [ 11.0[ 8.9 | 9.6 | 11.1 13.0(15.7 15.3115.3]17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143[6.4147]5.7]8.4 8.119.3 9.5 111.6] 9.6 111.6[10.7]10.7]12.3
6. 0x15xD6x50 |R3. 0x12xDéx50 3114364475784 7.4]81[93]94]10.5]19.5]11.6[9.6([11.6]10.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 49156 7.1]7.4(81/(10.0 11.1112.4 11.4113.6]11.4]113.6(13.0[13.0|14.7
6. 0x30xD6x100 [R3. 0x12xDéx100 | 6.0 | 7.0 [ 10.3] 8.9 [ 9.6 | 11.4 13.6[15.0 13.4116.3]113.4116.3(15.3|15.3|17.3
6. 0x30xD6x150 [R3. 0x12xD6x150 | 12.3 | 14.3[18.7[18.7[19.9]23.4 27.6 26.5 26.6 26.3[26.3[29.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5917.6110.4]8.4(10.0(13.3| 13 [13.9]15.2(15.3(16.5[15.3|18.4]115.3|18.4(17.6]|17.6]20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1(9.4(11.6({11.0(12.4{15.3 17.6119.3 17.7121.1117.7121.1(20.0[20.0|22.6
8. 0x35xD8x100 |R4. 0x16xD8x100 | 9.6 [ 11.1|14.0|14.0|15.4119.6 21.4(23.8 22.1126.6(22.1(26.6(25.0]125.0]28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19. 0| 22.1|29.0(25.9(27.3|32.3 35.4 37.1 37.1 41.0141.0]45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 | 12. 7 16. 6151 16.6|21.6|21.4123.3(25.7|24.3|26.2|24.730.3(24.7(30.3|27.7|27.7|32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3|29.1 30.3(33.1132.5|34.8131.3|37.4(31.3(37.4131.7131.7]37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7]39.4|41.7148.3 56.1 54.4 54.4 54.7154.7]163.0
12x30xD12x75 |R6.0x24xD12x75 | 14.9 | 17.4(22.0(21.1|23.3|28.7|28.3|33.1(36.4|32.9|35.5|32.6|39.4(32.7(39.4|37.0137.0142.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1 | 27.7|28.7|37.0 40.4144.5(48.6(52.4143.5|47.3143.6|47.3(47.0147.0153.0
12x50xD12x150 |R6. 0x24xD12x150| 34. 3 | 40. 0 50. 7[49.3|52.1 | 60.3 72.9 70.7 70.7 77.6[77.6[85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3(34.1 49.3 54.3] 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57.9 64.6168.3 95.4 91.2 91.1 100. 6/100. 6
16x40xD16x100 |R8. 0x32xD16x100| 35. 7 | 38. 9 51.0]53.0 63.6174.0 67.4) 73 [72.8 72.9 78.7(78.7(91.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0/91.0 129.0 116.3 116.3 127. 6|127. 6]143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1]65.1 89.7 82.3]187.9(88.4 88.4 96.7196.7111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3]101. 3 148. 1 153. 1 153. 1
20x40xD20x100 [R10x40xD20x100 | 52. 7 | 57. 6 73.1(75.9 95.3106.7 93.51102.9(105.5 105.4 115.7|115. 7|133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3]196. 3|1220.0
B e o B e Moxe naprmacrounaroa RGP oo mprseromamnotie T
e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ Can Cut Steel Below 60 HRC , Can Cut Steel Below 60 HRC .
_ o1} pe————|p-4mm R e lbo4mm
e P —
D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7
D4. 1-D5. 9xDéx50 6.9 Bommopsansa cnounguraus norope . e ol el AL noermf D1 - R
D6. 1-D7. 9xD8x60 12.4 "RO.5-R1. 5xD4x75 6.9 0.3 |2/3/4 4.6 5.3 0.3 |2/3/4 4.6 5.3
D8. 1-D9. 9xD10x75 20.4  R0.5-R1.5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 5.3 0.4 | 2/3/4/5/6 4.6 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 46 | 5.3 0.5 | 2/3/4/6/8 4.6 5.3
Eceniitiepeania nczopald. mm RO. 5-R2. 5xD6x75 10.7 0.6 |2/3/4/6/8 4.6 | 5.3 0.6 |2/3/4/6/8 4.6 | 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 scexumrepsanna no-rope {0, 25mn 0.8 | 3/4/6/8/10 4.6 | 53 0.8 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 | 3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43 6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
D1. 0-D5. 0xD6x100 1.9 R5x120 32.4 1.5 | 6/8/10/12/15/20| 3.9 4.6 1.5 | 6/8/10/12/15/20| 4.6 5.3
DINDIEO T REX200 40.3 2.0 | 8/10/12/15/20 3.9 | 46 2.0 |8/10/12/15/20 | 4.6 | 5.3
DAx15:Dx50 4.0 Rod20 B e T T e e
D8x30xD8x60 12.4 R8x200 154.7 &Tecwau:‘a[;?aur?voeﬁcr Ball-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End Milling Cutter
D8x40xD8x120 20.7 R10x200 222.9 Steel Below 60 HRC T - TD’
D8x200 43. 6 UCPTEO?'\iaK:EE;LHEG(‘Z)':L[(T;D'HHP'WH}HM[EPENE N DT1 L1 E;SOrﬁm \ﬂm_m
D10x30xD10x75 20.4 Mlcro-D\ameﬁler Flat-End Milling Cutter Can Cut R‘I- - ‘D=4mm = =
D10x35xD10x75 20.4  SteelBelow 60 HRC N Vsl somm i D1 R L1 MokpuTws
D10x50xD10x100 26.1 D1 — D=4mm ' ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 L=50mm [+ D1RO. 2 4/6/8/10 10.3
D10x200 64.3 - D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27.4 cneundukaums cneundukalmus INESLETeoE  D1.5R0.2| 6/8/10/12 10.3
D12x50xD12x100 34.7 DXL REDD D2RO.1 | 8/10/12/16 | 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2RO. 2 8/10/12/16 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6
Haﬂ, LeHaTa He BKJ1io4Ba TOBapu, TAKCU U TaKCH.
LleHa Ha caoenka B waTcku gonapu B Kutamn. _
H 4 K a K B U B b npocwun, M O N Aa, Mms3nparTeTe M Me W n: eva@mgé‘f%WdHthw


http://www.mzg.tw

Pesay 3a kapbua

Cemented Carbide Cutter

E A4 H o —Edge akpun/anymunnii hpesa
Single-Edge Acrylic / Aluminium Milling Cutter

1] | S p— |0
DS N L
Paamepu
General nonmpaHe_nonMpaH
D1 L1 D L

D2x6xD3. 175x50 2.0

D2x8xD3. 175x50 2.0

D2x10xD3. 175x50 2.0

D2x12xD3. 175x50 2.0

D2x22xD3. 175x50 2.0

D2. 5x8xD3. 175x50 2.0

D2. 5x15xD3. 175x50 2.0

D2. 5x22xD3. 175x50 2.0

D3. 175x12xD3.175x50 | 2.0 | 4.0 | 4.3
D3. 175x15xD3.175x50 | 2.0 | 4.0 | 4.3
D3. 175x17xD3.175x50 | 2.0 | 4.0 | 4.3
D3. 175x22xD3. 175x50 | 3.1 4.3 | 4.7
D3. 175x25xD3. 175x50 | 3.4 | 4.3 | 4.7
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1
D3. 175x32xD3.175x50 | 4.0 | 6.4 | 6.9
D3. 175x42xD3.175x60 | 7.9 | 9.3 | 9.7
D3. 175x52xD3. 175x70 | 10.3 [ 12.1 [12.6
D4x12xD4x50 4.7 | 5.4 | 6.1
D4x15xD4x50 4.7 | 5.4 | 6.1
D4x17xD4x50 4.7 | 5.4 | 6.1
D4x22xD4x50 4.7 | 5.4 | 6.1
D4x25xD4x50 5.3 | 5.7 6.4
D4x28xD4x50 6.0 | 7.1 7.9
D4x32xD4x50 6.4 |86 |93
D4x42xD4x60 10.3 [ 12.1 [ 12.9
D4x52xD4x70 13.3 [17.1 [ 17.9
D6x12xD6x50 9.3 [10.0 [11.4
D6x15xD6x50 9.3 [10.0 [11.4
D6x17xD6x50 9.3 [10.0 [11.4
D6x22xD6x50 9.3 [10.0 [11.4
D6x25xD6x50 9.3 [10.0 [11.4
D6x28xD6x50 1.1 [12.1 [13.6
D6x32xD6x50 1.1 112.9 [ 14.3
D6x42xD6x60 15.7 [ 17.7 | 19.3
D6x52xD6x70 20.3 1 22.3 [25.7
D6x62xD6x80 25.0|32.1|33.6
D6x72xD6x90 31.4 1 39.3 [40.7
D8x20xD8x50 19.7 [ 33.3 |42.6
D8x32xD8x50 19.7 [ 33.3 |42.6
D10x20xD10x50 35.3|35.7 [49.3
D10x32xD10x50 35.335.7 [49.3
D12x20xD12x50 46.9 | 50.0 | 53.6
D12x32xD12x50 46.9 150.0 [53.6

®pes3za 3 a

pAa3aHe

CTomMaHa MoXe aga oTpex °\%Q1Ma

3-Edged Taper Milling Cutter For Tungsten

CTomMaHa MOXe aga O0oTpexe

Pasmepu
D1 a° L1 D2 D L 3F

D1x0. 5°x4LxD1. 07xD4x50Lx3F
D1x1°x4LxD1. 14xD4x50Lx3F
D1x1. 5°x4LxD1. 21xD4x50Lx3F
D1x2°x4LxD1. 28xD4x50Lx3F
D1x3°x4LxD1. 42xD4x50Lx3F
D1x5°x4LxD1. 7xD4x50Lx3F

LieHa
USD

D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F
D1. 5x1°x5LxD1. 67xD4x50Lx3F
D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F
D1. 5x2°x5LxD1. 85xD4x50Lx3F
D1. 5x3°x5LxD2. 02xD4x50Lx3F
D1. 5x5°x5LxD2. 37xD4x50Lx3F

B

c }‘mﬂu La 55 HRQ\

Paamepu
D1 a° L1 D2 D L 3F

D4x0. 5°x15L.xD4. 26xD6x50L x3F
D4x1°x15LxD4. 52xD6x50Lx3F
D4x1. 5°x15LxD4. 79xD6x50Lx3F
D4x2°x15LxD5. 04xD6x50Lx3F
D4x3°x15LxD5. 57xD6x50Lx3F
D4x5°x15LxDé6. 62xD8x60Lx3F
D4x8°x14. 93LxD8xD8x60Lx3F
D4x10°x15LxD9. 29xD10x75Lx3F
D4x15°x14. 93LxD12xD12x75Lx3F

ocTpuertTDPmeasgosragipeata

c -

Pgaaqh'r Mo)«&)na oTpe)Ke CTOMaHa no[:bSSHRC

Cutter Can Cut Steel Below 55 HRC

D2x0. 5°x6LxD2. 1xD4x50Lx3F
D2x1°x6LxD2. 21xD4x50Lx3F
D2x1. 5°x6LxD2. 31xD4x50Lx3F
D2x2°x6LxD2. 41xD4x50Lx3F
D2x3°x6LxD2. 62xD4x50Lx3F
D2x5°x6LxD3. 05xD4x50Lx3F

D6x0. 5°x20LxD6. 35xD8x60L x3F
D6x1°x20LxD6. 7xD8x60Lx3F
D6x1. 5°x20LxD7. 05xD8x60Lx3F
D6x2°x20LxD7. 4xD8x60Lx3F
D6x3°x19LxD8xD8x60Lx3F
D6x5°x20LxD9. 5xD10x75Lx3F
D6x8°x20LxD11. 62xD12x75Lx3F
D6x10°x17LxD12xD12x75Lx3F

D3x0. 5°x10LxD3. 17xD4x50Lx3F
D3x1°x10LxD3. 35xD4x50Lx3F
D3x1. 5°x10LxD3. 52xD4x50Lx3F
D3x2°x10LxD3. 69xD4x50Lx3F
D3x3°x9. 5LxD4xD4x50Lx3F
D3x5°x10LxD4. 75xD6x50Lx3F
D3x10°x10LxD6. 53xD8x60Lx3F
D3x15°x13. 06LxD10xD10x75Lx3F

SOOI OO OO
o:A:o~o-o-o~o~o~o-o~o-o~o~o~o-o-o~o~o-o-o-o~o~o-o 0

N — —
O 00 —

D8x0. 5°x25L.xD8. 44xD10x75Lx3F
D8x1°x25LxD8. 87xD10x75Lx3F
D8x1. 5°x25LxD9. 31xD10x75Lx3F
D8x2°x25L.xD9. 74xD10x75Lx3F
D8x3°x25LxD10. 62xD12x75Lx3F
D8x5°x22. 8LxD12xD12x75Lx3F

Llena
USD
6.
6.
6.
6.
6.
10.
10.
10.
10.
10.
16.
16.
16.
16.
16.

24,

24,

24,

24,

24,

31.

31.

31.

31.

D#iﬂ* 2 'fD
k:%-‘=======::::::2
Llena %T I*
USD Pasmepu
11.9 D1R D L
11.9 D4x0. 5HxD1. 5xD6x50
119 DAx1HxD1. 5xD6x50
11.9 D4x1.5HxD1. 5xD6x50
11.9  D4x2HxD1. 5xD6x50
18.1 D4x3HxD1. 5xD6x50
18.1 D6x0. 5HxD2. 5xD8x50
28.9 Déx1HxD2. 5xD8x50
39.6 Déx1.5HxD2. 5xD8x50
18.1 D6x2HxD2. 5xD8x50
18.1 D6x3HxD2. 5xD8x50
18.1 D8x0. 5HxD3. 5xD8x60
18.1 D8x1HxD3. 5xD8x60
18.1 D8x1.5HxD3. 5xD8x60
28.9 D8x2HxD3. 5xD8x60
39.6 D8x3HxD3. 5xD8x60
39.6 D10x0. 5HxD4xD10x75
28.9  D10x1HxD4xD10x75
28.9 D10x1. 5HxD4xD10x75
28.9  D10x2HxD4xD10x75
28.9  D10x3HxD4xD10x75
39.6  D12x0. 5HxD5xD12x75
39.6 D12x1HxD5xD12x75
D12x1. 5HxD5xD12x75
D12x2HxD5xD12x75
D12x3HxD5xD12x75

COOVOOVOCOONOOOOONENNLNDRRNR

31.

B TpewHa
Moxe aa uspsassa ctomara nog 55HRC
Bondpawm

Can Cut Steel Below 55 HRC

R D
2\ .
D1 w;
%’j
Pasmepu
D1R D L

5xD4x50
75xD4x50
0xD4x50
0xD6x50
5xD6x50
0xD6x50
0xD8x50
D8R2. 5xD8x50
D8R3. 0xD8x50
D10R4. 0xD10x60
D12R5. 0xD12x60

D4RO.
D4RO.
D4R1.
D6R1.
D6R1.
D6R2.
D8R2

Cutter Can Cut Steel Below 60 HRC

3 a ack

Bondpawm

C T OMaH®Pp3easqopsea HCe BHaaB &0 47 1 HEACME (T M @ M T2 0B M
PesaubT Moxe Aa oTpexe cTomaHanoa 60HRCp e 3 a
C T oM aH aBe®RMifdcptea M

M MoxXe aa

C T O MNad il 58HRE(60CHI0°VINIZQ °)
Cc TOoMaH H

Chamfer Cutter Can Cut Steel

D1¢ % Below 58 HRC(60°/90°/120°)
‘ l—>| L1
0 D
Llena Paamepu Llena | L
USD D1 a® D2 L1 D L USD
.7 D4x90°xD1. 5x6xD4x50 Pasmepu MokpuTng
6.7 D6x90°xD2. 5x8xD6x50 | 10. 4 D L
6.7  D8x90°xD3x6xD8x50 16.9 D1xD4x50L 4.6 5.0
11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 (5.0
11.9 D12x90°xD5x12xD12x60 | 31.9 D3x50L 4.6 5.0
1.9 D4x50L 4.6 5.0
20.0 D5x50L 8.619.3
20.0 D6x50L 8.6 193
20.0 D8x60L 13.6(14.3
29.1 D10x75L 20.0(21.1
40.1 D12x75L 26.9|27.9
CneuwvwaneHn ppBeosnapp ame om G pgawm .
CTomanena o65bpHaTa kM3n0N3BaHAHPIMRCIDaHA TOUKa U hacka MOXe Aa Hal
Moxe fia nspssea ctomana nog 55HRC CtomaHa nog 58HRC

Cnupanoo6pa 3Beonn @ mdn pcaBuoomeed ® = e mcaGHoepH

Moxe aa mspsaszesa ctTomana noa 5HRC

Spiral-Edged Bondpam ctomaHa Reamer
Can Cut Steel Below 55 HRC

Tungsten Steel Drills

Tungsten Steel Bar

Specwa\ M\Hm Cutter for Tungsten
IR le Frame
Can Cut Steel Below 55 HRC

Bondo am c

T O M a H ¢

Use Of Fixed Point And Chamfer Can Cut
Steel Below 58 HRC

D1 ~“=‘=‘r-======= —— e
IWQN\—}D I\ ID 90° 3)\,—'=;D
>GE!E§€!5:::: — D P ”
D1 L mggAfD L e
D1 L1DLT = D1 L1 DL
D3x50xD3x100Lx4T | 7.6 P L PEBIE
DAX30XDAXI00LKAT | 5 1 TP usp ) USD Bﬁi%giﬁﬁi?go 110 e o epio o
D5x50xD5x100Lx6T | 11.1  D1.0-D1.5 1.9 D3x100L 2.4 D8x30xD8x60 12.1 [P MokpuTws
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.9 6- 0 D10x30xD10x75 20. 4 EXE
D8x50xD8x100Lx6T | 21. 1 D2.1-D2.5 2.6 D5x100L 6.1 7.4 D10x45xD10x100 26.1  D1xD4x50L 3.3]3.9
D10x50xD10x100Lx6T | 30.7  D2.6-D3.0 3.3 Déx100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40. 7 D’;‘. l—gi.g jg 3%1?8{3'_ 12?1.‘31 g;l D12x50xD12x100 34.7 ggxgixggli gg gg
. 6-D4. X ; 16x50xD16x100 57.9 xD4x . :
TR ar o e B e @ sl Bightor @ ¢ |fipipuas MO b0 pagptt | 37
%6ED5! ] fpau crlog /s P cupan:
StagntCages Turgsen Steeveamer D5, 1D5.5 | 7.9 AR TIMEWTERERRARS <« RN D A LSRR
Can Cut Steel Below 55 HRC D5. 6-Dé. 0 9 6 A P A §)&§< 6 0 6 2
TEE——=—u=u1D D6 11D65 11,1 Dounetesd 801 8 p 2 <o v 2 DRRgpant | G0 6%
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6x50L 6.0 6.4
‘ ‘ D7.1-D7.5 16.9 D6x100L 12.112.9
Pa3mepy D7. 6-D8. 0 18.9 D8§60L 11.1)12.1
DI L1DLT D8. 1-D8. 5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.919.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 ! D10x100L 27.1(28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D L D12x75L 25.4|27.1
D6x50xD6Xx100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 7.4 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 7.4 81 D14x100L 51.4]52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 | 46.0 D5x100L-DB 14.3/15.0  D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6196.9

Hap ueHaTa He BKIoYBa TOBapyW, TakCu U TaKCu.
LleHa Ha coenka B wiaTcku gonapu B Kutanm.

HﬂKaKBManpocwymonﬂ,MBHpaTeTeMmewn-eva@mzéY‘%Wdﬂthw

H



http://www.mzg.tw

BuWHT 3a ekcTpyanpaHe
Extrusion Screw Tap

BuUHT 3a eKcTpyaupaHe Pesba x Pitch x AbmxuHa MpeuusHoet opma White Pes6a x Pitch x AbnxuHa

. (/ O6paTthu 3b61) Mpeuunstoct dopma White
Extrusion Screw Tap

(/ O6paTHu 3b61)

M3. 0x0. 35 RH6 | B 71 17.9  Max1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 47 |54  M4x1.5 RH8 | B 26.1 289
RH5 | P 47 |54 M4x2.0 RH8 | B 26.1 |28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 [ 37.1
5 1 RH6 | P 4.7 | 5.4 Mi6x1.25 RH8 | B 34.0 | 37.1
RH6 | B 47 |54  Mé6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 47 |54 M6x2.0 RH8 | B 34.0 | 37.1
Pesba x Pitch x ObmxuHa . . RH7 B 4.7 5.4
(/Obpathnsugu)  lPeuwanocT opuaWhite - Tin RHS | B 4.7 | 5.4 UNF0-80 RH4 | P 5.7 | 6.1
RH9 | B 47 |54 RH4 | B 57 | 61
mg 2"0- 125 RHZ | B 1011129 y3. 0x0. 5-80L 8.9 UNC1—-64 RA4 | B 57 61
- 6x0.15 RH2 | B 9.3 1100 y3 0x0. 5-100L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
Mg- ;xg. ;75 RH3 | B 7.3 1100 3. 0x0. 5-150L 17.6 | 18.3  TUNC2-56 RH4 | P 57 161
mo- 2 Enj g 2- ; ; j M3. 0x0. SLospsmmass | RH6 | B 67 |74 RH4 | B 57 | 61
0. 91025 — 61 124 M3 5x0.6-100L 9.7 [10.4 RH5 | P 57 | 61
- 0x0. : : M3. 5x0. bLossermssn | RH6 | B 6.7 | 7.4 RH5 | B 57 | 61
Eng E g g 2- 8 M4. 0x0. 35 RH6 | B 71 7.9 UNG2-56-100L 10.0 | 10.7
N o 23100 moxs RH6 | B 71 | 7.9 UNF2-64 RH5 | B 6.7 1 7.9
- : M4. 0x0. 7 RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 57 161
1. 1x0. 25 Enj g ; ] ; g RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 | 7.9
- - RH6 | P 4.7 | 5.4 UNC4-40 RH5 | P 4.7 |54
1. 2x0.25 RH4 | P 53160 RH6 | B 4.7 | 5.4 RH5 | B 4.7 | 5.4
En“ B 53160 RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
S|P 53 160 RH7 | B 4.7 |54 RH6 | B 4.7 | 5.4
O RHS | B 5.3 160 RHS | P 4.7 | 5.4 RH7 | B 4.7 | 5.4
M1'4X0'3 Eﬂj E 7-; Z-g RHS | B 4.7 | 5.4 UNC4-40-100L 10.0 | 10.7
- 4x0. R 2-3 44 RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
: : M4. 0x0. 7-80L 8.9 | 9.7 RH5 | B 7.4 | 7.9
EHS g 5. g 2- 8 M4. 0x0. 7-100L 9.7 |10.4 TUNC5-40 RH5 | P 5.3 | 6.0
W1 4x0. 3-80L 5 oo 1 5% maoxo. 71500 17.6 | 18.3 RH5 | B 53 | 6.0
W-0.3 Sy 2T 100 WA, 0x0. Loemnos | RHO | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
- 5x0. RN 1l wmsos RH7 | B 74 183  UNF5-44 RH6 | B 7.4 | 7.9
- : M4. 5x0. 75 RH7 | B 57 | 69 TUNC6-32 RH5 | P 47 | 5.4
M1. 6x0. 2 RH4 | P 21179 N5, 0x0. 35 RH6 | B 7.4 183 RH5 | B 4.7 | 5.4
W1 6x0. 35 Enj E 7-; Z-g M5. 0x0. 5 RH6 | B 7.4 | 8.3 RH6 | P 4.7 | 5.4
- 6x0. iR 2-3 80 Wso0x0.8 RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
: : RH6 | B 53 | 61 RH7 | B 47 |54
EHS P 53160 RH7 | P 5.3 | 6.1 UNC6-32-100L 10.0 | 10.7
5| B 53 |60 RH7 | B 53 |61  UNF6-40 RH6 | P 6.7 | 7.4
M1. 6x0. 35-80L 9.7 110.4 RHS | B 5.3 | 6.1 RH6 | B 6.7 | 7.4
m ;Xg- gs Enj E 7. é Z- g M5. 0x0. 8-80L 9.3 [10.3 TUNC8=32 RH6 | P 50 |57
- 7x0. R 2-3 £9  W5.0x0.8-100L 10.0 | 11.0 RH6 | B 50 |57
: : M5. 0x0. 8-150L 18.3 | 19.3 RH7 | P 50 |57
Eng g 2 g 2- 8 M5. 0x0. BLospsrmnss | RH6 | B 7.1 | 8.1 RH7 | B 50 |57
i 802 B2 oSS0 We0x05 RH7 | B 74 183  UNG8-32-100L 10.0 | 10.7
- 8x0. : : M6. 0x0. 75 RH7 | B 7.4 |83  UNF8-36 RH7 | B 7.4 | 81
1. 8x0. 35 Enj g 57167 e 0x1.0 RH6 | P 53 | 6.1  UNS8-40 RHG6 | B 7.4 | 8.1
57 6.7 RH6 | B 53 | 6.1 TUNC10-24 RH6 | P 53 ] 6.0
M2. 0x0. 25 RH4 | P 71079 RH7 | P 5.3 | 6.1 RH7 | B 5.3 | 6.0
W2, 0x0. 4 Enj E Z; 7-3 RH7 | B 5.3 | 6.1 UNC10-24-100L 10.0 | 11.0
- 0x0. iR I o g : RH8 | B 53 | 6.1 UNG10-24Logpormmsr  RH7 | B 7.1 | 8.1
e 20120 me.oxt.o-goL 9.3 [10.3  UNF10-32 RH7 | P 67 | 7.4
a2 E 20129 me.oxt.0-100L 10.0 | 11.0 RH7 | B 67 | 7.4
R B S0 24 me.oxt 0500 18.3 | 19.3  UNF10-32-100L 10.0 | 11.0
o E 471 29 M6.0x1.OLogemuns | RHO | B 7.1 | 8.1 UNF10-32Losparmmes RH7 | B 7.1 | 8.1
Rio B SI2h Wox0s RH7 | B 9.3 [10.4 UNF12-24 RH7 | B 54 67
AN IS SI T wox0.75 RH7 | B 9.3 [10.4  UNF12-28 RH7 | B 67 | 7.6
: : M7.0x1.0 RH7 | B 9.3 [10.4  UNS12-32 RH7 | B 67 |76
12, 0x0. 4-80L RHB & S0y me0x5 RH7 | B 9.3 [10.4  UNCI/4-20 RH7 | P 54167
. AL SO, Me.0x0.75 RH7 | B 9.3 [10.4 RH7 | B 54 |67
200, : 4 Mg.ox1.0 RH7 | B 9.3 [10.4  UNC1/4-20-100L 10.0 | 11.0
mg gxg. 2"505"6'"" o Eni E 7. ; Z- g M8. Ox1. 25 RH7 | B 9.3 | 10.4  UNC1/4-20Losmnss RH7 | B 7.1 | 8.1
- 2x0. S 2-3 o0 RH9 | B 9.3 [10.4  UNF1/4-28 RH7 | P 67 | 7.6
TG d Rui 8 o300 me.ox1.25-100L 13.1 | 14.6 RH7 | B 67 |76
M2. 3x0. i I 20120 me.ox1.25-150L 18.9 | 203 UNF1/4-28Logmunss  RH7 | B 7.1 | 81
W2, 340, 4L N 27158 MBOX1. 25Losumna| RH7 | B 11.0 | 12.4  UNEF1/4-32 RH7 | B 67 |76
- 3x0. 4L osparm mon : : M9. 0x0. 5 RH7 | B 0.4 [12.1  _UNS1/4-36 RH7 | B 6.7 | 7.6
mg gxg. gg Eng g ; ] ; g M9. 0x0. 75 RH7 | B 10.4 |12.1  UNC5/16-18 RH7 | B 9.3 [10.4
. 3x0. 32 RHe B SL T oo RH7 | B 10.4 | 121 UNG5/16-18Lossemmss RH7 | B 1.1 12,6
- 9x0. : : M9. Ox1. 25 RH7 | B 10.4 | 12.1  UNC5/6-18-100L 13.6 | 15.0
Eng E j- ; g j M10x0. 5 RH7 | B 10.4 [12.1  UNF5/16-24 RH7 10.0 | 11.1
i I SO T m0x0.75 RH7 | B 10.4 | 12.1 TUNC3/8-16 RH7 1.0 | 13.1
: : M10x1. 0 RH7 | B 10.4 | 12.1  UNC3/8-16-100L 15.3 | 16.7
Eng g j- ; g j M10x1. 25 RH7 | B 10.4 |12.1  UNC3/8-16Logumose RH7 | B 13.1 | 14.7
e B DT moxts RH7 | B 10.4 | 12.1 _UNC3/8-24 RH7 | B 11.9 [ 13.9
: : RH9 | B 10.4 | 12.1  TUNC7/16-14 RH7 | B 4.6 | 16.4
EH; g j- ; g j M10x1. 5-100L 15.3 | 16.7 _UNF7/16-20 RH7 | B 15.7 117.9
12, 540, 45-80L a0 154 moxt 51500 20.3 | 21.7  UNG1/2-12 RH7 | B 17.1]19.7
290, : - M10x1. 5Lossemmsesn | RH7 | B 12.6 | 14.0  UNF1/2-20 RH7 | B 17.1 | 19.7
mg gxg. g?oo'- amdNE ‘;- Z 170-94 M11x1.0 RH7 | B 11.9 [13.9
fg SxQ Aol L Mi2x0.5 RH7 | B 1.9 |13.9  Wi/8-40 RH6 | P 53|60
- 6x0. : : M12x0. 75 RH7 | B 11.9 [ 13.9 RH6 | B 53|60
Eng E j- ; g j M12x1. 0 RH7 | B 11.9 [13.9  W5/32-32 RH7 | B 53|60
o R SO EY x5 RH7 | B 11.9 [13.9  W3/16-24 RH7 | B 53|60
- : M12x1.5 RH7 | B 1.9 113.9  W1/4-20 RH7 | B 54 |67
v I Sl m2x1Ts RH7 | B 1.9 1139 W5/16-18 RH7 | B 9.3 [10.4
- 6x0. : : RH8 | B 1.9 (13,9 w3/8-16 RH7 | B 11.9 | 13.9
M12x1. 75-100L 19.7 |21.7  W7/16-14 RH7 | B 14.6 | 16. 4
M12x1. 75-150L 22.9 |25.0  W1/2-12 RH7 | B 17.1 | 19.7
M12x1. 75Lospsmmess | RH7 | B 14.0 | 16.1

Hap ueHarta He BKNtoYBa TOBaApwu, TakCu n TakCcu.

- LleHa Ha coenka B waTckn gonapu B Kutamn. )
KaKBVIB'bl'lpOCI/I,MOl'IFI,MBHpaTETeMMeﬁﬂ:eva@mzéY%W({HZg'tw


http://www.mzg.tw

ApeX Tap Pes6a x Pitch x AbmxuHa
(/ O6paTHn 3b6U)

Pesba x Pitch x AbnxuHa

MpeunsHoct copma White MpeuusHoct Gopma White

(/ O6paTHM 3b61)

Apex Tap
= 22 —") M7.0x0. 5 P2 6.7 | 7.9 UNC1/2-12 P3 .1 ]15.3
bt 1 M7. 0x0. 75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
ST M7. 0x1. 0 P2 6.0 | 7.4
White M8. 0x0. 5 P2 6.7 [ 7.9 W1/8-40 P1 4.7 | 5.4
M8. 0x0. 75 P3 6.7 | 7.9  W5/32-32 P2 4.7 | 5.4
RET— @ s 0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
: e M8. 0x1. 25 P3 6.0 | 7.4 W7/32-24 P2 4.7 | 5.7
Tin P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
Pesa x Pitch x flbmxuna R - M8. 0x1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(/OBparhnswon)  [TPeuMeHocT GO = | m8.0x1.25-150L 18.3 W3/8-16 P2 7.9 1 9.6
M8. 0x1. 25 conue P4 433 W7/16-14 P3 11.9 [13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M1. 2x0. 25 P1 5.3 | 6.0
o o Jiy We.0xt0 P3 8.3 | 10
i 4X0- o = T M9.0x1.25 P3 7.9 | 9.6 PS1/8-28 canie P4 56. 4
M1-4X0- : o 24 oo Mox0.5 P2 8.3 | 10 PS1/4-19 cavee P4 91.7
2 Q%L o 25 oo Mox0.75 P3 8.3 | 10  PT1/8-28 cavie P4 62.9
p— o3| M10x1. 0 P3 8.3 | 10 PT1/4-19 cavee P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4
M10x1.5 P3 7.9 | 9.6
M1.5x0. 3 P2 5.7 6.7 P4 7.9 9.6 NPS1/8-27 carie P4 56. 4
M1. 6x0. 2 P2 6.7 | 74 m10x1. 5-100L 14.6 NPS1/4-18 cavise P4 91.7
M1. 6x0. 35 P2 53 160 Miox1.5-150L 19.7 NPT1/8-27 cavise P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 511 NPT1/4-18 cunae P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
1. 7x0. 35 P2 53 [ 60 “Mi2x05 5 o131
M1. 7x0. 35 casice P2 21.0 : ‘ '
M12x0. 75 P3 11.0 | 13.1
M1.8x0. 2 P2 6.7 | 7.4
M12x1. 0 P4 11.0 | 13.1
M1. 8x0. 35 P2 5.7 | 6.7
M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
o o ol e wmaas P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
o) Lol 2n m2x1.75-100L 18.9
: : M12x1. 75-150L 22. 4
M2. 0x0. 4-80L 8.3
M12X1. 75 Carbide P4 62.9
M2. 0x0. 4-100L 9.3 WidxT O 53 VBRI
M2. 0x0. 4 carvige P3 19.7 : ‘ :
M14x1. 25 P3 17.1 119.7
M2. 2x0. 25 P2 6.7 | 7.4
M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M14x2. 0 P2 15.7 |18.3
M2.3x0.4 P2 4.7 |54
M16x1. 0 P3 19.7 |22.4
M2. 5x0. 35 P2 6.7 | 7.4
e - ool b mex1.2s P3 19.7 | 22.4
e P3 27 |2, Mmoext5 P3 19.7 | 22.4
5 Loy wmexz.o P4 18.3 | 21
M2. 5x0. 45-80L 8.3 B
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 67 | 7.4 Uncase 5 533
M2. 6x0. 45 P2 4.7 | 5.4 pa 53 | e
M2. 6x0. 45-100L 9.3 e ‘
M3. 0x0. 35 P2 47 | 5.4 ﬂngg_gﬁ (il P2 Z? 74
M3.0x0.5 P2 4.0 | 47 “Nca-48 ) £ 3 T &
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4-40 P2 4.7 |54
+0.1 4.7 | 5.4 P3 47 | 54
M3. 0x0. 5-80L 8.3 pa 47 |54
M3. 0x0. 5-100L 9.3 UNGA-40-100L 06 |
M3. 0x0. 5-150L 17.1 UNFA—48 P2 67174
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3.5x0. 6-100L 9.3 UNC5-40-100L 0 |
M4. 0x0. 35 P2 67 | 74 UNce=32 5 77 57
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 |54
M4. 0x0. 7 P2 4.0 | 4.7 Pa 47 |54
o S0 |40 unce-32-100L 9.6
o 2o e, UNEe=do P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 | 54
M4. 0x0. 7-100L 9.3 pa 47 |54
M4. 0x0. 7-150L 17.1 UNGB=32-100L 0 |
M4. 0x0. 7 carvise P3 197 UnF8-36 P2 67 | 7.4
- 0.2 = S0 el Tuncto2a P2 4.7 | 5.7
> ik o 2o | 2o  UNcto-24-100L 9.6
o S0 | 2o UNF10-32 P2 4.7 | 5.7
o 2525 UNE10-32-100L 9.6
S i, L - ao |7 UNC12-24 P2 4.7 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 1 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 carvise P3 21.0 pa 47 | 57
mg- 8"8- ?5 ﬁ; j- ; g ; UNG1/4-20~100L 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
o) 2o | oo -UNEF1/4-36 P2 6.7 | 7.6
o 25 |25 UNCs/16-18 P3 6.0 | 7.4
T : S UNC5/6-18-100L 13.1
M6, 0xl. 0-100L 94 UNF5/16-24 P2 7.4 186
MG, 0X1-0_150L 7.9 UNC3/8-16 P3 7.9 9.6
6. 01 0 cove P3 224 IS ]
SERUlcatice : UNF3/8-24 P2 9.3 110.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7
Hap ueHaTta He BKJlOYBa TOBapU, TakCu U TakCu.
LleHa Ha caenka B waTcku gonapu B Kutan. _ -
HAKakKBWw BbbOpoOCMHU, MONA, M3 NpaTeTe nUMMewnn: eva@mié‘f%Wc{HZg'tw



http://www.mzg.tw

CI'II/IpaJ'IHa KaHaBKa

Spiral Grooved Tap

CnMpanHa KaHaBKa Pes6a x Pitch x bnxuHa
Spiral Grooved Tap (/ OBpaTH¥ 3b61)

Pe3sba x Pitch x AbmxuHa
(/ O6paTHK 3b61)

Pesba x Pitch x AbmxuHa

Mpeuusnoct White Tin

Mpeuusnoct White Tin Mpeuusnoct White Tin

(/ O6paTHu 3b61)

M4. 0x0. 7 +0.1] 4.7 [ 5.4 M2x0.5 P2 |11.0[13.1 UNF1/4-28 P2]6.7]7.6
mw-m_‘ P2 | 4 |47 MI2x0.75 P2 [11.0[13.1 P4l 67|76
4 S P3| 4 | 4.7 M2x1.0 P2 |11.0|13.1 UNF1/4-28-HT ooee | 1B 7.4
White P4 | 4 |47 P4 |11.0|13.1 UNF1/4-28Lospanuson | P2 | 7.4 | 8.3
B M4. 0x0. 7-100L 9.3 M12x1. OLosparnsssn | P2 | 12.6|14.7 UNEF1/4-32 P2|6.7]7.6
m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 [11.0]13.1 UNS1/4-36 P2 | 6.717.6
. M4. 0x0. 7-AL P2 | 4 | 4 P4 |11.0/13.1 UNC5/16-18 P2[60]7.4
Tin M4. 0x0. 7-HT cowes | 1B | 4.7 | 6.1 M12x1. 25Losparnmsen | P2 | 12.6|14.7 P3| 60|74
Peaa x Pitch x fomkra I 4. 0x0. TLospamumes | P2 | 4.7 | 5.7 M2x1.5 P2 [11.0|13.1 P4l 60|74
(/ O6pathmabbn) | PeuHOCT RIS TN T O P% 3.7 5.4 - Pzzt 112.2 12.1 UNGC5/16-18-100L 131
P. .715.4 x1. 5L osparin 3u6u P 12. .7 UNC5/16-18-AL P2 | 6.7
Al oL 2 PLIG3T 60 P4 | 4.7 |54 M2x1.75 +0.1]11.0|13.1 UNC5/16-18-HT ssomca| 1B | 7.9 | 8.3
B2lpe3 | 8.0 i e 72|57 &9 P2 110.4)12.6  UNGS/16-18Logmuns| P2 | 7.4 | 8.6
: : . 0x0. +0. 1] 4. - : -6 UNF5/16-24 P2|7.4(8.6
P4153160 P2 | 4 |47 P4 |10.4]12.6 P4l 74186
e 3]s P3| 4 |47 M2x1.75-100L 18.9 UNF5/16-24-HT ssoca| 1B 10.0
P3| 53|60 W5 0x0.8-100L P4 946 4.7 m%q;g-gm o 22.4 1B UNF5/16-24Lospanmss] P2 | 9.3 [10.4
: : - 0x0. 8- . x1. 75= -4 "UNC3/8-16 P2 7.919.6
P4 153160 M5 0x0.8-150L 17.9 M12x1. 75-HT osoeca | 1B | 11.9]12.6 P3| 79096
M1. 4x0. 2 P1 V671 7.4 M5.0x0. 8-AL P2 | 4 | 4 _M12x1.75Lospermmen | P2 |12.1|14.7 Pal79196
M1.4x0.3 E12 gg 2.8 M5. 0x0. 8-HTcoswea | 1B | 4.7 | 6.1 M14x1.0 P2 [17-1119-7 UNG3/8-16-100L 14.7
. . M5. 0x0. 8Losparmmzen | P2 | 4.7 | 5.7  M14x1.25 P2 [ 1711197 UNGC3/8-16-AL P2 18.3
P3 153160 M6.0x0.5 P2 [4.7]54 M4x1.5 P2 [17.1]19.7 .
UNC3/8-16-HT couws | 1B | 9.6 |10.4
P4 | 5.3 | 600 P3| 47|57 M4x2.0 P2 [15.7118.3 UNG3/8-16Lossarmoen | P2 | 9.6 |11.0
MT.5x0.3 PT 6774 PA | 4.7 | 5.7 "M16x1.0 P2 [19.7(22.9 yNFa/g-24 P2 103107
M1. 6x0. 2 PT 6774 M6.0x0. Slossammssn | P2 | 5.7 | 6.9 M16x1.25 P2 |19.7|22.9 palo 3107
M1. 6x0. 35 P1| 53|60 M6 0x0.75 P2 | 4.7 | 5.7 M6x1.5 P2 119.7122.9 UNF3/8-24-HT e | 1B | |12.1
P2|5.3|6.0 P3 | 4.7 | 5.7 M6x2.0 P2 |18.3|21.4 UNF3/8-24Logmmnm | P2 |11.0]12 6
P3 153160 P4 | 47157 UNS3/8-32 P219.310.7
P4 | 5.3 |60 M6.0x0. 75Lossamussd P2 | 5.7 | 6.9 _UNFO-80 PL1531 6 UNT/16-14 5o 11101139
M1. 6x0. 35-HT souea| 1B 6.9 M6.0x1.0 +0.1] 4.7 | 5.7 UNC1-64 P53 6 UNFTA6-20 P2 112 6114 7
M. 7x0. 2 P1167 |74 P2 | 4 | 5 UNF1-72 PI | 6.7 7.4 \nNet/2-12 P2 11311153
M1. 7x0. 35 P1|5.3]|6.0 P3 | 4 | 5 "UNC2-56 PIT53] 6 UNF1/2-20 P2 114 6116 2
P2|5.3|6.0 P4 | 4 | 5 P2 |5.3| 6 i i
P3| 5.3|6.0 M6 0x1.0-100L 9.6 P3 | 5.3 6
W1/8-40 P1|4.7|54
P4 | 5.3 |60 M6 0x1.0-150L 17.9 P4 | 53| 6 -
W1 8x0. 2 P [ 6774 M6 Ox1.0-AL P2 | 4 | 4 UNG2-56-100L 9.6 ey P2 |4 7q Q¥
M1.8x0. 35 PI|57]67 M60xl.0HTemma | 1B | 4.7 |61 UNC2-86-HTesmma | 1B | 6.1|6.9 ol o) P22 5 7
M2. 0x0. 25 P16 7] 7.4 M6 0x1.Olospermsnos | P2 | 4.7 | 5.7  UNF2-64 P1 | 6.7]7.4 a0 ohT7 |27
M2. 0x0. 4 +0.1/ 5.3 | 6.0 M7.0x0.5 P2 | 6.7 7.9 TUNC3-48 PI [ 53] 6 Werets P leolaa
P1|4.7|5.4 PA | 6.7 7.9 UNF3-56 P1 6.7 7.4 yo0om 079l 0s
p2 | 4.7 | 5.4 M7.0x0.75 P2 | 6.7 | 7.9 UNC4—40 PI 4754 oo, 02 |11 0113
P3|4.7|5.4 P4 16.7|7.9 P2 | 4.7 |54 Wi/2-12 P2 13' 1 15' 3
P4 | 4.7 | 5.4 M7.0x0. 75Losparm=en | P2 | 7.9 | 9.3 P3 | 4.7 |54 : ;
M2. 0x0. 4-100L 9.3 M7.0x1.0 P2 | 6 | 7.4 P4 | 4.7 | 5.4 .
M2. 0x0. 4-AL P1| 47|47 P4 | 6 | 7.4 UNCA-40-100L 9.6 S 5
M2. 0x0. 4-HT coonse | 1B | 5.4 | 6.7 _M7.0x1. Olospanumesn | P2 | 7.4 | 8.6  UNC4-40-AL P2 | 4.7 PS1 /41 8;”:“”“:”:” :‘:““a " 79
M2. 0x0. 4losparmmnan | P1 | 5.7 | 6.7 M8.0x0.5 P2 1 6.7 7.9 UNC4—40-HT coenera 1B | 5.4 6.7 PS1/4-19 R 9' 3
M2 2x0. 25 Pl 67174 PA | 6.7 | 7.9 _UNF4-48 P11 6.7 7.4 Loaemiasmen mmn :
M2. 2x0. 45 Pl |4 7|54 M8.OxX0.75 P2 | 6.7 7.9 "UNC5-40 P2 [ 4.7 5.4 o3BT Qe 5y (15
M2. 3x0. 4 P1 | 475 4 PA | 6.7 | 7.9 UNC5-40-100L 9.6 PS1/2—14AWHLMde 17' 1
M2. 3x0. Alosoermsen | P11 5.7 | 6.7 M8.0x0. 75Losparmnsan | P2 | 7.9 | 9.3 _UNF5-44 P2 1 6.7 7.4 PS1/9-14 NERILE R S 19- 7
M2. 5x0. 35 P16 7174 M8.0x1.0 P2 | 6.7 7.9 UNGC6-32 P2 | 4.7 |5.4 B G .
M2, 50, 45 0153160 P4 67179 P3 | 4.7 | 5.4 PS3/4-14 o crancam 25.0
Pi |4 7|54 M8 OXI. Olosperumen | P2 | 7.9 | 9.3 P4 | 4.7 |5 4 PSI= soravcor o 4.9
P2 | 4754 M8.Ox1.25 +0.1| 6.7 | 7.9 UNC6-32-100L 9.6 PS1-11.1-2 s 4.9
‘ ' P2 | 6 | 7.4 UNC6-32-AL P2 | 4.7
Ei j’ ; 2 i P3| 6 | 7.4 UNC6-32-HTosma | 1B | 5.4 | 6.7 PT1/16-28cmon ey 7.9
M2. 5X0. 45_1 OOL 9: 3 . P4 6 7.4 UN06_32L06paTHM 3b6n P2 5.7 6.7 E;} ;3_122 BpuTaHCKH CTaHzapT 170- 94
Mz 5X0 45_AL P1 4 7 4 7 MS 0X1 25‘100'. 12. 6 UNF6_40 P2 6 7 7. 4 — Bputakckn cTanpap -
0 M8. 0x1. 25-150L 18.3 UNC8-32 P2 | 4.7 | 5.4 PT3/8~19 somaicorcrausaor 15.7
mg 228 ithlsT °5““E:’ ;*13 g ‘71 2 ; NM8. Ox1. 25-AL p2 6 P3 | 4.7 | 5.4 PT1/2-14 spmmmocorcramaem 19.7
M2 6x0. 35 T i o 7 74 M8.OX1. 25-HTwsuma| 1B | 7.4 | 7.9 P4 | 4.7 | 5.4 PT3/4~14 spancem cronsann 27. 6
M2, 6x0. 45 Pl 47|54 MBOX. 25Lospsmuned P2 | 7.4 |8 6 UNCB-32-100L 9.6 23 R - 46.0
o P2 | 47|54 M9.0x0.5 P2 | 791 9.6 UNG8B-32-AL P2 | 4.7 NPT1/8=27 oo oo
P3| 47|54 M9.0x0.75 P2 | 7.9 9.6 UNC8—32-HT ossuera 1B 154167 NPT /4—18AM:MW,5; " 7.9
pi | 4yl M9.0x1.0 P2 | 7.9 9.6 UNCB-32Losmuncs | P2 | 5.7 | 6.7 NbTa/gqge 10. 4
M2. 6x0. 45-100L 05|77 M9.0x1.OLogunuas | P2 | 10 [11.4 UNFB=36 P2 | 6.7 7.4 wori/a-1a. ik 15.7
M2, 6x0. 45L P11 57|67 M.0x1.25 P2 | 7.9 1 9.6 "UNC10-24 P2 [ 47 [ 57 \pT1/a—idnm " 19.7
W00 35 1 A7 54 M0x0.5 P2 8.3 10 P3 | 4.7 | 5.7 WpT1o11. 1og mmien " [27.6
e 0o | 4o |2 M0x0.75 P2 [ 8.3| 10 P4 | 4.7 |5.7 : G 46.0
p3laslaa P4 | 8.3 | 10  UNC10-24-100L 9.6
: ~7 M10x0. 75Lossanmson | P2 | 10 [11.4  UNC10-24-AL P2 | 4.7
PATAT IS4 yoxl. 0 P2 | 8.3 | 10  UNG10-24-HTwomwwa | 1B | 5.4 | 6.7
mg g"g- g5L°ﬁ"a‘““‘=ﬁ” +821 i; 2'471 P4 | 83| 10  UNGI0-24Lospermssn | P2 | 5.7 | 6.9
alRth o | S 125 MOX1. Oloenunes | P2 | 10 |11.4  UNF10-32 P2 | 4.7 |5.7
oy | a |y Miox1.25 P2 | 8.3| 10 P3 | 4.7 |5.7
e I P4 | 8.3 | 10 P4 | 4.7 |5.7
7 M10x1. 25Lospenmissn | P2 | 10 |11.4  UNF10-32-100L 9.6
" 100L PELA 14T moxt.s 0.1 83| 10 UNF10-32-HT oo | 1B 7.4
3. 0x0. 5-100 - P2 | 7.9 | 9.6 _UNF10-32Lospemumes | P2 | 7.4 | 8.3
M3. 0x0. 5-150L 17.1 =
P3 | 7.9 | 9.6 UNC12-24 P2 | 4.7 5.7
M3. 0x0. 5-AL P2\ 4 140 P4 | 7.9 9.6 UNF12-28 P2 | 67|76
M3. 0x0. 5=HT esevee | 1B | 4.7 1 6.1 My0x1. 5-100L 14.6 UNEF12-32 P2 | 6.7]7.6
M3. 0x0. SLogpanumon | P2 | 4.7 | 5.4 Myox1, 5-150L 19.7 UNS12-36 P2 | 6.7]7.6
M3. 5x0. 6-100L 9.3 M10x1. 5-AL P2 7.9 UNC1/4-20 P2 | 4.7 (5.7
M4. 0x0. 35 P21 47154 M10x1.5-HToomea | 1B | 9.3 | 10 P3 | 4.7 | 5.7
M4.0x0.5 P21 A7 154 M10x1. SLospemmmes | P2 | 9.6 | 11 UNG1/4-20 P4 | 4.7 |5.7
P3| 47154 "M1x0.5 P2 | 11 |13.1 UNC1/4-20-100L 9.6
PA 147154 M1x0.75 P2 | 11 |13.1 UNC1/4-20-AL P2 | 4.7
M4. 0x0. SLosparmseon | P2 | 5.7 | 6.7 M11x1.0 P2 | 11 |13.1 UNC1/4-20-HT cssea| 1B | 5.4 | 6.7
M11x1.5 P2 [10.4|12.6 UNG1/4-20Lospamuss{ P2 | 5.7 | 6.9

Hap ueHaTta He BKJl0OUBa TOBapU, TakCu U TakCu.
- Llena Ha caenka B waTcku gonapu B Kutamn. _
— HAKaKBMW BbBOpoOoCMHKU, MOnNn A, N3 nNparTeTe Mmeﬁn:eva@mié‘f%WdHZg'tw


http://www.mzg.tw

PbyeH KpaH / UMPKYNSAPHO yKpenBaHe

Hand Tap/Circular Die

HT lMpaBo Ten Peaba x Pitch x fibmxiuHa AR-D perynupyema unpkynsipsa matpuua  EELERE RS UL ERI NN

MpeunsHoct  White White

HT Straight Wire Tap (V' et GEen) AR-D Adjustable Circular Die (/O6pathusbu)  Diameter
UNFO-80 P1 4.3 UNFO-80 20 | 11.9
e UNC1-64 P1 4.3 UNC1-64 20 | 104
UNF1-72 P1 5.0 UNF1-72 20 | 1.9
UNC2-56 P1 4.3 UNC2-56 20 | 104
UNF2-64 P1 5.0 UNC3-48 20 | 10.4
UNC3-48 P1 4.3 UNF3-56 20 | 1.9
UNF3-56 P1 5.0 UNC4-40 20 | 104
UNC4-40 P2 | 40 UNF4-48 20 | 11.9
T ... . T i |
M1. 0x0. 25 P1 4.3 (Need0 2ol rY wmoxo.zs 20 | 331 (NeeTed 200
M1. 2x0. 25 P1 23 . S WL2x0.25 20 | 131 UNFose 2 110
M1. 6x0. 35 P1 4.3 by | a0 Wi4x0.3 20 | 131 Notooa %0 | 104
M1. 7x0. 35 P1 43 nFe-d0 b | ao W5x0.3 20 | 131 NF10-39 o | i1
M1. 8x0. 35 P1 4.3 .0 gy ST W 6x0.35 20 | 131 UNelaa 2 | 5%
M2, 0x0. 25 Pl 4.7 0| ae WMI7x0.35 20 | 131 INE1o—28 2 | 11s
M2. 0x0. 4 P2 | 40  |nra-3s 5 |4 M8x0.35 20 | 13 [EREe 52| 10,4
Pl 40 uncto-24 P2 | 4.0 M2.0x0.25 2001 1LY UNF1/4-28 20 | 11.9
40 UNF10-32 P2 | 47 ¥2.0x0.4 2001 194 uNs1/4-32 20 | 11.9
W2. 2x0. 25 Pl 27 AR b4 0 M2.0x0. dlosemunsn | 20 | 1.9 NEF174-86 % | 119
M2. 2x0. 45 P2 | 40  NF1oo8 b | xS M22x0.25 20 | 11.9  Nos/16t8 e | 1e
2. 3x0.25 ohol 47 Tunct/a-20 P2 | 40 M2.2x0.45 201104 uNF5/16-24 25 | 13.1
2. 3x0.4 P2 | 40 uNF1/4-28 P2 | 47 M23x0.4 20 104 yNg3/g-16 25 | 11.9
W2, 5x0. 35 Pl 47 g o | xS M25x0.35 20 | 119 NF3/a24 & 3
2. 5x0. 45 P2l 49 Tuncs/16-18 P3| 5.3 M2.5:0.45 2001 104 uNe7/16-14 25 | 11.9
P3| 40  NFar16-24 3 | &1 M25x0 45losmnsl 20 | 11.9 ETicTo0 | s
P4 40 UNEF5/16-32 P3| 67 M2.0x0.35 2001 119 uNet/2-12 25 | 11.9
W2. 6x0. 35 P2 | 4.7 (uNes 6= ST M2 6x0. 45 20 | 104 NF1/a—20 e I
M2. 6x0. 45 P2 | 40 [NFaraoa by | 51 M30x0.35 20 | 11.9 :
P9l 49 UNEFs/s-32 P3| 81 M3.0x0.5 2001 194 wi/g-40 20 | 10.4
PA_| 40 NS 3T 53 M3.0x0. Slosanunss| 20 | 11.9 et to o | io0a
AGL UL S P2 4T UNF7/16-20 P3| 10.4 M4.0x0.35 200|119 w1624 20 | 10.4
M3. 0x0. 5 P2 | 33 Qe 5T o3 M4.0x0.5 20 | 1.9 w8 0 | 10
Pl 32 uNF1/2-20 P3 | 10.4 M4.0x0.7 2001 192 ws/16-18 25 | 11.9
P4 | 3.3 " MA.OXO. TLoammnsn | 20 | 11.9 w32 22 | 45
3. 5+0. 35 P2 | 47 Tupe Tapping W4. 5x0. 5 20 | 1.9 wiiea o s O
15x0. 6 P2 | 33 e bbing o5 M45x0.75 20 | 104 oo 20| 119
T B )7 50 DO 6.7 [EUEES 20 | {b7 '
o | mvARTT | G sEes B
M4. 0x0. 5 P2 | 47 ROl Ao o' M5.0x0. BLogparmmen | 20 | 11.9
M4. 0x0. 7 R I 78— 79 6005 20119
T B Y 7 I PR 13.1 6. OxD. 15 200104
M4. 0x0. 75 P2 | 4.7 | P53/8719 coacn coer 13T M6 0x1 Ologmmms| 20 | 119
M. 5x0. 5 P2 | 4.7  PS1/2-1Anummcn cancer T W7ox0.5 25 | 13.1
M4. 5x0. 75 P2 3.6 PS1/271 4 o W7, 0x0. 75 25 | 13.1
M5. 0x0. 35 P2 | 47 PS4 4cmmcn o 224 W7.0x1.0 25 | 11.9
M5. 0x0. 5 P2 | 47 Eg}:” Py 5 WB.0x0.5 25 | 13.1
M5. 0x0. 8 P2 | 3.6 172 S ' M8 0x0.75 25 | 131
2 e oo E
Wé. 0x0. 35 P2 | 5.3 | PI1/8-28come &7 M8 0x1. 25Losmmns 25 | 13.1
M6. 0x0. 5 P2 | 47  PI1/A7195mcncoms 56 M9 ox0 5 25 | 131
M6. 0x0. 75 P2 | 47 Eﬁ;gjz 155 Welox0 75 25 | 13.1
Mé. Ox1. 0 P2 | 3.6  EIAT Ammen Sy MI0x1.0 25 | 13.1
P3| 36 EI3 2o M9.0x1.25 25 | 11.9
P4 | 3.6 7 M10x0.5 25 | 13.1
W7 0. 2 Bl O NPTI/B2T 6.7  MOx0-15 2 n
M7 0x1. 0 P2 53  NPT1/4-18 spmmcuconon 8.6 Mioxl. 25 25 131
M8. 0x0. 35 P2 | 7.4 NPT3/B-18ummmcusan 140 Mot 5 25 | 11.9
M8. 0x0. 5 P2 | 61 NPT/ 2 duecnien 183 M10x1. Blosssmmse | 25 | 131
M8. 0x0. 75 P2 | 61 mmf e 20 HixT0 25 | 1.9
M8. Ox1. 0 P2 | 6.1 172 s 7 MI2x0.5 25 | 13.1
M8. Ox1. 25 P2 | 5.3 M12x0. 75 25 | 131
P3| 5.3 M12x1. 0 25 | 13.1
W9. 0x0. 5 P3| 8.1 M12x1. 25 25 | 13.1
M9. 0x0. 75 P3 | 8.1 M12x1. 5 2% | 13.1
M9. Ox1. 0 P3 | 81 M12x1.75 25 | 11.9
M9. Ox1. 25 P3| 6.9 M12x1. 75Lospanuncs | 25 | 131
M10x0. 5 P3| 8.1 M14x1. 0 38 | 25.0
M10x0. 75 P3 | 81 M14x1. 25 38 | 25.0
M10x1. 0 P3 | 8.1 M14x1. 5 38 | 25.0
M10x1. 25 P3 | 8.1 M14x2. 0 38 | 23.6
M10x1. 5 P3| 69 M16x1. 0 38 | 25.0
P4 | 6.9 M16x1. 25 38 | 25.0
WiTx0.5 P3| 10.4 M16x1.5 38 | 25.0
M11x0. 75 P3 | 10.4 M16x2. 0 38 | 23.6
M11x1. 0 P3 | 10.4
M11x1.5 P3| 9.3
W12x0. 5 P31 10.4
M12x0. 75 P3| 10.4
M12x1. 0 P3| 10.4
M12x1. 25 P3 | 10.4
M12x1.5 P3| 10.4
M12x1. 75 P3| 9.3
P4 | 9.3
W14x2.0 P3| 10.4
M16x2. 0 P3| 13.1

Hap ueHaTta He BKNto4YBa TOBapwW, TAKCU U TaKCK.

LleHa Ha caenka B waTtcku gonapu B Kutamn. )
HﬂKaKBMB'bﬂpOCM,MOJ'IFI,V|3I'IpaTeTeMMeﬁﬂ:eva@mZ/é%Wd'HZg'tw



http://www.mzg.tw

Turning Inserts
Turning Inserts

CHMMKM Ha NpoayKTa cneuundukauns R CHUMKM Ha npoaykTa cneundukaums
CCGT060202 CBN1 0.2 6.9
CCGT060204 GBN1 0.4 | 69 6 CNMG120402 CBN1 0.2 | 6.9
CCGT060208 CBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGT09T302 CBN1 0.2 6.9 h CNMG120408 CBN1 0.8 6.9
CCGTO9T304 CBN1 0.4 6.9 T ——
CCGT09T308 GBN1 0.8 | 6.9 OBpataraatis namatenuanuTe
CCGT120402 CBN1 0.2 6.9
[als] aﬁg¥;ya:emsgl<~?;:eHmwaﬂwTe CCGT120404 CBN1 0.4 6.9 §
F % CCGT120408 CBN1 0.8 6.9 Q CNMG120402 PCD1 0.2 6.9
CNMG120404 PCD1 0.4 6.9
CCGT060202 PCD1 0.2 | 6.9 h CNMG120408 PCD1 0.8 | 6.9
“ | CCGT060204 PCD1 0.4 | 6.9 —_—
i CCGT09T302 PCD1 0.2 6.9 . i
- CCGT09T304 PCDT 0.4 | 69 FnEh Maehing
CCGTO9T308 PCD1 0.8 6.9 [ ;
CCGT120402 PCD1 0.2 6.9 “‘ CNMG120404-TM ZC25 0.4 2.6
en n O CCGT120404 PCD1 0.4 | 69 = ooy CNMG120408-TM 2G25 | 0.8 | 2.6
Finish Mathining CCGT120408 PCD1 0.8 6.9 'ffi-‘ rong CNMG120412-TM ZG25 1.2 2.6
CCGT060202_AL ZK01 0.2 1.1 O6paboTka Ha cTOMaHa CbC cpefHa CTengH
CCGT060204-AL ZKO1 0.4 1.1
CCGT060208-AL ZKO1 0.8 1.1
CCGTO09T302-AL ZKO1 0.2 1.4 CNMG120408R-X ZC25 0.8 2.6
CCGT09T304-AL ZKO1 0.4 1.4 CNMG120408L-X ZC25 0.8 2.6
CCGTO9T308-AL ZKO1 0.8 1.4
CCGT120402-AL ZKO1 0.2 2.3 R-X
Men v anymnrmesa cpena CCGT120404-AL ZKO1 0.4 2.3 Tpy6a obpaborka a cromana
Finish Maghiging CCGT120408-AL ZKO1 0.8 2.3
CNMG120404-TM ZC35 0.4 2.6
CCMT060204 ZM30 0.4 1.6 CNMG120408-TM ZC35 0.8 2.6
CCMT060208 ZM30 0.8 1.6
CCMT09T304 ZM30 0.4 1.7 edium Finish
CCMT09T308 ZM30 0.8 1.7 O6pa6oTraHa TEEpSa cTaMaHa
CCMT120404 ZM30 0.4 2.4 K;J/::_-"
CCMT120408 ZM30 0.8 2.4 \ ‘ 78
,# - (j CNMG120404-HA ZKO1 0.4 2.0
Lasmas CNMG120408-HA ZKO1 | 0.8 | 2.0
Meg ha.ﬂyMMHME’BéCDE,ﬂa
Finish Machining
CCMT060204-FG ZN60 0.4 1.7
CCMT09T304-FG ZN60 0.4 1.9
CCMTO9T308-FG ZN60 0.8 1.9 CNMA120404 ZK50 0.4 2.6
CNMA120408 ZK50 0.8 2.6
Cermet COE4HO M MHD CTOMAHE
JacTWTe MMaT A00Pa 336 bPWEHOCT
CpepHo rpy6d MExaHlYHa 08padiorka Ha yyryH
CCMT060202-HQ ZN60 0.2 1.7
CCMT060204-HQ ZN60 | 0.4 | 1.7 8“”8]%8283 %ﬁgg 3¢ 20
CCMT09T302-HQ ZN60 0.2 1.9 ’ ’
CCMT09T304-HQ ZN60 0.4 1.9
Cermet cpeaHD v uH CTOMAHA MexaHu4Ha o6paboTka Ha YyryH
HacTUTE UMaT f0fGpa 386 BRLWEH 0T
J i CNMG120408-HS ZM30 | 0.8 | 2.6
{ - —4 CCMT060204-MT ZN60 0.4 1.7 P
_ COMTO9T304-MT ZN60 0.8 1.9 paboT«a 0T HEPBLHLALMA CTOMAHA
CCMTQO9T308-MT ZN60 0.8 1.9
UacTire wwar ROBpa SaSRPUIOHOCT CNMG120404-MA ZM30 | 0.4 | 2.6
CNMG120408-MA ZM30 0.8 2.6
* g : CCGT060202EL-U ZN90 | 0.2 4.0
b CCGT060204EL:U ZN90 0.4 4.0 CNMG120404-MS ZM30 0.4 26
ﬁ_— CCGTO9T302EL-U ZN90 0.2 4.0 5
CCGTO9T304EL-U ZN90 | 0.4 | 4.0 CONMG120408-MS ZM30 | 0.8 | 2.6
MaTepuan oT kepamuka
YacTtute umat fo6pa 3aBbpLIEHOCT
CNMG120404-HQ ZN60 0.4 2.3
] CNMG120408-HQ ZN60 0.8 2.3
CCGT060202ER-U ZN9O | 0.2 | 4.0 Cermetcheac v o ramana
CCGT060204ER-U ZN9O | 0.4 | 4.0 R
o W CCGTO9T302ER-U ZN90 0.2 4.0 j \'
| — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 Q CNMG120404-TS ZN60 0.4 | 2.3
L‘ — CNMG120408-TS ZN60 0.8 2.3
MaTepuan oT kepamuka
YacTtute umat fo6pa 3aBbpLIEHOCT Cermet CPEAHU U (IMHO CTOMaHa
Yactute umat gobpa 3aBbpLIeHOCT

Hap ueHarta He BKkNtoYBa TOBapwu, TakCu n Takcu.

LleHa Ha caenka B waTtcku gonapu B Kutan. )
KaKBMB'bI'IpOCI/I,MOJ'IFI,M3I'IpaTETeMMeﬂﬂ:eva@mzéY%WdHZg'tw


http://www.mzg.tw

Turning Inserts

Turning Inserts

CHUMKM Ha npoAayKTa cneyndukauus R UsD CHUMKM Ha npoaykTa cneyndurkaumsa
DCGT070202 CBN1 0.2 6.9 =
) DCGT070204 CBN1 0.4 6.9 e
\ DCGT117301 GBNT 0.1 6.9 DNMA150408 GBN1 0.8 | 6.9
< . DCGT11T302 CBN1 0.2 6.9 '
DCGT11T304 CBN1 0.4 6.9 HyTyH M 3aKaNEHH
R DCGT1 1T308 CBN1 0 8 6 9 OBbpaboTEaHE HE MATEDHANKMTE
OBpaloTBaHE Ha MaTEpHANKTE DCGW11T308 CBN1 0.8 6.9 -
5N DCGT070201 PCD1 0.1 6.9
. DCGT070202 PCD1 0.2 6.9 DNMA150404 PCD1 0.4 6.9
DCGT070204 PCD1 0.4 6.9 DNMA150408 PCD1 0.8 6.9
DCGT070208 PCD1 0.8 6.9 )
DCGT11T301 PCD1 0.1 6.9 ?ﬁi?ﬁﬁﬂﬁﬁz
DCGT11T302 PCD1 0.2 6.9
vea ety DCGT11T304 PCD1 0.4 | 6.9 S
Finteh Machmng DCGT11T308 PCD1 0.8 | 6.9 a\,./f DNMG150404-HA ZKO1 | 0.4 | 4.3
-3 ,;,{;J; DNMG150408-HA ZKO1 0.8 4.3
. o~ 4 DNMG150604-HA ZKO1 0.4 4.9
DCGT070202-AL ZKO1 0.2 1.4 o '
_ ¥ DNMG150608-HA ZK01 0.8 4.9
) i3 AR
DCGT11T304-AL ZKOT | 0.4 | 1.6 T
DCGT11T308-AL ZKO1 | 0.8 | 1.6

MER M 3NYMHHUEES CPEAa
Finish Machining

DNMG110404-FG ZN60 0.4 |26

DCMT070204-MV ZM30 0.4 1.6
DCMT11T304-MV ZM30 0 .7

Cermet cpefjHo 1 chuHO cTOMaHa
Yactute umat gobpa 3asbplieHocT

OfipafoTKa 0T He P4 AEMa CTOMAHA

DNMG150404-HQ ZN60 0.4
DNMG150408-HQ ZN60 0.8

b
oo

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

Cermet cpeHD W (IMHO CTOMakHa
YacTiTe MMAT L00Pa 336 BOLWEHOCT

OfpafoTka 0T HepbH g a8Ma CTOMAHA

DCMT070204-FG ZN6O DNMG150404L-VF ZN60 | 0.4 | 2.6

0.4 7
DCMT11T302-FA ZN60 0.2 1.9
DCMT11T304-FG ZN60 0.4 9

Cermet MediumAnd Rough Steel
YacTuTe WMET A06PA 386 BAWEHOCT

Cermet cpeaHo 1 puHO cToMaHa
YacTtute umat fo6pa 3aBbpLIEHOCT

oy
v il
@’ / DCMT070202-HQ ZN60

=Ty

DNMG150404R-VF ZN60 | 0.4 | 2.6

/ 0.2 1.7
A - LA 25 | HacTHTe WHaT R05pa 3363 PLIBHOCT
DCMT11T304-HQ ZN60 0.4 1.9
Cermet cpedHo v iMHO cTOMaHA
YacTuTe MMaT A0fpa 328 bPLWEHODT
‘ . DCGT11T302FL-U ZN90 | 0.2 4.0
— DCGT11T304FL-U ZN90 | 0.4 4.0
MaTepuan 0T KEpaMKEa
YacTuTe MMaT 0fpa 386 BbpWeHocT
DCGT11T302FR-U ZN90 | 0.2 4.0
DCGT11T304FR-U ZN90 | 0.4 4.0

METEpUaN 0T KEpamMuKa
YacTUTE MMaT L0 pa 386 BOLWEHDCT

Hap ueHaTta He BKNo4YBa TOBapuW, TakCu 1 Takcu.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HﬂKaKBManpocmymonﬂ,|/|3npaTeTeMmeﬂn:eva@mlzléw%WcrHZg'tw



http://www.mzg.tw

CHUMKM Ha npoaykTa

Pt

cneumndukauns

Turning Inserts
Turning Inserts

CHUMKM Ha npoaykTa

YyryH u 3akaneHnu
O6paboTBaHe Ha MaTepuanute

cneundukaumns

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

Py

Mea v anymuHuin
Finish Machining

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOR/LLOLOLCROL (COTOO0OOCOPROCC
ANBAANANORANARANN|[OANANANBNOANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

A

Cermet cpefHo v chMHO cToMaHa
Yactute umat go6pa 3aBbplieHOCT

TBGT060102L ZN90
TBGT060104L ZN90
TCGT110202L ZN90
TCGT110204L ZN90
TPGH080202L ZN90
TPGHO080204L ZN90
TPGH090202L ZN90
TPGH090204L ZN90
TPGH110302L ZN90
TPGH110304L ZN90

COoocooo0o00o0oo

ANDBNAEANBANAN

W WWwWwwwwwww

ABRDMAADADDDADN

Cermet cpefHo 1 chHO cTOMaHa
Yactute umat gobpa 3aBbpLIeHOCT

TBGT060102L-W
TBGT060104L-W
TPGT080202L-W
TPGT080204L-W
TPGT090202L-W
TPGT090204L-W
TPGT110302L-W
TPGT110304L-W

ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90

cCoROoLOoLO
ANANANAN

W W www www
N N AN NN N

Cermet cpefHo v hHO cTOMaHa
Yactute umat gobpa 3aBbplieHoCT

TCMT090202-HQ
TCMT090204-HQ
TCMT110202-HQ
TCMT110204-HQ
TCMT110208-HQ
TCMT16T304-HQ

TPMT110304-HQ
TPMT110308-HQ

ZN60
ZN60
ZN60
ZN60
ZN60
ZN60

ZN60
ZN60

coocooo

o

(o> AOBANAN

N
ANNNNN

N~

Mea v anymuHuesa cpeaa
Finish Machining

TCGT090202-AL
TCGT090204-AL
TCGT110202-AL
TCGT110204-AL
TCGT110302-AL
TCGT110304-AL
TCGT16T302-AL
TCGT16T304-AL
TCGT16T308-AL

ZKO1
ZK01
ZKO01
ZKO01
ZK01
ZKO01
ZKO1
ZK01
ZKO01

Ceooooooee
CORANBNENBAN

N~N~NoohRADMPAN

SNMG120404 CBN1 0.4 6.9
SNMG120408 CBN1 0.8 6.9
YyFyH 1 3akaRskn
O6paboTBaHe Ha maTepuanuTe
"
SNMG120404 PCD1 0.4 6.9
- SNMG120408 PCD1 0.8 6.9
Mea v anymiikiiii
Finish Machining
! J SNMG120408L-S ZC25 0.8 2.6
},
py6a o6paboTka Ha cTOMaHa
n SNMG120408L—-S ZC35 0.8 2.6
Mpy6a o6paboTka Ha TBbpAa cTOMaHa
SNMG120408R-S ZC25 0.8 2.6
py6a o6paboTka Ha cToMaHa
n SNMG120408R-S ZC35 0.8 2.6
py6a o6paboTka Ha TBbpAa CTOMaHa
SNMG120408-TM ZC25 0.8 2.6
EH
SNMG120404-HA ZKO1 0.4 2.0
SNMG120408-HA ZK01 0.8 2.0
Mep v anymuHuesa cpeaa
Finish Machining
1 SNMG120408-MA ZM30 0.8 2.6
O6paboTka O:FVH;[;;V»;A;eMa cTomaHa
SNMG120404-MS ZM30 0.4 2.6
SNMG120404-HQ ZN60 0.4 2.3
SNMG120404-HQ ZN60 0.8 2.3
SCMTO9T304-MT ZN60 0.4 1.9
Cermet cpefHo v chnHO cToMaHa
Yactute umat gobpa 3aBbplIeHOCT
SCGTO9T304-AL ZKO1 0.4 1.4
SCGTO9T308-AL ZKO1 0.8 1.4
f SCGT120404-AL ZKO1 0.4 1.9
- ; SCGT120408-AL ZKO1 0.8 1.9

Mea v anymnnuesa cpeaa
Finish Machining

O6padoTia OT HEpbKAGEMa CTOMaHa

TCMT110204 ZM30
TCMT110208 ZM30
TCMT16T304 ZM30
TCMT16T308 ZM30

e ore
[ NJ NN

NN ==

wwo o

Hap ueHarta He BKNtoYBa TOBapwu, TAKCU N TaKCH.

LleHa Ha caenka B waTtcku gonapu B Kutan.

BbI'IpOCVI,MOl'IFI,I/I3I'IpaTETeMMeﬁﬂ:eVa@mgéY%W(ﬁng'tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

CHUMKM Ha npoaykTa cneumpmauvm CHUMKM Ha npoaykTa cneu,md)mau,ml
® / : \ TNMG160404L-C ZN60 | 0.4 .9
TNMA160402 BN 0.2 | 6.9 - () TNMG160408L-C ZN60 | 0.8 9
TNMA160404 CBN1 0.4 6.9 ———— —
TNMA160408 CBN1 0.8 6.9 TNMG160404R-C ZN60 0.4 .9
HyryH 1 3aKanesu - - TNMG160408R-C ZN60 0.8 .9
Cermet cpeHo 1 huHo cTomaHa
ObnaBoreare Ha matepuanite Yactute umat gobpa 3aBbpLieHOCT
- TNMG160404L-S ZN6O | 0.4 .9
TNMA160402 PCD1 0.2 6.9 TNMG160408L-S ZN60 0.8 .9
TNMA160404 PCD1 0.4 6.9
TNMA160408 PCD1 0.8 6.9 TNMG160404R-S ZN60 0.4 .9
B S o RS -S| TNMG160408R-S ZN6O | 0.8 .9
Finish Machining Yactute uMaT 206pa 3ABLOWEHOCT
A i} 7 -

s \\_; TNMG160404-CQ ZC25 0.4 2.3 & Yy TNMG160404L-VF ZN60 0.4 .9
j'_gf._\ ’ VA TNMG160408-CQ ZC25 0.8 2.3 R B TNMG160408L-VF ZN60 0.8 .9
I S 1Nwa160404-HQ 2625 | 0.4 | 2.3 ﬁ h TNMGT60404R-VF ZN6O | 0.4 | 1.9

cQ HQ TNMG160408-HQ ZC25 0.8 2.3 R-VF L-VF TNMG160408R-VF ZN60 0.8 .9
Cermet cpegHo 1 huHO cTOMaHa
OGpafoTka Ha CTeMaHa Cbe cpegHa cTeneH YacTuTe MMAaT 20604a 3aBbDWEHOCT
N TNMG160404L-S ZC25 0.4 2.3 TNMG160404L-FS ZN60 0.4 .9
/ Q_ TNMG160408L-S ZC25 0.8 2.3 TNMG160408L-FS ZN60 0.8 .9
IS SN TNMG160404R-S 2025 | 0.4 | 2.3 TNMG160404R-FS ZN6O | 0.4 | 1.9
R-S L-S TNMG160408R-S Z(C25 0.8 2.3 R-FS L-F3 TNMG160408R-FS ZN60 0.8 29
Cermet cpefHo 1 hMHO cTOMaHa
py6a o6paboTtka Ha cTomaHa Yactute nmat 4o6pa 3aBbplieHocT
TNMG160404L-S ZC35 0.4 2.3 A ‘
IR 08 | 2.3 TNMG160404-HQ ZN6O | 0.4 | 1.9
TNMG160404R-S 2035 | 0.4 | 2.3 TNMG160408-HQ ZN6O | 0.8 | 1.9
R-$ L-S TNMG160408R-S 2635 | 0.8 | 2.3 Cormet tpaato n OIS owana
I'pyba abpahoTka Ha TBbpaa cTOMaHa Yactnte umat gobpa 3aBbplieHocT
A
w04 | 2.3 - TNMG160404-MT ZN6O | 0.4 | 1.9
i TNMG160408-TM ZC25 0.8 2.8 TNMG160408-MT ZNO 08 9
e o~ TNMG160412-TM ZC25 1.2 2.3 a—— ) \
Cermet LPEARD M ihHHO CTOMaHa
O6paboTka Ha CTOMaKa CbC CPEfiHa cTenkeH Yactute umat fobpa 3aBbpLIEHOCT
TNMG160404-TM ZC35 0.4 2.3 TNMG160404-TS ZN60 0.4 .9
TNMG160408-TM ZC35 0.8 2.3 AW TNMG160408-TS ZN60 0.8 .9
[
Medium Finish Cermet CHEAHD M fIMHO CTOMaHa
O6paboTka Ha TBbpAla CTOMaHa Yactute umat gobpa 3aBbpLIEHOCT
A TNMG160402-HA ZKO1 0.2 1.9
Az TNMG160404-HA ZKO1 0.4 1.9
; TNMG160408-HA ZKO1 0.8 1.9
MES, W anyMUHMEBE CPEAa
Finish Machining
TNMA160404 ZK50 0.4 2.3
TNMA160408 ZK50 0.8 2.3
TNMG160404 ZK50 0.4 2.3 . N
TNMA TNHG | TNMG160408 ZK50 0.8 | 2.3 /_{ :\ TNGG160402L7P ZN50 | 0.2 | 3.6
Medium Rough Medium Finish O: (&) TNGG160404L-P ZN90 0.4 .6
O6pa6orka HaCast Iron  OBpaGoTka HaCast Iron >
TNMG160404-HA ZM30 | 0.4 | 2.3 RP | mgglggjgﬁs:ﬁ 5338 8;3 ;2
TNMG160408-HA ZM30 | 0.8 | 2.3 Hresman or copamms
Y Yactute umat gobpa 3aBbpLieHoCT
TNMG160404-MA ZM30 0.4 2.3
HA MA TNMG160408-MA ZM30 0.8 2.3
O6paboTka 0T HepLXgAEMA CTOMaHa
TNMG160404-MQ ZM30 0.4 2.3
TNMG160408-MQ ZM30 0.8 2.3
/A e TNGG160402L-S ZN9O | 0.2 6
O6pabqTka DT HEPWKAABMA CTOMAHA 4 @ ; e b TNGG160404L-S ZN90 0.4 -6
A H TNGG160402R-S ZN90 0.2 .6
R-S L-S TNGG160404R-S ZN90 0.4 6
TNMG160404-MS ZM30 0.4 2.3 Matepuan ot kepamuka
TNMG160408—-MS ZM30 0.8 2.3 Yactute umat nobpa 3asbpLieHocT
O6paboTka 0T HepbXKAaeMa CToMaHa

Hap ueHaTa He BKoYBa TOBapW, TakCU U TaKCu.
LleHa Ha coenka B waTtcku gonapu B Kutan.

HHKaKBMB'bI'IpOCM,MOJ'IFI,VI3I'IpaTeTeMMeﬁﬂ:eVa@mzéY%Wdﬂzg'tw



http://www.mzg.tw

CHUMKM Ha npoaykTa cneymdurkaums R UsD

YyryH u 3akaneHnu
O6paboTBaHe Ha MaTepuanute

VBMT110302 CBN1
VBMT110304 CBN1
VBMT 160402 CBN1
VBMT160404 CBN1
VBMT160408 CBN1

VCGT110302 CBN1
VCGT110304 GCBN1
VCGT110308 CBN1
VCGT160402 CBN1
VCGT160404 GCBN1
VCGT 160408 CBN1
VCGT160412 CBN1

Turning Inserts

Turning Inserts

coocoo
CORANIAN

eSS Ll
NoOAN®OAN

coooo
O O O 0 O

o000
0“0 0 0 0 0 O

CHUMKM Ha npoaykTa cneymdpukauus R UsSD

YYIyH W 3aKanerm
OfpafoTEaHe Ha MaTepKanuTe

VNMG160404 CBN1
VNMG160408 CBN1

S
0o N

oo

Rele]

MWEd 1 ANy MAHKI
Finish Machining

VNMG160402 PCD1
VNMG160404 PCD1
VNMG160408 PCD1

O o
® AN

oo o
000

Mepa n anymuHwnit
Finish Machining

VBGT110301
VBGT110302
VBGT110304
VBGT110308
VBGT160402
VBGT160404
VBGT160408

PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1

VCGT110301
VCGT110302
VCGT110304
VCGT110308
VCGT160401
VCGT160402
VCGT160404
VCGT160408
VCGT160412

PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1

coocooRo
©AN®AN=

g AR
NOAN—=0AN=

o000
<0 "0 0 0 0 0 ©O

o000
<0 ~0 \0 "0 "0 0 0 0 O

Mex W anyMUHAEES CREAa
Finish Machining

VBGT110302-AL
VBGT110304-AL
VBGT160402-AL
VBGT160404—-AL
VBGT160408-AL

ZKO01
ZKO01
ZK01
ZKO01
ZKO01

VCGT110302-AL
VCGT110304-AL
VCGT160402-AL
VCGT160404-AL
VCGT160408-AL

ZKO01
ZKO01
ZK01
ZKO01
ZKO01

COoRY e
©OANAN

Coooo
OANAN

NN =2

M ST

OO ==

OO ==

VBMT160404-MV ZM30
VBMT160408-MV ZM30

o
LN

ww
~~

Cermet CReH0 M MHO CTOMaHA
YacTUTE MMaT A00Pa 338 bPLIEHOCT

VBMT110304-HQ ZN60
VBMT160404-HQ ZN60

oo

W

Cermet cpeaHo v hHO cTOMaHa
Yactute umat gobpa 3aBbplieHoCcT

VBMT160404-MT ZN60

MaTEpKUan 0T KepaMuKa
YarTUTE MMAT A06Pa 336 bW EHOCT

VBGT110302L ZN90
VBGT110304L ZN90

oo

AN

MaTEpUaN 0T KEpAMUKS
YacTUTE MMaT A06Pa 336 W EHOCT

VBGT110302R-Y ZN90
VBGT110304R-Y ZN90

oce
AN

N~

OfipafioTka Ha CTOMAHE ChE CREAHA CTEN

EH

VNMG160404-TM ZC25
VNMG160408-TM ZC25

oo

[ooJ=N

o
~N~

Medium Finish
OfpafoTka Ha TEEpAA CTOMaHa

VNMG160404-TM ZC35
VNMG160408-TM ZC35

es
NN

NN

ME W ANYMUHMEBS CPELA
Finish Machining

VNMG160404-AL ZKO1
VNMG160408-AL ZKO01

oo
[N

NN
ww

OfpalfioTka 0T HepbX A8 Ma CTOMAHA

VNMG160404 ZM30
VNMG160408 ZM30

oo
LN

NN

OfpaloTka 0T Hep b, A8 Ma CTOMAHA

VNMG160404-HS ZM30
VNMG160408-HS ZM30

oo

o A

NN

Cermet CREAHD M fIMHO CTOMAHA
HACTUTE MMET A00Pa 386 bRWEHOCT

VNMG160404-MT ZN60
VNMG160408-MT ZN60

oo

©

SN
ww

Hap ueHaTta He BKtoYBa TOBapwu, TakCu n Takcu.

BbMNpocwu,

LleHa Ha caoenka B waTtcku gonapu B Kutan.

MonaAa, 3 nparTeTe Mmeﬁn:eva@mgé‘f%WdHZg'tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

CHUMKM Ha npoaykTa CI'IeLWI(bVIKaLlI/Iﬂ CHUMKM Ha npoaykTa CI'IeLl,I/Id)VIKaLWIFl
Y i s
@ OB oa oo Do &2 /1) WNMGOBO404-NA ZM30 | 0.4 | 2.6
‘ WNMGOBO412 CBN 1.2 | 6.9 ﬁ i I
HyTyH M 38K aneHK
O6pa6oTBaHe Ha maTepnanute O6paboTka OT HEpbXKAaemMa CToMaHa
HINMAB0402 PCD w62 WNMGOB0404-MQ ZM30 | 0.4 | 2.6
HNMAOBO404 POD1 0.41 67 WNMGOB0408-MQ ZM30 | 0.8 | 2.6
WNMA080408 PCD1 0.8 6.9 ) ’
MEZ 1 anyMHmit
Finish Machining O6paboTka OT HepbXaaema cTomaHa
@ WNMG080404:CQ 2025 0.4 2.6 WNMGOB0404—NS ZM30 04 2.6
WNMG080408-CQ ZC25 0.8 2.6 WNMGO80408—NS ZM30 08 26
WNMG080412-CQ ZC25 1.2 2.6 ) ’
O6paboTka Ha CTOMaHa CbC CpefHa cTengH O6paboTka OT HepbXxaaema cToMaHa
[}
2’7/"‘ l\ £
< ) ;& WNMG080404-HQ ZC25 0.4 2.6 A WNMG080404-HS ZN60 0.4 2.3
WNMG080408-HQ ZC25 0.8 2.6 L“ WNMGO80408-HS ZN60 0.8 2.3
Cerme&t CPEAHO W (HUHG CTOMaHa
O6pafinTka Ha CTOMaHa Cbe CPeAHA CTeNeH Yactute umart Jo6pa 3aBbPLIEHOCT
2, -
Ay h WNMG080404L-S ZC25 0.4 2.6 o
-—;Q B3 | 'WNME0BO40BL"S 2625 | 0.8 | 2.6 = X WNMGOBO404-HA ZN6O | 0.4 | 2.3
Smmgeee® WM | yNMG0B0404R-S ZC25 | 0.4 | 2.6 e WNNGOBO408~Ha ZNé0 | 0.8 | 2.3
R-S L-8 WNMGOBO40BR-S ZC25 | 0.8 | 2.6 Cormet pgrin o buana
py6a o6paboTka Ha cToMaHa Yactute nmat gobpa saBbplieHocT
WNMG080404L-S ZC35 0.4 2.6 / \ WNMG080404L-X ZN60 0.4 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGO80404R-S ZC35 0.4 2.6 WNMGO80404R-X ZN60 0.4 2.3
WNMGO80408R-S ZC35 0.8 2.6 : - WNMGO80408R-X ZN60 0.8 2.3
Cermet Medium And Rough Steel
YacTtute umat no6pa 3aBbPLIEHOCT
WNMGOSO404:TM 2025 0.4 2.6 G\., WNMGOB0404-MT ZN60 0.4 23
WNMG080408-TM ZC25 0.8 2.6 ;
o WNMGO80408-MT ZN60 0.8 2.3
WNMG080412-TM ZC25 1.2 2.6 [
T™M ZC25 TM ZC35 Cermet cpeHo 1 chuHO cTOMaHa
O6paboTka Ha CTOMaHa CbC CpeHa CTeneH YacTute umaT 406pa 3aBbPLIEHOCT
WNMG080408-CM ZC25 0.8 2.6 WNMG080404-TS ZN60 0.4 2.3
WNMG080412-CM ZC25 1.2 2.6 WNMG080408-TS ZN60 0.8 2.3
O6paboTka Ha cTOMaHa Cbe cpefiHa cTengH Cermet cpeaHo 1 UHO cTOMaHa
YacTtute umat go6pa 3aBbpLIEHOCT
TR WNMG080402-HA ZKO1 0.2 2.3
S WNMG080404-HA ZKO1 0.4 2.3
@ WNMGO80408-HA ZKO1 0.8 2.3
Meg it anymuHuesa cpeaa
Finish Machining
4 WNMGO80404-HA ZM30 0.4 2.6
¢ WNMGO80408-HA ZM30 0.8 2.6
O6paboTka OT Hepbxaaema cTomaHa
WNMA080404 ZK50 0.4 2.6
WNMA080408 ZK50 0.8 2.6
CpeaHo rpy6a mexaHuyHa o6pa6oTka Ha YyryH
WNMG080404 ZK50 0.4 2.6
WNMG080408 ZK50 0.8 2.6
MexaHn4Ha 06paboTka Ha YyryH

Hap ueHaTta He BKIoYyBa ToBapu, TakCU U TaKCW.
LleHa Ha coenka B waTtcku gonapu B Kutain.

anpocw,Monﬂ,M3npaTeTeMmemn:eva@mzé‘f%WdHthw

H A K a K B U


http://www.mzg.tw

MHCTpYMEHT 3a psg3aHe Ha HULLKU
Thread Turning Tool

CHUMMKM Ha npoAayKTa cneumdukaumsa CHUMKM Ha NpoayKTa cneundukauns
o 16ER 0501S0 ZP10 0.50 2.0
Machining 16ER 075180 ZP10 0.75 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 150180 ZP10 1.50 2.0 30°° TpaneuoauaHa pesta 3a
16ER 1751S0 ZP10 1.75 2.0 DIN103 TpaHcmucus
16ER 2001S0 ZP10 2.00 2.0 O6pab6boTka Ha BwhHWHA I Ipe36a
16ER 250180 ZP10 2.50 2.0
3001 ) 16ER 3001S0 ZP10 3.00 2.0
Finieh Machining 16ER 350180 ZP10 3.5 | 2.0 16IR 2TR ZP10 20 | 2.0
16ER A60 ZP10 0.5-1.5 2.0 16IR 3TR ZP10 3.0 2.0
16ER AG60 PCD1 0.5-3.0 6.9 30° TpaneLOBNAHE o3ta o3
16ER AG60 ZP10 0.5-3.0 | 2.0 DINT03 Tpancumons
\ 16ER G60 ZP10 1.5-3.0 2006 pa6oTka wa BbTpewHnala Aynka
s 22ER 350180 ZP10 3.50 5.1 ZP10
22ER 4001S0 ZP10 4.00 5.1 General
- 22ER 5001S0 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch1 1700ty 2.0
G0 * METAMIEH BBHLWEH 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 Tinch14100tn 2.0
O6pabotka Ha Temara 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19100th 2.0
16ER 24W ZP10 1inch24T00th 2.0
SER1616H16 - 7.1 ’f’ﬂ‘;glanwmm 16ER 8W ZP10 11nch8Tooth | 2.0
SER2020K16 - 7.1 Finish Machining ’\ 12?; ﬁggslgé& 8 g—; 8 28
SER2525M16 - 9.3 - L9793, .
SER2020K22 = 9.6 O 16ER AG55 ZP10 0.5-3.0| 2.0
SER2525M22 - 13.1 é 16ER G55 ZP10 1.5-3.0| 2.0
B-sEL ser | SER3232P22 - 20.3 22ER NS5 ZP10 3550/ 5.1
B-SEL1212H16 - 9.6 55 ° Inch BbHLWEH
B-SEL1616H16 _ 9.6 O6paboTka Ha TemaTa
B-SEL2020K16 - 9.6 ZP10
90peBTa va sive pete SEEREERERE IS - E Maohining 06IR AS5 ZP10 0.5-1.25| 4.7
ZP10 061R A60 ZP10 0.5-1.25 | 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 150180 ZP10 1.50 4.1 111R 19W ZP10 Tinch 19700t 2. 0
Machining 08IR A60 ZP10 0.5-1.5 4.1 161R 11W ZP10 Tinch1 1700t 2.0
111R 1501S0 ZP10 1.5 2.0 12:5 thw %S?; 1 inch12Tooth 38
111R 2001S0 ZP10 2.0 2.0 Tinch 14700t 2.
111R A60 ZP10 0.5-1.5 2.0 PCD1 . 161R 19W ZP10 Tinch19T00th 2.0
gpmdme | v 12 B B | wmeEn 00
16IR 100150 ZP10 1.00 2.0 16IR AG55 ZP10 0.5-3.0| 2.0
& 16IR G55 ZP10 1.5-3.0] 2.0
P 12:: gg:gg %8 15 20 N 4 22IR N55 ZP10 3.5-5.0| 5.1
Finth Machining 16IR 175180 ZP10 1.75 2.0 Otpatiora wa rewaTa
161R 2001S0 ZP10 2.00 2.0
YOS S Al 290 20 16ER 12UN ZP10 Tinch12700th 2.0
16IR 3001S0 ZP10 3.00 2.0
16ER 14UN ZP10 Tinch 14100t 2.0
161R 3501S0 ZP10 3.50 2.0 16ER 16UN ZP10 1
= inch16To0th 2.0
16IR A60 ZP10 0.5-1.5 2.0 16ER 1
161R AG60 PCD1 0.5-3.0 6.9 8UN ZP10 1inch18To0th 2.0
16IR AG60 ZP10 0.5-3.0 2.0 6(0° AMEMKAHCKM B BHLLEH 16ER 20UN ZP10 1 inch20Tooth 2.0
16IR G60 ZP10 1.5-3.0 2.0 Ofipafipeana remara
22IR 350180 zP10 3.50 5.1
221R 400180 ZP10 4.00 5.1 16IR 12UN ZP10 Tinch1 2700t 2.0
221IR 5001S0 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14t00th 2.0
BuTpewna aynka 60 ° metpuuna 22 |R 6001S0 ZP10 6.00 51 16I1R 16UN ZP10 Tinch16Tooth 2.0
O6pabotka Ha Temata 221R N60 ZP10 3.5-5.0 5.1 16IR 18UN ZP10 11nch18Toot 2.0
60+ amennanira o peare | 161R 20UN ZP10 11non20Te0ty| 2. 0
SNRO005K06-A12 - 7.1 QGpaGaTka Ha Temara
SNR0007J08 - 5.1
SNROOO8SKO8 . 5.1 16ER 11BSPT ZP10 Tinch1 1100t 2.0
16ER 14BSPT ZP10 Tinch 14100t 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 = 5 4 16ER 28BSPT ZP10 11nch287o0th 2.0
BSPT BputaHrka CTaHA AP THA kOHyCcHa Tpbba
SNROO13N16 _ 6.1 BbHuHa UErJaGFU\TKa Ha pesbute
SNROO14N16 - 6.7 -
SNR0016Q16 - 6.7
SNROO20R16 - 7.1 161R 11BSPT ZP10 Tinch1 1100t 2.0
SNR0025S16 S 1.7 16IR 14BSPT ZP10 Tinch 14100t 2.0
SNR0032T1 6 - 20 3 BSPT EpVITaHCKM CTAHA AP TEH KOHYC
B 6 6
SNROO20R22 - 10.7 m%eﬁu;:%gf’?a i;:;:‘)’; A\
. SNR0025S22 - 14.3
LTPeUAa Aynka SNR0032T22 - 22.9
OpdgoTka uaTemata 16ER 11.5NPT ZP10  [1..11. 50s| 2.0
16ER 14NPT ZP10 Tinch14t0oth| 2.0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinon18rootn| 2. 0
Jo AT A 0.53.0 5.9 O6pabor yZTEp];GlaEe:isju a ple36a
0GpafoTka HE 50 METPUHN TTP6001 ZP15 0.5-3.0 5.9 /zg
Il MKW HacTH
TP 16IR 11.5NPT ZP10 inch11. Stooth 2. 0
o 161R 14NPT ZP10 Tinch14100th| 2.0
. TTPR12 - 9.3
TTPR16 - 11.7 BbTpewHa Aynka Ha TpbOHaTa peaba NPT
O6paboTka Ha TemaTa

Hap ueHaTta He BKJtoYBa TOBapW, TakCu U Takcu.
- Llena Ha caoenka B watcku gonapu B Knutan. ‘
Vet e H A K a K B U B'bI'IpOCI/IY MOJ'Iﬂ, M3r|pa're're Mmeﬁn:eva@mié‘f%WCmZg'tw


http://www.mzg.tw

N3kntouBaHe / BanbvbHaTtnHa / O6paTHo BbpTeHe Ha mankn Yactu

Cut-Off/Grooving/Back Turning Of Small Parts

CHUMKM Ha npoAayKTa crneumndukauuns Width USD CHUMKM Ha npoayKTa cneundukauns Width USD
T16E100 ZP15 1.0 3.0 TKF12R100-S ZP15 1.0 5.9
T16E150 ZP15 1.6 3.0 TKF12R150-S ZP15 1.5 5.9
T16E160 ZP15 1.6 3.0 TKF12R200-S ZP15 2.0 5.9
T16E200 ZP15 2.0 3.0 ( ) TKF16R100-S ZP15 1.0 6.6
| T16E250 ZP15 2.5 3.0 u TKF16R150-S ZP15 1.5 6.6
: T16E300 ZP15 3.0 | 3.0 Jospaenenveern | TKF16R200-S ZP15 2.0 | 6.6
Taner TKF12R100-816R ZP15 | 1.0 | 5.9
upava s o sepssTI R 5 3 upasoun 522 TKF12R150-S16R ZP15 | 1.5 | 5.9
e B TKF12R200-S16R ZP15 | 2.0 | 5.9
\ \ TKF16R100-S16R ZP15 1.0 6.6
\L ,/ TKF16R150-S16R ZP15 1.5 6.6
SER1616H16 7.1 o TKF16R200-S16R ZP15 | 2.0 | 6.6
SER2020K16 7.1 O6paboTka Ha ApebHu YacTn
SER2525M16 9.3 |
T11N100 ZP15 1.0 | 3.0 ‘ USRS o7
' T11N150 ZP15 1.5 3.0
/ T11N200 ZP15 2.0 3.0
O6paTHO BENHMBAHE HA MANKW YACTH
[ T16N100 ZP15 1.0 3.0
4 T16N150 ZP15 1.5 3.0
. T16N160 ZP15 1.6 3.0
| T16N180 ZP15 1.8 3.0
T16N200 ZP15 2.0 3.0
T16N230 ZP15 2.3 3.0 KTKFSL1010JX12 11.9
T16N250 ZP15 2.5 3.0 KTKFSL1212JX12 1.9
e tnm wahepnan woxe 3 Suse wanpemmo el - T16N300 ZP15 30 | 30 KTKFSL1212JX16 1.9
SNRO010K11 - 5.1
SNROO12M11 - 5.4 KTKFSL. .
SNROO13N16 - 6.1
SNROO14N16 - 6.7
SNR0016Q16 S 6.7 KTKFRO810JX12 b 1.9
SNROO20R16 - 7.1 KTKFR1010JX12 - 9.4
SNR0025S16 1.7 KTKFR1212JX12 - 9.4
KTKFR1616JX12 - 9.4
16° CTP10FR ZP15 1.0 5.9
Taper 7 CTP15FR ZP15 1.5 5.9 KTKFR1010JX16 - 9.4
Ve \“ CTP20FR ZP15 2.0 5.9 KTKFR1212JX16 - 9.4
( ) CTPA10FR ZP15 1.0 6.6 KTKFR1616K16 - 9.4
) / CTPA15FR ZP15 1.5 6.6 KTKFR. . KTKFR2020JX16 - 10.7
CTPA20FR ZP15 2.0 6.6
O6palinTka Ha ApEfHA 4acTH
CTP10FRN ZP15 1.0 5.9
% CTP15FRN ZP15 1.5 5.9
/ CTP20FRN ZP15 20 > FVC1604R150 ZP15 1.5 4.3
( CTPA10FRN ZP15 1.0 6.6
M anKku 4acTH ’ ’ FVV1604R300 ZP15 3.0 4.3
/O0patoTka HA NPEKBLBAHE CTPAZOFRN ZP15 2 O 6 6
CTPSL10 10.7
CTPSL12 .9 O6paboTBala o6paboTka Ha kpaiHu nu
CTPASL10 10.7
CTPASL12 1.9
CTPSL
CTPASL. . CTPASL16 14.3
CTPRO8 1.9
CTPR10 9.4 SVQCR2020K16-NJ - 1.9
CTPR12 9.4
CTPR16 9.4
CTPR20 10.7
CTPAR10 9.4
CTPAR12 9.4
CTPAR16 9.4
CTPR/CTPAR. . CTPAR20 10.7
CTPAR25 14.3
VC1604R250 ZP15 2.5 4.3
VC1604R300 ZP15 3.0 4.3
TTB6001 ZP15 5.9
O6paboTBalia o6paboTka Ha kKpaiHu Nu
O6paTHO BENMMBAHE HA MaNKKM HacTh
TBPR10 9.4
TBPR12 9.4 SGIVFR16Q16 - 14.3
SGIVFR20Q16 = 14.3
TBPAR10 9.4 SGIVFR25R16 - 16.7
TBPAR12 9.4
TBPAR16 9.4 SGIVFR. .

Hap ueHaTta He BKNloYBa TOBapwW, TakCK U TaKCu.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HFIKaKBMB'bI'IpOCM,MOJ'IFI,VI3I'IpaTeTeMMeﬁﬂ:eVa@mzéY%Wdﬂzg'tw



http://www.mzg.tw

NWHCTpyMeHT 3a 3aBbpTaHe Ha BbHLWHW LUIIMHOPUYHU KaHanu
External Cylindrical UHCTpyMeHT 3a cTpyrosaHe

CHMMKM Ha npoAayKTa cneuundukayms Width USD CHUMKM Ha npoaykKTa cneuundukayms Width USD
TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
. TGF32L220 ZP15
/" wa | TGF32L230 ZP15
{ | || TGF32L250 zP15
\-/ TGF32L260 ZP15
TGF32L270 ZP15

WupwnHa Ha cnoTa 3a peknamuun mecta 0.3-3 2mmF32L280 ZP15
CenektneHa gbn6ounta Ha pasare 0.8-4 mmTGF32L.290 ZP15
OBwunaT maTepnan Moxe TGF32L300 ZP15

TpabBa Aa 6bae HanpeyHo Hapsa3aH

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
Wi e crora e peuna vecis 05 32 TGF32R280. ZP15
OBwmat matepuan Moxe TGF32R290 ZP15
TGF32R300 ZP15

TpsibBa Aa 6bAe HanpeyHo Haps3aH

bl % Lt
N Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

-
WNRNRNNRNNNNNNN—E s

WNNNNNNPONNN = =S =

OVEONOCUIWN—_OVRONCURWRN—=O®O
MRV NN RPN D DR N ESN
OO~ OO0~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~ O~

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . -KTGFR.

-FI

Hapg ueHaTta He BKNtoYyBa TOBaApwu, TakCn U TakKCu.

LleHa Ha caenka B waTtcku gonapu B Kutan.

K akBMW BbBNpPpOocCcwu, monasa, nMs3npartTerTe Mmeﬁn:eva@m-z/éY%Wd'HZg'tw


http://www.mzg.tw

PYMEHT 3a 3aBbpTaHe Ha BbHLIEH LMNIMHAPUYEH / BbTPELLEH OTBOP 3a AYNKM

External Cylindrical/BbTpewHa gynka Turning Tool

CHUMKM Ha npoaykTa

cneundukaums

Width USD

CEpaboTka Ha kaHanm

Spring Steel

GER100-A ZP15
GER150-A ZP15

SI1GER0606A-EH
SI1GERO808A-EH
Spring Steel

S|1GERO808A-EHT

RGN
oo

CHUMKM Ha npoaykTa  cneuudukauns Width USD

bl
~N~

19.0
1.9

1.9

OfipafioTka Ha KaHa M

Spring Steel

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH
Spring Steel
SIGER1010B-EHT
SIGER1210B-EHT

DN = =
ocuvwouwo

e
ENENENENEN

ObpaboTia Ha KaHanu

SI1GER. .

u
Spring Steel

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

S1GER1412C-EH
SIGER1616C—-EH
Spring Steel

SI1GER1412C-EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
WwupuHa Ha cnoTa 3a peknamHu mecTa 1.0-4{8mm
CenekTuBHa AbnboynHa Ha pasaHe 2.0-5.0mm
O6WmnAT MaTepuan moxe
TpabBa Aa 6bae HanpeyHo Hapsa3aH
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL..
SGBSL2020K43 - 10
SGBSL2525M43 - 14
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

/-~ .\:‘
-

LinpuHa Ha cnoTa 3a peknamHu mecta 1.0-4
CenekTuBHa Abnb6o4vnHa Ha pasaHe 2.0-5.0|

OBWMAT MaTepuan Moxe
TpabBa Aa 6bae HanpeyHo HapsA3aH

8mm
mm

O6paboTka Ha kaHa

e SIGER. .

Spring Steel

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

goao oo
G RO

o>
~w

L
—

GbpaboTka Ha kaHamm

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J0O7

SNGR10K07
Spring Steel

SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

CbpaboTka Ha kaHanm

SNGR. .  Spring Steel

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
Spring Steel

SNGR10K08

wnN

oo

~O O

©
oo

O6paboTka Ha kaHanu

CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 0.7
SGBSR2525M43 - 14.3

“.

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cococo

AA
w=22
-0 °

Hapg ueHaTta He BKJlOYBa TOBapwu, TAKCU U TaKCK.
LleHa Ha coenka B waTcku gonapu B Kutamn.

MoOoDnasA, U3 nNnparTerTe Mmeﬁn:eva@mgé‘f%‘f\_’cmz@tw

H A4 K a K B U

BbMNPpPoTCcCwu,



http://www.mzg.tw

MHCTpYMEHT 3a cTpyroBaHe / pssdaHe
Grooving/Cut-Off Turning Tool

CHUMKM Ha npoAayKTa cneundukayms Width USD CHMMKM Ha NpoayKTa cneuunukalms Width USD
OGpaﬁlgxé:gj:liﬁa:Teermwanwe MGMN150 CBN1 1.5 6.9
. MGNMN200 CBN1 20 | 6.9 MRMN200-G ZP30 R1.0 | 1.6
MGNMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.O | 1.6
MGNMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 -G MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 5.0 6.9 Ao vpwnTenHr pafioTe Grooving
Men v anymurm NPoHUNUPEHE HA CTOMABHEHK H4acTH
Finish Machining MGMN150 PCD1 1.5 | 6.9 Gyryn 1 sakanerm
MGMN200 PCD1 2 0 6 9 O6paboTBaHe Ha maTepuanuTe
MGMN250 PCD1 2.5 | 6.9
MGMN300 PCD1 3.0 169 MRMN40O CBN1 R2.0 | 6.9
MGMN400 PCD1 4.0 | 6.9
g B
ﬂ‘ || MGEN300 ZP15 3.0 1.6 MGEHR1010-1. 5 1.5 | 9.0
?\I/ MGGN400 ZP15 4.0 1.7 MGEHR1010-2 20 90
OBpafioTka Ha KaHaNM / NpekbcBaHe ng:§1 %} %_; 5 ; g g 8
) MGEHR1212-3 3.0 9.0
( || MGGN200-Q ZP15 2.0 1.7 MGEHR1616-1. 5 1.5 6.7
g “\ /‘ MGGN300-Q ZP15 3.0 1.7 MGEHR1616-2 2.0 6.7
8° Taper MGEHR1616-2. 5 2.5 6.7
Dﬁpaﬁmﬂca Ha NPEKLCBaHe MGEHR’] 61 6—3 3 0 6 7
) N MGEHR1616-4 4.0 6.7
[ || MGGN200 ZKO1 2.0 1.7 MGEHR2020-1. 5 1.5 6.7
' \ /| MGGN300 ZKO1 3.0 1.9 MGEHR2020-2 2.0 6.7
Cnppmmmh | MeaN400 ZKOT 40 | 23 MGEHR2020-2. 5 25 | 6.7
QBpafoTka Ha KaHanu / npekbceaxe MGEHR2020-3 3.0 6.7
MGEHR2020-4 4.0 6.7
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 50 6.7
o [ 2.0 | 1.7 MGEHR2020-6 6.0 | 83
‘c \‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /J MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
OB pafnTia ke kanani /npexsceane | MGGNS00 ZP30 5.0 2.7 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
| MGGN200R-8 ZP30 2.0 1.7 EEro W 60 10,7
( || MGGN250R-8 ZP30 2.5 1.9 MEEHR3239-2 20 164
J /| MGGN30OR-8 ZP30 3.0 2.0 MGEHR3232-3 30 16 4
8° Taper | MGGN4OOR-8 ZP30 4.0 2.4 . : :
MGGN500R-8 ZP30 50 | 3.1 WGEHR3232-4 4.0 | 1634
OfipafoTka Ha NpeKbeBaHe . . LUunnuHapuynm BgnboHaTuHm / nsknoYBamMGEHR3232-5 50 16. 4
MGEHR3232-6 6.0 17.9
o~ e ol Spring Steel MGEHR1010-1. 5T12 1.5 | 10.7
OB | MeeN250L-8 P30 55 19 MGEHR1010-2T12 2.0 10. 7
- ) ' : MGEHR1212-1. 5T12 1.5 9.6
MGGN300L-8 ZP30 3.0 2.0
8° Taper MM | MGGNAOOL-8 ZP30 20 | 24 MGEHR1212-2T12 20 | 9.6
: ‘ MGEHR1616-1.5T13 1.5 9.0
QBfpafioTka Ha npekbcBaHe MGEHR1616-2T16 2.0 9.0
MGEHR1616-2. 5T18 2.5 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 | 1.7 MGEHR1616-3T720 3.0 | 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
6 . MGMN400-M ZKO1 4.0 | 2.0 MGEHR2020-2T16 2.0 | 9.6
) a 6 0T kK a H ‘ECOF:‘PE;D:A‘\EUWHWEW/ n 4 Kb CBaHe MGEHR2020_3T20 3 O 9 6
L MGEHR2020-4T20 4.0 | 9.6
GEHR2525-3720 3.0 11.0
MGMN200-G ZN60 2.0 14 LUnnuHapuynm BanbOoHaTUHW / n3kntoyga GEHR2525-4T20 4.0 1.0
MGMN300-M ZN60 3.0 1.7
MGMN400-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 9.0
MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 9.0
CTomaHeHuTe waCcEEi?mZ? fgg‘lpa 3aBbpLIEHPCT MGEHL1 212_1 5 1.5 9 0
MGEHL1212-2 2.0 9.0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1. 5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 6.7
L —— MGMN300-H ZP30 30 | 1.6 MGEHL 1616-4 4.0 | 6.7
) a6 0TKka Ha Kawaluw/ npgkbpcsaHe MGEHL2020-1. 5 1.5 6.7
MGEHL2020-2 2.0 6.7
MGMN200-G ZP20 2.0 1.6 MGEHL2020-2. 5 2.5 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
MGMN250-M ZP20 2.5 1.6 MGEHL2020-4 4.0 6.7
MGMN300-M ZP20 3.0 1.6 MGEHL2020-5 5.0 6.7
CTOMaHERN Karany MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
/OBpaboTka na npekbcBaHe MGEHL2525—2 5] 2.5 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 ) 9.0
MGMN200-M ZP30 2.0 | 1.6 N 4.0 19.0
MGNMN200-G ZP30 20 | 1.6 WGENL252670 5.0 o2
MGMN250-M ZP30 2.5 | 1.6 ALz zo=0 6.0 10.7
MGMN250-G ZP30 2.5 | 1.6 s Lemene 3.0 ) 164
. MGEHL3232-4 4.0 16.4
-G M MGMN300-M ZP30 3.0 1.6 EE i o
TBbPAYU CTOMAHEHM KAHANM MGMN4OO_M ZP30 4.0 2.0 HL3232-6 6. 0 1 -
/O6paBoTka Ha NpeKbCBaHe MGMN500-M ZP30 50 2.7 LvnuHapuynm Banb6HaTUHM / N3KIHO! BM a . 7.9

Hapg ueHaTa He BKNo4YBa TOBapu, TakCu 1 TaKCK.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HﬂKaKBManpocw,Monﬂ,M3npaTeTeMmeﬂn:eva@mijéw‘f\!dﬂzth



http://www.mzg.tw

MHCTpYMEHT 3a 3aBbpTaHe Ha nuueBaTa/ BbTpewHaTa gynka
End Face/BbTpewHa gynka Turning Tool

CHUMKM Ha npoaykKTa cneumngukayms Width USD CHUMKM Ha npoaykTa cneumndukayms Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 O6paboTka Ha MGIVR3732-6 6.0 26. 1
MGHH420R-160/400 4.0 |19.0 BvTpewna aynka
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 Soring Steel
MGHH425R-100/140 4.0 |28.6 pring stee
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
O6paboTka Ha umpkynsp
3aBbpTaHe Ha KpawHOTO nuue MGIVR2520-3T8 3.0 15 4
Spring Steel MGIVR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
e MGHH320R18-160/400 3.0 21.9
5 MGHH325R18-160/400 3.0 | 23.9 Obpaborka Ha
| MGHH420R15-30/50 4.0 | 21.9 BrTpawra aynka
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGI1VL2016-2 2.0 1 9.3
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
O6paboTka Ha uMpKynsp MGI1VL2520-1. 5 1.5 11.0
3aBbpTaHe Ha KpawHOTO nuue MGIVL2520-2 2.0 11.0
Spring Steel MGIVL2520-2. 5 2.5 | 11.0
MGIVL2520-3 3.0 1.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 poopaborkaKa MGIVL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 | 24.6 pemmna Y MG1VL3732-5 50 | 261
MFH425R10-25/140 4.0 24. 6
O6paboTka Ha uMpkynsp
3aBpraHe Ha Kpal;IHOTO nuue
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
LinnuHapuyxm kaHanm
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
LiunuHapuyHu kaHanm

Hap ueHaTta He BKNtoyBa TOBaApW, TAKCU N TaKCK.

LleHa Ha caenka B waTtcku gonapu B Kutan. ]
HFIKaKBVIB'bI'IpOCM,MOﬂH,VI3ﬂpaTETeMMeﬁﬂ:eva@mZ/éY\%WCrnzg'tw



http://www.mzg.tw

MHCTpyMeHT 3a 3aBbpTaHe Ha CNC

CNC Turning Tool

CHUMKM Ha npoayKTa Size CHUMKM Ha NpoayKTa Size CHMMKM Ha NnpoaykKTa Size usD

1010E 5.4 1616H 6.4 1010 6.7
1212F 5.3 2020K 6.4 1212 6.7
1616H 5.4 2525M 8.9 1616 6.7
2020K | 6.0 SR 3232P | 16.4 2020 6.7
2525M 8.3 2525 9.0
3232P 14.7 KTGFR/L..
S Tun unnunapuyen Tokapckun ntctpymend040R 21.9 ZQ.. Tmun WucTpymelHT 32 plasadHe Tuwn wewcTpyMmeHnT ga cTp roesaH ¢
1616H 6.7 SPB226 11.9 KTGFRIL.. 1010 1.9
2020K 6.7 SP. SPB326| 11.9 Tun MHCTPYMEHT 3a cTpyrosaHe | 1212 11.9
2525M 8.6 \ SPB426 11.9 1616 1.9
3232P | 14.7 ‘ .| sPB232 14.3 PGF 2020 | 13.1
4040R 29.0 SPB332 14.3 - 2525 15.4
SPB432 14.3
M TURN UMAMHAPUYEH TOKAPCKN UHCTPYMEHT SPB.. Tun UWHcTpymeHT 3a pa3aHe Spring Steel
1616H | 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ’ 2020 22.6 1212 7.1
2525M | 8.6 [ 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSR/L..
W Tun UMNUHAPUYEH TOKAPCKU UHCTPYMEHT TMn MHCTPYMEHT [3a cTp rosatHe
1616H 9.3 MGEHR/L.. Twun p a3 awle 1010 7.1 1616 6.7
2020K 9.3 [VIHCTpYMEHT 3a cTpyrosa, 1212 7.1 2020 6.7
5 2525M 1.0 1616 6.4 2525 8.9
o 3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRI/L..
D Tun uMnuHApUYeH TOKapCckn MHCTPYMEHT Tun mHcTpyMenT Ba cTp rosatHe
S Tun MHCTpyMEHT 3a CTpyroBaHe Ha Eb'rpmlﬁynk 5.4 MGEHR/L.. Twun p a3 aHfe 1010 9.6 1616 9.0
SO07K 4.6 IVIHCTpYMEHT 3a CTpyrosaHe 1212 9.6 2020 9.0
| SO8K 4.6 1616 8.9 ‘ 2525 1.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 SGBSRIL..
S16Q 5.7 Spring Steel TUR MHCTPYMEHT 3a CTpyroBaHd
$18Q 6.4 1616 8.6
S20R | 6.4 2020 | 8.6 2000 | 15
S258 9.7 2525 1.0 '
2525 16.4
S32T 14. 6 3232 21 9
S40U | 25.4 MG ,
MGEVR/L.. CGBRI/L..
Tun MmHCTpPYMEHT [Ba cTp rosa#He Tun WHCTPYMEHT 3a CTpyrosaHe
S Tun MHCTpyMeHT 3a cTpyrosay 5.4 Spring Steel 16 9.3 1616 1.9
- 5.4 20 11.0 2020 14.3
5.4 25 13.1 2525 17.9
6.9 32 25.7
8.6 40 54.3
9.7 i Spring Stesl CGBSRIL..
Spring Steel xﬁ%@iﬁir.w;clmyemg;z 20 15.4 TUN MHCTPYMEHT 3a CTpyrosaHe
H Tun UHCTpymMeHT 3a cTpyroBaHe Ha ELTpe§Qv¢qynK 14.6 CGWSR/L.. Tun p a3 amne1616H 9.6 QE.R/IL. Twun pasatne 1616H 9.3
S07 14. 6 /VIHCTpYyMeHT 3a cTpyroBaHe 2020K 10.7 /VIHCTpYyMEHT 3a cTpyroBaHe 2020K 11.0
S08 14. 6 2525M 12.6
S10 16. 4 3232P 20.0
S12 18.1 Zr.
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRIL. Trnn pasane 1616 | 15.3
S20 43. 6 2020 10. 3 IVIHCTpYMeHT 3a cTpyroBaHe 2020 16.9
S25 65.0 GY2M.. 2525 11.9 P 2525 | 20.4
DGN.
GYHR/L.. Tun psa3amHe
BucokockopocTHa fTomMaHa IVHCTPYMEHT 3a CTpyroBaHe ;
C Tun UHcTpymenT 3a cTpyrosae Ha duTplDdGynky  19. 0 KGMR/L.. Tun pasane 1010 10. 3 FGHH..R/L. . 1616 28.6
C05G 19.0 /VIHCTpYMEHT 3a cTpyroBaHe 1212 10.3 : 2020 28.6
C06J 19.0 e B 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
C08K 22.6 GMN.. | 2525 12.9 FMN.. LosT uma
C10K 26. 1 GMG.. 3232 20.0 47@3“ oo UepHo u 6ano
C12M 33.3 D6paboTka Ha kaHan
ClaN | 52.4 TTERL. Twn pasane| 1010 | 10.3 1616 | 35.7
c16Q | 69.0 IVHCTpYMeHT 35 cTpyron 1212 | 10.3 2020 | 38.1
c18q | 81.0 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
LinmeHTnpaH kapbup B Ty 3232 20.0 Kpait daiic
O6paboTka Ha kaHan
S16Q 8.3 TTIR/L.. TypeInnarHole s 16 14.3 " 1616 23.9
S20R 8.6 WHCTpyMeHT 3 a LTy roBa He 20 16.7 y 2020 21.9
233? }é 2 25 19.0 i 2525 | 23.9
S40T/U | 28.9 At
S50V 72.1 ‘
pan ®aic
S..M.. Tun MHCTPYMEHT 3a CTpyroBaHg Ha BbTPELIHU Jynku S‘pnng Steel 06pa6oTka Ha KaHan

Hapg ueHaTa He BKIlOYBa TOBaApWu, TakKCU U TaKCH.

- LleHa Ha coenka B WaTcku aonapu B Kutai.
HFIKaKBI/IB'bI'IpOCM Monﬂ,M3npa‘re'reMmemn'eva@mzéWW(;rHthw

’


http://www.mzg.tw

Yactun 3a nHctpymeHTu ¢ UMY

NMHcTpymeHT 3a 3aBbpTaHe Ha CNC Parts

CHUMKM Ha npoAayKTa Size UsSD CHUMKM Ha npoaykTa Size UsSD

MC0903 0.4 M-Twn Cnoba HL1810 0.4
“ MC1204 | 0.6 HL1814 | 0.4
MC1604 1.1 HL1917 0.4
E MC1904 1.6 | HL2114 0.4
ey Ay
HL2217%5 1.0
CoToenEhm HL2414 0.4
- MD1103 0. M-Twn Brnur na cko b2 ML520 0.3
. i MD1504 1.0 ML620 0.3
» MD1506 1.1 ML625 0.3
ML630 0.3
ML830 0.8
D=T v n Shim
MS0903 0.6 W-Twun Ckoba WT16 0.4
MS1204 0.6 wwo8 0.4
MS1504 1.1
MS1904 1.6
S-Tw n Shim
MT1603 0.%-Twn Buw Ta WC0525E 0.4
MT1604 1.1 WC0625E 0.4
&= MT2204 | 1 1
T-T v n Shim
MV1603 0.6 D-Twn Crofba DC12 1.0
i DD15 1.0
@ ; DT16 1.0
£ e DV16 1.0
< DWO8 1.0
V=T« n Shim
! MWO0603 0.4p-TwnBuwr wa cko6arta |DL525 0.7
- MW0804 0.6 . DL625 0.7
W-T w0 Shim
- STM16R 0.3 DDC12 0.5
T v .- STM16L 0.3 DDD15 0.5
- e STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
R L DDWO08 0.5
STM-T v n Shim D-T v n Shim Screw
CTM510 0.2 L-Tun BuTpeweH wectobrbnHuk L1. 5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
CTM0822 0.3 3 TL1. 1.0
CTMO822 . 07 T-Tvn BbTpelweH WecTobIbHU a0 g IR
CTM1022 0.3 TL2.5 1.0
CTM1022%5| 0.7 TL3.0 1.0
TL4.0 1.0
TL5.0 1.0
LleHTpaneH BUHT
M2. 0X5 0.1 Kriou ¢ thopma Ha cninen T6 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 pi T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3. 5X12 0.1 Kritou ¢ hopma Ha cnmsu T6 0.8
M4. 0X8 0.1 17 0.8
M4. 0X10 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
FaeyeH ko4 Tun T TT6 1.0
117 1.0
118 1.0
TT10 1.0
1715 1.0
1720 1.0
BUWHT 3a UHCTPYMEHT 3a ubdTex Ha cfinsa

Hap ueHaTta He BKloYBa TOBapwu, TakCu MU TaKCu.
LleHa Ha caenka B waTcku gonapu B Kutan.

HHKaKBMBbﬂpOCM,MOHF],VI3I'IpaTeTeMMeﬂﬂ:eVa@mzéY%WCrﬁzg'tw



http://www.mzg.tw

Machine-Clamped Right-Angle Milling Cutter

Machine-Clamped Right-Angle Milling Cutter

3aknuyBaHe Ha Buaa Ha 3bbuTte
Locking Tooth Type Right-Angle End Milling Cutter

MN3XBBLPNSHUAT HOCaY C IECEH BbIbM Ha (hpesa
Discarded Right-Angle End Milling Cutter Toolholder

CHUMEKHM Ha NpoayKTa cneumndukauns R UsD

-HKaKBM

oy
| APKT113502 CBN1 0.2 | 69 D) 5 . e
APKT113504 CBN1 0.4 6.9 XM ‘ L !
. Romspusarera APKT113508 CBN1 0.8 6.9 P LieHa
Yr'YH U 3aKaneHun matepuanu
dxDxL usb
Q BAP300R C10-10-120-1T 3.3
APKT160404 CBN1 0.4 6.9 cneumdurkaums LleHa —12=1o0= -
APKT160408 CBN1 0.8 6.9 ncf;xm USD gﬁggggg g}i—} i—lgg—; ; i-g
Nyryw HamkAmEA MaTE A BAP3-11-1T-M5 239 BAP30OR C14-14-150-2T 4.6
= ~un A 053 BAPOOR C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 : BAP300R C15-15-200-2T 5.4
APKT113504 PCDT 0.4 | 69  BAP3-16-2T-M8 786 BAP30OR C15-16-150-2T 4.6
APKT113508 PCDT 0.8 | 6.9 [BAPSTIZZ2TTHE 8.6 BAP30OR 15-16-200-2T 5.4
Aosmpueare va BAP3-20-2T-M10 31.0
Copper and Aluminum HIE 1o  BAP3OOR C15.6-16-150-2T | 4.6
) el Sy BAP3OOR C15.6-16-200-2T | 5.4
BAPS 7oA T2 5.5 BAP30OR C16-16-120-2T 4.6
APKT160402 PCD1 0.2 6.9 o. BAP300R C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9 BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
APKT160408 PCD1 0.8 6.9  BAP3-26-3T-M12 33.3 BAP30OR C16-16-250-2T 9.6
[osbpliBaHe Ha BAP3_26_4T_M12 35 7 BAP300R 01 6_1 7_1 20_21’ 4 6
Copper anc augnum BAP4-25-2T-M12 333 BAP30OR C16-17-150-2T 4.6
BAP4-26-2T-M12 33.3 _17-200— ‘
BAPA-30-2T-M16 381 BAP300R C16—-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 1.4 i ) BAP300R G16-17-250-2T 9.6
DT o G| BAPSOOR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 o i BAP30OR G16-18-200-2T 6.1
BAP4-32-3T-M16 40.4° BAP300R G19-20-150-2T 5.4
CpegHo 3aBbpwBaHe Ha BAP4-35-3T-M16 42.9 .
Copper and Aluminum . BAP300R C19-20-200-2T 6.1
BAP cromanen aece wron s BAP300R C20-20-120-2T 5.4
; 6 B S BAP300R €20-20-150-2T 5.4
End Milling Cutter BAP300R C20-20-200-2T 6.1
_ APKT1604-AL ZKO1 0.2 1.9 BAP300R C20-20-250-2T 9 6
BAP300R C20-21-120-2T 5.4
AoBBpWeade Ha BAP300R C20-21-150-2T 5.4
Coppersng AU BAP300R C20-21-200-2T 6.1
BAP300R C20-21-250-2T 9.6
APMT1135-TG ZN60 0.8 1.4 BAP300R (C24-25-150-3T 10.3
BAP300R ($24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R ($24-25-250-3T 14. 3
CermetcpeaH v IMHO CTOMaHa BAP300R C24-25-300-3T 20.4
Yactute VIMaT,ElOﬁpa 3aBbplleHoCT BAP300R 025_25_150_31' 10 3
® BAP300R ($25-25-200-3T 1.9
cneyndm BAP300R (25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 Dxdx USD BAP300R (€25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9 BAP300R (C25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP30OR 50-22-4T 15.3 gﬁggggs ggg—gg—ggg—g 181. 99
BAP300R 63-22-6T 20.4 —29=290— .
BAP400R 40-22-3T 10. 3 BAP300R (25-25-300-2T 19.0
BAP400R 50-22-4T 10. 3
BAP400R 80-27-6T 20.4 BAP400R (24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 | 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R C24-25-250-2T 11.9
BAP400R 125-40-7T 51.0 BAP400R ($24-25-300-2T 19.0
Cpeand rpyfia MexaHu4Ha oipaGotka BAP400R 160-40-8T 61.1 BAP400R (25-25-150-2T 7.9
oo HAle o
= BAP400R 250-40-12T 187.1 —Z297 20U~ .
; ” - APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR 300-60—14T 238 1 gﬁmggs g%g_%g_?gg_g 179_90
_ BAP400R 50-25. 4-4T 1.9 —20-150— .
| —— AT RS A2 [ & BAP400R 63-25. 4-4T 15.3  BAP400R (€25-26-200-2T 9.6
QBostorca s abis fennan BAP400R 80-25. 4-6T 23.9 BAP400R (25-26-250-2T 1.9
= SRR BAP400R 100-31. 75-6T 35.7 gﬁgjggg g%g-%g—?gg-g 132
. R APMT1 135PDER ZM90 0 8 2. 0 AL-BAP Anymununes ¢pesa c geceH bl'bJ'I. BAP400R 025_30_200_21_ 11 9
AL-BAP Aluminum Right-Angle End Milling Cutter BAP400R 025_30_250_21. 16.9
APMT1604PDER ZM90 0.8 2.7 BAP400R C25-30-300-2T 20. 4
BAP400R (€32-32-150-3T 13.6
O6paboTkaHa BMcoKa TEbpAoCT A0 HRC BAP400R €32-32-200-3T 15.3
BAP400R (€32-32-250-3T 18.9
s . - APMT1135PDER ZP20 0.8 1.6 BAP400R (€32-32-300-3T 23.9
— \ BAP400R ($32-32-350-3T 27.1
" S APMT1604PDER ZP20 0.8 2.3 BAP400R (€32-32-400-3T 35.7
 —
BAP400R (C32-35-150-3T 13.6
OGpafoTkae 0w, MaTepran BAP400R ($32-35-200-3T 15.3
BAP400R (32-35-250-3T 19.7
BAP400R (€32-35-300-3T 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R (€32-35-350-3T 27.1
AL-BAP400R 50-22-4T 16.9  BAP40OR ¢32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
OGpafoTras obL MaTepman AL-BAP40OR 80-22-6T 30.7  BAP40OR €32-40-200-3T 17.6
- AL-BAP400R 100-22-6T 54.6 BAP40OR €32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP40OR C32-40-350-3T 30.7
Y APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0  BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 22.1
0BpaBOTK A & 00U MaTEpHan AL-BAP400R 300-32-14T 340.3 BAP400R C32-50-200-4T 27.1

Hapg ueHaTta He BKIloYBa ToBapu, TaKCU U TaKCW.

LleHa Ha caenka B waTcku gonapu B Kutan.

BbNpPOoOCMU, MONnA, M3NparTeTe MmeMn:eva@Fﬁ'z/éY%Wcrﬂzg'tW


http://www.mzg.tw

®pe3sa 3a ppes3oBaHe Ha KpbIn HOoca

Machine-Clamped Round Nose Milling Cutter

CHUMKM Ha npoaykTa

cneundukaums

3aknoysaHe Ha BUAa Ha 3bOHUA KpbT

Locking Tooth Type Round Nose End Milling Cutter

cneyndmkauma
DxTxM

EMRR4-16-2T-M8
EMRR4-17-2T-M8
EMRR4-20-2T-M10
EMRR4-21-2T-M10
EMRR4-25-2T-M12
EMRR4-26-2T-M12
EMRR4-25-3T-M12
EMRR4-26-3T-M12
EMRR5-20-2T-M10
EMRR5-21-2T-M10
EMRR5-25-2T-M12
EMRR5-26-2T-M12
EMRR5-30-2T-M16
EMRR5-32-2T-M16
EMRWR5—-30-3T-M12
EMRWR5-32-3T-M16
EMRWR5-35-3T-M16
EMRWR6-25-2T-M12
EMRWR6—-26-2T-M12
EMRWR6-30-2T-M16
EMRWR6—-32-2T-M16
EMRWR6—-35-3T-M16

LleHa
usD

28.
28.
31.
31.
33.
33.
35.
35.
31.
31.
33.
33.
38.
38.
40.
40.
42.
33.
33.
38.
38.
42.

V= WWORNRPMA—_,_,LWOWOONNLWWOOOO

RDMW1204MOT-PM ZP30 R6 1.7
RDMW1605MOT-PM ZP30 R8 2.4
O6paboTka B 061y maTepuan
ii I i RPGT1003-AL ZKO1 RS 1.9
CpEAHOigEbpLIRAHE Ha
Copper and Aluminum
n RPMW1003MO ZN60 RS 1.6
RPMW1003 ZN60non chamfering| RS 1.3
~— RPMT1204MO ZN60O R6 1.9
Cermet cpenHo 1 huHO cTOMaHa
Yactute umat gobpa 3aBbplieHoCT
RPMTO8T2-JS ZP25 R4 1.1
RPMT10T3-JS ZP25 RS 1.4
O6paboTka B 06 MmaTepuan
o\. RPMT1204MO0 ZM90 R6 2.0
O6paboTka Ha Bucoka TBbpaoct o HRC 62 °
@ RPMT1204MO0 ZP30 R6 1.7
O6paboTka B 06 MmaTepuan
a\ ) RPMT1204M0 ZP60 R6 | 1.7
O6paboTka B 06w, maTepnan
: ” : RPMT1204-XM ZP25 R6 | 1.3
O6paboTka B 061 MaTepuan
° RPMI1003MO ZM90 RS | 1.7
O6paboTka Ha Bucoka TBbpaocT o HRC 62 °
' . RPMW1003MO ZP20 RS 1.3
O6paboTka B 06 MmaTepuan
RPMW1003MO ZP30 RS 1.3
O6paboTka B 06 MmaTepuan
\ ” RPMW1003MO ZP60 R5 1.3
O6paboTka B 06 MmaTepuan
RPMW1003-XM ZP25 RS 1.3

O6paboTka B 061, MaTepnan

®pesa 3a pasaHe Ha kpbrbn Hoc EMR Steel
EMR Steel Round Nose End Milling Cutter

cneundukaums
xdxT

EMR 5R50-22-4T
EMR 5R63-22-4T
EMR 5R80-27-6T
EMR 5R100-32-6T
EMR 5R125-40-7T
EMR 5R160-40-8T
EMR 5R50-25. 4-4T
EMR 5R63-25. 4-4T
EMR 5R80-25. 4-6T
EMR 5R100-31. 75-6T
EMRW 6R50-22-4T
EMRW 6R63-22-4T
EMRW 6R80-27-6T
EMRW 6R100-32-6T
EMRW 6R125-40-7T
EMRW 6R160-40-8T
EMR 6R200-40-10T
EMR 6R250-40-12T
EMR 6R300-60-14T
EMRW 6R50-25. 4-4T
EMRW 6R63-25. 4-4T
EMRW 6R80-25. 4-6T
EMRW 6R100-31. 75-6T

LieHa
usp

10
1.
20.
32.
51.
61.
1.
15.
23.
35.
10.
1.
20.
32.
51.
61.
119.0
187.1
238.1
1.9
15.3
23.9
35.7

—,ORPOVOWNOWO—_,rONMNPOW

The Above cneuundukauus Are RP.. Inserts,
RC ../RD .. Bnoxku n gpbxka, Mons nonutaire!

The Above cneundukauns Are RP..

Inserts,

RC.. /RD.. Inserts and handle, please inquire!

Hap ueHaTa He BKNoYBa TOBapu, TakCu U Takcu.
LleHa Ha caenka B waTtcku gonapu B Kutamn.

dpesa 3a ps3aHe Ha KPbIMM HOCOBE

Discarded Round Nose End Milling Cutter Toolholder

cneundukaums
DxDxLxT

EMR C10-4R10-120-1T
EMR C12-4R12-130-1T
EMR C12-4R13-130-1T
EMR C16-4R16-150-2T
EMR C16-4R16-200-2T
EMR C16-4R17-150-2T
EMR C16-4R17-200-2T
EMR C19-4R20-150-2T
EMR C19-4R20-200-2T
EMR C20-4R20-150-2T
EMR C20-4R20-200-2T
EMR C20-4R20-250-2T
EMR C20-4R21-150-2T
EMR C20-4R21-200-2T
EMR C19-5R20-150-2T
EMR C19-5R20-200-2T
EMR C20-5R20-150-2T
EMR C20-5R20-200-2T
EMR C20-5R20-250-2T
EMR C20-5R21-150-2T
EMR C20-5R21-200-2T
EMR C20-5R21-250-2T
EMR C20-5R25-150-2T
EMR C20-5R25-200-2T
EMR C20-5R25-250-2T
EMR C20-5R30-110-2T
EMR C24-5R25-150-2T
EMR C24-5R25-200-2T
EMR C24-5R25-250-2T
EMR C24-5R25-300-2T
EMR C25-5R25-150-2T
EMR C25-5R25-200-2T
EMR C25-5R25-250-2T
EMR C25-5R25-300-2T
EMR C25-5R26-150-2T
EMR C25-5R26-200-2T
EMR C25-5R26-250-2T
EMR C25-5R26-300-2T
EMR C25-5R30-150-2T
EMR C25-5R30-200-2T
EMR C25-5R30-250-2T
EMR C25-5R30-300-2T
EMR C32-5R35-150-3T
EMR C32-5R35-200-3T
EMR C32-5R35-250-3T
EMR C32-5R35-300-3T
EMR C32-5R35-350-3T
EMR C32-5R35-400-3T
EMR C32-5R40-150-3T
EMR C32-5R40-200-3T
EMR C32-5R40-250-3T
EMR C32-5R40-300-3T
EMR C32-5R40-350-3T
EMR C32-5R40-400-3T
EMR C32-5R50-150-4T
EMR C32-5R50-200—4T
EMRW G25-5R25-150-2T
EMRW G25-5R25-200-2T
EMRW G25-5R25-250-2T
EMRW G25-5R30-150-2T
EMRW G25-5R30-200-2T
EMRW G25-5R30-250-2T
EMRW G32-5R35-150-3T
EMRW G32-5R35-200-3T
EMRW G32-5R35-250-3T
EMRW G32-5R35-300-3T
EMRW G25-6R32-150-2T
EMRW G25-6R32-200-2T
EMRW G25-6R32-250-2T
EMRW G25-6R32-300-2T
EMRW G32-6R32-150-2T
EMRW G32-6R32-200-2T
EMRW G32-6R32-250-2T
EMRW G32-6R32-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R35-150-2T
EMRW G32-6R35-200-2T
EMRW G32-6R35-250-2T
EMRW G32-6R35-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R40-150-3T
EMRW G32-6R40-200-3T
EMRW G32-6R40-250-3T
EMRW G32-6R40-300-3T
EMRW G32-6R40-350-3T
EMRW G32-6R40-400-3T
EMRW G32-6R50-150-4T
EMRW_C32-6R50-200-4T

LieHa
usb

-

ONINOINONOOO IO OIWWW

Oo~NNI

—_
O W

[N
VwoN

o~

OGN
Wow=owow

L, 0O,V OR O R OWN—VOWOrROVOWVWOrOVOWWTP L O OR VWOV OVOWROROWORrT PPV OTVOV GOV }GR DGR R 202 G002 —2O0_0WwWww

HﬂKaKBMB'bﬂpOCM,MOJ'IFI,V|3I'IpaTeTeMMeﬁﬂ:eva@m.Z/éY%Wdﬂzg'tw

N
N



http://www.mzg.tw

Machine-Clamped Milling Cutter

Machine-Clamped Milling Cutter

Product Product Product Product
Pictures cneuundukauyms USsSD Pictures cneuundukayms Pictures cneundukauns USD Pictures cneundukauns  USD
[oBbpwmnTenHu paboTu Ha YyryH P3200-RA ZP10 74
a aaranen naTepnan P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
| -| 8.3
. ’ SEHT1204AFFN GBN1| 7. 1 PR e 5s
) P3200-R10 ZP10 11.9
» [osbplBaHe Ha Protle Fine billng of Eg%gg:mé' ipﬂj“’ §? 13 PNMUO9O5GNEN-MJ 800-08T308M-C-G
} | Copper and Aluminum O6umatepuan | p3200-R16 ZP10 40.3
SEHT1204AFFN PCD1 | 7.1 e henaiat i I
ZPFG120 ZM55 17.1 PNMUO9O5XNER-GM 800-08T308M-1-G
5 ZPFG160 ZM55 20. 4
- PEAHO 3aBbpLIBaHE Ha ZPFG200 ZM55 23.9
b Capper el Al ZPFG250 ZM55 32.4
| | SEHT1204AFFN ZKO1| 1.7 ézz?::gﬂfvsmcss i SNMU130508EN-GM 800-09T308H-P—G
BNM120 ZM55 17.1
BNM160 ZM55 18.6
P BNM200 ZM55 23.9
e BNM250 ZM55 32.4 WNMUOBO60BEN-SM R390-11T308-PM
IGERELER BNM300_ZM55 41.0
SECA1204AFTN ZP30| 3.1
3PKT100408R—M
:Liakn.»owsam T™N 366 Ctbepl./NeH kpaeH cpesa 3PKT150508R_M TR
ocking Tooth Type Spherical End Milling Cutter 3PKT190608R-M
O6paboTka Ha cpefieH 3agbpluek
Ha o6uua matepuan
3.1
| sEHT1204AFSN ZM9O XJMG1204 é S-R215. 44-15T364M
Hofggz‘f;,aw:j:ppweaﬂne” sapuer HNGX0906-FF S8 |naN3102c
cneundukaumsa
SEKT1204AFTN ZM90 DxM
T2139M-5R-M5 . WNMX060312ZNN-MM P | criPs00sy
T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM GR1P4004Y
T2139M-8R-M8 33.3
. T2139M-10R-M10 35.7
KM Steel 45 ° ®pesa 3a hpesoBaHe Ha nuua T2139M-12. 5R-M12 38. 1
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 gnggggggggg-m LNKX1506-G
OTxBbpneH ChepuyeH dpesosu ®pesa _—
Discarded Spherical End Milling Toolholder CNHX100508T "‘- WXCU080612T
0T g = =14 CNHX131108T P 4
| |
L LNKX1005-Y
- LNKX1206-Y
cneundukaums LLeHa AXNTO60208R-EM !. LNKT1507
dxDxLxT usbD
C10-4R-100-1T 8.9
C12-4R-130-1T 8.9 BLMPO603R-M - $229. 0300. 32
C16-4R-150-1T 10.7
cneundukaumnsa Ha C10-5R-120-1T 8.9
DxdxT D C12-5R-150-1T 8.9
C16-5R-150-1T 10.7 BLMPO904R—-ML SOEX090408-13
KM12-50-22-4T -9 12139 C12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25.4 g}gg g]g—gs—;gg—ﬂ 1(2). 7
KM12-100-32-5T 35.7 —6R-200— 12.6
KN 2—125-40—6T 510 %}gg 81 2_35_% SS‘H 1(1)'8 BLMP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 —OR—ZU0= -
KM12-200-40-8T 136.0 12139 G20-8R-200-1T 16.7
KM 2-250-40-10T 204 0 12139 G25-8R-250-1T 19.7
KM12 300-60-12T 955 0 12139 G20-10R-150-1T 13.9 BLMP1306R-M SP1RH5-LT-L
: 12139 C20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
K1 2-80-25.4-51 50 Ta% G0 etao s
—80-25. 4— . T 5-12. 5R-150-1T 16.7 LT
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
T2139 €25-12. 5R-250-1T 22.1
KM Aluminum 45° Face Milling Cutter T%}gg g%g—]% 5R—:3388—}T 25.0
o T —12. 5R-300-1T 27.9
KM Aluminum 45 FaceDM\ng Cutter 12139 632-15R-150-1T 8 3 ZNHU080-08 - APMT1003-NN
T2139 €32-15R-200-1T 21.0
. T2139 €32-15R-250-1T 23.9
T2139 €32-15R-300-1T 26.7 3
T2139 32-15R-350-1T 30. 4 SNMX1205XTN q } SEKN1203AFTN-NN
T2139 €32-16R-150-1T 18.3
T2139 €32-16R-200-1T 21.0
T2139 €32-16R-250-1T 23.9 —
12139 €32-16R-300-1T 26.7 f
12139 C32-16R-350-1T 30. 4 ggmgggggig; SEKR1203AFTN-NN
GEe s 23.9 SONT070306-DP
G16-8R=200 29.7 SOMTOSTIS0Ggnis
€20-10R-150 31.7 SONTOZTIS05SDE TPUN160308-NN
620-10R-200 37.6 S
025-12. 5R-150 39.7
cneuyundukaums G25-12. 5R-200 49.6
DxdxT et 8%31%5?3550 22:‘7‘ Q AXMT123508PEERG u APKT150412-PM
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF (C32-15R-250 59.6
AL-KM12-80-22-5T 30.7 ABPF (€32-15R-300 79.3
AL-KM12-100-22-5T 54.6 Insert:BNM.. ~ | RPHX1204M6EN-M31 SPMT120408—PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg >
AR oo eT i BNML C16-8R-150-1T 15.0
AL-KM12-250-32-10T 272.1  BNML G16-8R-200°1T 17.9 XNEX0B0608-MD15 ONHU060408-PH
: BNML C20-10R-150-1T 21.0 ONHUO8T508—PM
e 00ns 22 9403 BNML G20-10R-200-1T 23.9
Qt—mg-gg-gg- f{-ﬂ ;g? BNML G25-10R-250-1T 29.7
i —63-25. 4~ . BNML C25-12. 5R-150-1T 25.0
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6 BNML C25-12. 5R-250-1T 33.3

Hapg ueHaTta He BKIloYBa TOBapwu, TakCu n Takcu.

LleHa Ha caenka B waTcku gonapu B Kutan. _
HﬂKaKBManpocm,Monﬂ,M3npaTeTeMmeﬁn:eva@mz/é‘f%W(_{HZg'tw


http://www.mzg.tw

[MocTaBeTe Tuna bvp3a bopmawmnHa

Insert Type Quick Drill

3akniouBaHe Ha B naa Ha 3bbute Baknousaw TN 3 6 CdepuueH kpaeH dpesa

Py
O

CHWMMKM Ha NpoaykTa cneun@ukaumsa
Locking Tooth Type Right-Angle End Milling Cutter | ocking Tooth Type Spherical End Milling Cutter poay L H

WCMX030208 zP25 0.8 1.4
WCMX040208 ZP25 0.8 1.4
AL M WCMX050308 ZP25 0.8 | 1.7
WCMX06T308 ZP25 0.8 1.9
£ O6paborka jia colinaxn WCMX080412 ZP25 1.2 | 2.6
& Q6w matepuan

&/ Insert: R390-11T3.. 4 WCMX030208 ZP30 0.8 2.3
._ WCMX040208 ZP30 0.8 2.3
cneundukal s Hena cneundukalus Uena ' .,Q- WCMX050308 ZP30 0.8 | 2.4
LAk XBX —— WCMX06T308 ZP30 0.8 | 2.6
R39011-16-2T-M8 28.6 BNM-10-R5-M5 35.7 06paBoTka Ha CoHAaXM WCMX080412 ZP30 1.2 3.7

R39011-17-2T-M8 28. 6 BNM-12-R6-M6 35.7 Matepuanu ¢ Bucoka TeLpAOCT
R39011-20-2T-M10 31.0 BNM-16-R8-M8 38. 1 SPMG050204 ZP25 0.4 1.4
R39011-21-2T-M10 31.0 BNM-20-R10-M10 38.1 SPMG060204 ZP25 0.4 1.4
R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7
R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9
R39011-30-2T-M16 35.7 Oﬁpg%ﬁ";aizcj:ﬁ”” SPMG110408 ZP25 0.8 2.3

R39011-32-2T-M16 35.7 £

R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7
R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9
SPMGO7T308 ZP30 0.8 2.9
3aknioyBaHe Ha B unaa Ha 3bbute Bond)paMoBa CTOMaHa, aHTMBM6paLMOHeH WHCTPYMEHT SPMG090408 ZP3O O 8 3 3
Locking Tooth Type Right-Angle End Milling Cutter ~ Tungsten steel anti-vibration tool rod 06paboTka Ha COHAaXM SPMG110408 ZP30 0.8 3.6
MaTepwanmcEmcoKa TBLPAOCT SPMG140408 ZP3O O 8 5 4

BmbkBaHe Ha ToaneTtHa 6bp3a 6opmalunHa

WC Insert Type Quick Drill

Insert: JDMT0702..
cneundukauns LieHa
DxTxM usp
JDMTO7-11-2T-M5 35.7 8 12 XCMT040104 61.7| 91.4 - -
JDMT07-12-2T-M5 35.7 10 12 XCMT050204 57.1| 85.0 -
JDMT07-12-2T-M6 35.7 12 16 XCMT060204 47.1 65.3 = -
JDMTO7-13-2T-M6 35.7 14-14.5 20 WCMX030208 25.3| 32.9 37.6 | 67.1
JDMT07-14-2T-M6 35.7 15-20 25 WCMX030208 25.3] 32.9 37.6| 67.1
JDMT07-16-3T-M8 42.9 cneundukaums AETER  20.5-24.5) 25 WCMX040208 35.3| 42.6 50.3| 72.9
JDMTO7-17-3T-M8 42.9 dxDxLxM usD 25 32 WCMX050308 35.3| 42.6 50.3 ] 72.9
_08—100— 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
L, RIS, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.9 ] 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
MEHS_}S_}gg_mg gg' g’ 4 32 WCMX06T308 | 69.0| 76.7 | 96.0 | 125.7
BaknioyBaHe Ha B naa Ha 3bbuTe : 42 40 WCMX06T308 69.0 76.7 96.0 125.7
Locking Tooth Type Right-Angle Kpaii 3a ¢pesoBaHe —12— —| 43-45 40 WCMX080412 69.0 76.7 96.0 125.7
mgt}%_}%_lgg_mg 17052' 04 46-50 40 WCMX080412 | 75.4| 93.3 | 102.9| 137.1
MFL12-12-200-M6 135 7 51-55 40 WCMX080412 | 85.0| 109.7| 130.3| 148.6
M ) 56-57 40 WCMX080412 89.0] 112.4| 171.4| 165.7
_15_150— 58-59 40 WCMX06T308 89.0| 112.4| 171.4| 165.7
mgt}g_lg_;gg_mg 1:7”8 2 60-63 40 WCMX06T308 93.3| 123.3| 197.9| 201.1
MFL16-16-100-M8 114' 3 64-65 40 WCMX06T308 100.3 137.1] 224.0| 231.0
Q MFL16~16-150-M8 131 0 66-68 40 WCMX06T308 101.7 151.0| 228.6| 240.0
Insert: AXMT0602.. MFL16-16-200-M8 178. 6 69-70 40 WCMX06T308 102. 160.0 240.0| 262.9
creundukaLus MFL16-16-250-M8 226.1
DxTxM SP BkntoyeTe 6bp3a 6opmalumHa ~
AXMT06-11-2T-M5 35.7 MFL19-19-150-M10 204.7 sp Insert Type Quick Drill
AXMT06—-12-2T-M5 35.7 MFL19-19-200-M10 273.9
AXMT06-12-2T-Mé6 35.7 MFL19-19-250-M10 326.1 d
AXMT06-13-2T-M6 35.7 MFL20-20-100-M10 154.7
AXMT06—-16—-3T-M8 42.9 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 42.9 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 2
Locking Tootn Type Fast Kpait 32 bpesosane AR 3739 "43-14.5 | 20 | SPMGO50204 | 30.4| 35.7| 44.7| 78.6
BaknioyBaHe Ha ¢ pe3a 3a 6bp30 3aBbpLIBaHE Ha BUAaA HaMSEEMZT48—24—1 50-M12 273.9 15 - 25 SPMG050204 30.4 35.7 44.7 78. 6
i 15.5-20 | 25 SPMG060204 | 30.4| 35.7 | 44.7] 78.6
AL AL 3761 20.5-21.5| 25 | SPMGO60204 | 41.9| 47.6| 60.7| 83.3
- MFL24-24-250-M12 450.0 . : - - : -
9 B iyed 22-24.5 | 25 SPMGO7T308 41.9| 47.6| 60.7| 83.3
\M MFL24-24-300-M12 535.7 .
oL AENL 25-27.5 32 SPMGO7T308 50.3| 54.7 65.4| 91.4
MFL25-25-150-M12 273.9 28-30 32 SPNG090408
MFL25-25-200-M12 376. 1 50.3| 4.7 65.4) 91.4
e 30.5-33.5| 32 SPMG090408 66.9| 72.9 | 88.1] 108.6
M) MFL25-25-250-M12 450.0 =
o ElannL| 34-40 32 SPMG110408 66.9| 72.9 88.1| 108.6
ALl 557 4 32 | SPMG110408 | 79.0| 88.1| 105.4] 1
MFL25-25-350-M12 750.0 : - 9. 41137, 1
Cnel—lgd?rl/laal-l”ﬂ Lluesga 42-45 40 SPMG140512 79.0] 88.1 105.4] 137.1
I —_29_90N_| 46-50 40 SPMG140512 88. 1 98.9 125.7] 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159' 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428' 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-H12 357 Ly reu s v e tan e nyne ST08, |40, SPHGT10408 | 11T 0 161 9| 280.0[ 300.0
AJX09-28-2T—M12 357 wen o e T I LT 6970 S0 ¢ 1| T SPMGT 10408 Va4t g 174 9| 290. 0| 328.6
AJX12-30-2T-M16 40. 4
AJX12-32-2T-M16 404+ Look tooth e o0l 100k Specif cation are complete Mntoc WDXT ../ GPMT ... Tun cknaa Bbp3o TpeHuposka Ctoku, lo6pe aownu B 3anuteaHe!
AJX12-35-2T-M16 47. 6  Pleaseinquire for cneundukauus not listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

Hap ueHaTta He BKNo4YBa TOBapu, TakCu 1 TaKkCu.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HﬂKaKBManpocwymonﬂymznpaTeTeMmeﬂn:eva@mgé%WdﬂZg'tw



http://www.mzg.tw

CKYyYeH MHCTPYMEHT

Boring Tool

HUMKUN Ha npoAayKT&aneundukauns M@ariasoHgnanas Llena

NBH2084 Mpo6uBeH MHCTPYMETT™
(Mpo6usHa o6nact:8-280mm) .‘“,

Whpekcupyemn gea puba RBH19C | LBK1 19-25 28.6 ’
Fpy6mpobueer v pEHI5C |LBK2| 25-33 | 28.6 P, =
R wodiSe | RBH32C |LBK3| 32-42 | 31.0 7 f, W 2y
RBHAOC |LBK4| 40-55 | 40.4  NBH2084 Boring Tool ¢ // I (\
<8 RBH52C |LBK5| 52-70 | 61.9  (Mpobuska otnact: 8-280mnf)” [ /|
~ RBH68C LBK6 68—92 83.3 Fine-Tuning Accuracy 0.01mm
RBH120C |LBK6| 120-164 | 119.0
RBH160C | BST | 160-204 | 135.7  A®bPBOYCTO#4MB MHCTPYMEHT
RBH200C | BST | 200-310 |273.9  SBJ2008-32 8-11 8.6
RBH300C | BST | 300-410 |544.0 SBJ2010-40 10-13 8.6
INSert:CCMT. RBH400C | BST | 400-510 | 583.3  SBJ2012-53 12-17 8.6
RBH500C | BST | 500-610 |681.0  SBJ2016-68 16-21 8 6
UHaekcupyemn ®una HacTponGEBH20 LBK1 20—26 135. 7 23j§8;8:;g2 16-21 20.4
Mpewwswonposusna uapana | ol 2533 |154. 7 20-130 | 8.6
Indexable Fine-Tunablg . SBJ2020-125 20-130 20.4
Npeunanocs Boinglc@BH32  [LBK3| 32-42 |163.1  $pJ2020-150 -
CBH40  |LBK4| 40-55 |181.0 20-130 | 23.9
GBH52 |LBKS| 5275 |204.7  spysoabot 207130 | 28.6
CBHOB  |LBK6| 68-102 |238.1  ap 2025144 2L 8o
CBH100 |LBK6| 100-152 [273.9  $BJ2025-150 i
CBH150 |LBK6| 150-202 |323.9 SBJ2025-200 25-135 | 28 6
CBH200 | BST | 200-310 |714.3 SBJ2030-115 30-140 8 6
CBH300 | BST | 300-410 [821.4  $B12030-173 30140 | 23.9
CBH400 | BST [ 400-510 [919.0  $BJ2030-200 30140 | 286
CBH500 | BST | 500-610 (1023.9 SBJ2020-L 120-280 | 8 6
EWN20 | k1| 20-36 |123.9 _ SBJ2020-150L 120-400 | 23.9
Ewmgg gEg %g:gg li; 8 B3apaiTe npobuBaly UHCTPYMEHT
EWNAT | CK4 | 41-74 |163.1  NBH2084soring head 8-280 | 138.1
Fine-Tuning EWN53 CK5 53-95 178. 6 R8-NBH2084-8P 8-280 233.3
Accuracy 0.01mm i NT30-NBH2084-8P .
EWN68 | CK6 | 68-150 |197.6 8-280 | 233.3
EWN100 | CK6 | 100-203 |214.3 ~ NTAO-NBH2084-8P 8-280 | 233.3
. NT50-NBH2084-8P 8-280 309. 6
Mpo6usHa ckoba 3a MHCprMeHTEWN1 -1 20-25 13.1 glgg—“gngggj_gg 8-280 233.3
CBH1-2 25-31 | 13.1 A ~ 8-280 | 273.9
GomenmeTpeT AT CBH1-3 30-36 | 13 1  SK40-NBH2084-8P 8-280 | 278 6
CBH2-1 25-33 | 13.1 SK50-NBH2084-8P 8-280 | 309.6
CBH2-2 32-40 | 13.1 —
CBH2-3 39-47 13.1 NBJ16 Mpo6ueeH MHCprMeHT%
: (Mpo6usHa obnact:8-50mm) >
CBH3-1 32-42 | 13.1 . o
CBH3-2 41-51 | 13.1 y N
CBH3-3 50-60 | 13.1 _ N
CBH4-1 41-54 | 131 NBJieBoring Tool ﬁb) \l\X\ \
. - pobusHa obnact: 8-50mm \.
/] g}j ggﬁj_% 2?_32 12 1 Fine-Tuning Accuracy 0.01mm
A e S .
| — 1 CBH5-1 53-70 | 13.1
CBH5-2 65-82 13.1 cneundukaumsa Avariasonguanas  Lena
83:2_13 6788_19050 lg 1 [bpBOYCTONYNB UHCTPYMEHT
100-153 13' 1 SBJ1606—-24 6-9 8.6
CBH6-2 94-126 | 131 ~ OBJ1608-32 8-11 | 8.6
126-179 13' 1 SBJ1610-40 10-13 8.6
CBH6-3 118-150 | 13. 1 SBJ1612-53 12-15 | 8.6
Insert:TP.. 150-203 | 13. 1 SBJ1614-60 14-17 8.6
SBJ1616-68 16-21 8.6
SBJ1620-83 20-26 | 86
Bbaete cky4YeH UHCTPYMEHT 3 L SBJ1620-200L 2026 28. 6
BE12A M6 16.7 SBU1625-90 i P
BE Boring Tool BE14A M6 16 7 SB\.H 625_1 50|_ -
BE16A M6 | 16.7 25-31 | 23.9
BE18A MO | 167 aoyiéom200k 25-31 | 28.6
BE20A WO | 167  ooloa 30736 ) 8¢
BE22A WMo | 167  oouteso-tooL 30-36 | 23.9
BE24A MO | 167 aoylé0m200L 30-36 | 28.6
BE26A WMo | 167  ooy1635-90 35-41 | 8.6
BE28A WMo | 167 ooulessTiooL 35-41 | 23.9
BE30A MO | 167 ayédom200k 35-41 | 28.6
BE32A Wo | 190  oou1640-90 40-46 | 8.6
BE34A Wo | 190  ooute4o-TooL 40-46 | 23.9
BE36A MO | 239  aoyléadm200k 40-46 | 28.6
BE38A Mo | 239 oooa T I
BE40A WMo | 239  ooyleasiooL 4551 | 23.9
: SBJ1645-200L 45-51 | 28.6
EC npeBkntoyBaly pbkag EC1608 — 14. 3 B
BapanTe npobuBaly MHCTPYyMEHT
EC Conversion Sleeve Eglglg - 13 g
- . NBJ1 6Boung head 8-50 138.1
EC1614 - 14.3 NT40-SBJ16-55-12P 850 | 233.3
NT50-SBJ16-65-12P -
Bondpamcronata | ST08-W5—-100L M5 59.6 BT30-SBJ16-55—12P 2_58 %33' J
5 33.3
Tungsten Steel ST10-W6-110L M6 69.0 BT40-SBJ16-55-12P 8-50 | 309.6
STI4W6-160L | M6 |119.0  geoo-on16-60-12p o= 2739
— T16W10-160L] W10 1357  oxao-oBU16-60-12P g | 2786
STI6-W0-180L] W10 |150 0  Ro0 SBJ16-65712P SR 3078

duHa HacTpoiika Ha HBOR

Ppesa (TOYHOCT Ha puHa HacTporika 0.002mm)

HBOR Fine-Tuning Boring -
Cutter (Fine-Tuning
Accuracy 0.002mm)

cneuundukayms avarnasongvanas:  Llena
HBOR25 Boring Cutter
HBOR25M (29_38) Boring head 29-38 666.7
HBORZSM (29-38) Back Boring 29_38 666.7
BT30-HBOR25P 857.1
BT40-HBOR25P 857.1
SK30-HBOR25P 857.1
SK40-HBOR25P 857.1
HSK63A-HBOR25P 976.1
CA0602-09Tcarbide Boring 2-3.2 59.6
CA0603_1 6TCarb\dc Boring 3_4 2 59.6
CA0604-22Tcarbide Boring 4-5.2 59.6
CA0605-27Tcarbide Boring 5-6.2 59.6
CA0606—32TCarb\dc Boring 6-7. 2 59.6
CB06050-21 ( CC03) 5-6 123.9
CB06055-26 ( CC03) | 5.5-6.5 | 123.9
CB06060-26 ( CC03) 6-7 123.9
CB06065-31 ( CC03) | 6.5-7.5 | 123.9
CB06070-31 ( CC04) 7-8 123.9
HBOR32 Boring Cutter
HBOR32M (36-52) Boring head 36-52 800
HBOR32M (36—52) Back Boring 36_52 800
HBOR40 Boring Cutter
HBOR4OM (44~68) &oring head 44-68 | 833.3
HBOR40M (44-68) Back Boring 44-68 | 833.3
HBORS50 3apaitte npo6usauy uHCTpyMeH T
HBORSOBM (57_90) Boring head 57-90 742.9
HBOR50BM (57_90) Back Boring 57-90 742.9
BT30-HBOR50 (06-90) 6-90 857.1
BT30-HBOR50 (06-90) —14P 6-90 1190. 4
BT40-HBOR50 (06-90) 6-90 857.1
BT40-HBORS50 (06-90) —14P 6-90 1190. 4
BT50-HBOR50 (06-90) 6-90 904.7
BT50-HBOR50 (06-90) —14P 6-90 1273.9
SK30-HBOR50 (06-90) —14P 6-90 1273.9
SK40-HBOR50 (06-90) —14P 6-90 1273.9
SK50-HBOR50 (06-90) 6-90 904.7
SK50-HBOR50 (06-90) —14P 6-90 1273.9
HSK63A-HBOR50 (6-90) ~14P|  6-90 | 1309. 6
HBORG3 3apaitte npo6usauy uHcTpymeH T
HBOR63BM (70_1 10) Boring head 70-110 804. 7
HBOR63BM (110-150) soringreas | 110-150 | 804. 7
HBOR63BM (70-110) ack Boring| 70-110 | 804. 7
HBORG3BM (110-150) sacksoring | 110=150 | 804. 7
NT40-HBOR63 6-150 |1071.4
NT40-HBOR63 (6-150) -15P | 6-150 1381
NT50-HBOR63 6-150 1119
NT50-HBOR63 (6-150)—15P | 6-150 |1428.6
BT40-HBOR63 6-150 |1071.4
BT40-HBOR63 (6-150) 15P 6-150 1381
BT50-HBOR63 6-150 119
BT50-HBOR63 (6-150) 15P 6-150 |1428.6
SK40-HBOR63 (6-150) 15P 6-150 1381
SK50-HBOR63 (6-150) 15P 6-150 |1428.6
HSK63A-HBOR63 (6-150) 15P|  6-150 | 1452.4
Boring Accessories
Boring Accessories
BR1606-21 (WBGT0601. . L) 6-9 23.9
BR1608-28 (TBGT0601. . L) 8-11 23.9
BR1610-35 (TBGT0601. . L) 10-13 23.9
BR1612-42 (TP. . 09. . L) 12-15 23.9
BR1614-50 (TP. . 09..L) 14-17 23.9
BR1616-60 (TP..09..L) 16-20 23.9
BR1620-65 (TP. . 11. . L) 20-24 23.9
BR1624-68 (TP. . 11..1) 24-28 23.9
BMS 35.7
SRTP2938 (TP. . 09..L) 28-38 35.7
SRTP3652 (TP. . 09. . L) 36-52 35.7
SRTP4468 (TP. . 09. . L) 44-68 4.7
BM8 9.6
SRTP70110(TP. . 11..L) 70-110 | 47.6
SRTP110150 (TP. . 11..L) 110-150 | 47.6

Hap ueHaTa He BKNoYBa TOBaApU, TakCu U TakCu.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HﬂKaKBVIBbﬂpOCI/MMO]'IFIYM3I'IpaTeTeMMeﬂﬂ:eva@m.Z/éY%Wdﬂzg'tw


http://www.mzg.tw

CKYYeH UHCTPYMEHT

Boring Tool

BSATpy6 npobwn H  Hpy&npobuseH Hox Holder BST/NBH Toolholder, LBK Toolholder CK Toolholder
BSA Rough ¢ Rough Boring Cutter Holder BST/NBH / LBK Toolholder CK Toolholde
Boring Cutter, P | TBS9..-L \\“& o Toolholder —

&P

cneundukaums ‘Q Llena cneuundukaums Llena ‘—l—‘"

TBS910-36-L  [TPO9| 1.9 BT30-NBH2084 5.7 '
cneundukaumnsa Llena TBS913-48-L 111 11,9 BT50—NBH2084 59. 6 cneundukaums Llena cneundukaumns Liena
BT40-BSA25-120 | 47.0  IBS913-6-L 11nit) 1.9 o Ronioee 527 BT30-LBK1-55 | 21.0  BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6 12220970 1011|110 NT50-NBH2084 714 BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 50.0  1BR019-90L |Tc1e| 10 0  SK50-NBH2084 714 BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 TBS919-85-L | TC16| 19 0  BBT40-NBH2084 1547 BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 | 63. 1 TBS919-105-L |TC16| 23 9  EBISO-NBH2084 2V} BI30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4  TBS925-100-L |TC16| 31.0  GAT50-NBH2084 059  BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 — HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 o018 \ 1S040-NBH2084 46,4 BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 E— (5050 MNEtigoo4 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 N3 NoHo064 95 4 BT40-LBK1-165 | 35.7  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R 9 MT4-NBH2084 472.9  BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TRS910-45-R "9 NMT5-NBH2084 52.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R 9 MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1 TBS913-65-R .9 MTB3-NBH2084 42,9 BT40-LBK2-130 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 953 TBS916-60-R Lt 29 BT40-LBK2-185 | 35.7 BT40-CK3-135 | 44.7
BT50-BSA72-285 | 131.0  TBS916-80-R -9 \ITB6-NBH2084 45 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg]g:gg:g : 8 R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3 222,07 r 0 ') BT40-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 2976 1BS019-105 "o BT40-NBH2084-150L | 904  BT40-LBK3-165 | 35.7  BT40-CK4-150 44.7
BT50-BSA105-285| 381.0  TBS925-100— 0 prao-NBHZ08a-a00L | 17 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSATpy6 npo6wusen «IBSP25-135- 1 BT50-NBH2084—150L 90: 4 BT40-LBK4-85 21.0 BT40-CK5-60 35.7
BT50-NBH2084-200L | 119.0 BT40-LBK4-115 21.0  BT40-CK5-100 35.7
BSA Rough . o BT50-NBH2084-250L | 148.9 BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring Cuttir,":""" - o BT40-BST—70 467  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
: BT40-BST-100 667 BTAO-LBKA-175 | 35.7  BT40-CK6~100 35.7
CBS908-23-L  10C061 119 Eﬁg_gg_;gg 5;471 BT40-LBK4-220 | 59.6  BT40-0K6-150 44.7
CBS908-30-L [ CCO6| 11.9 BT50-BST-100 66. 7 BT40-LBKS-75 21.0
— CBS910-36-L | CCO6| 119 BTB0-BST-150 994 BT40-LBK5-125 | 28.3  BT50-CK1-115 75.0
cney au, CBS910-45-L ccos6l 11.9 BT50-BST-200 83 3 BT40-LBK5-175 35.7 BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4  CBS913-48-L |CC09| 11.9  BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6 CC09| 11.9  BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 CCO9|( 11.9  BT50-BST-350 134.6 BT40-LBK6-115 21.0  BT50-CK2-135 82.1
BSA62-90-LBK5 | 41.7 gooe| 139 BIo0 BT A% 1587 BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
BSA72-110-LBKé 51.1 cc12] 19°0 BT50-BST-500 738 1  BT40-LBK6-165 35.7  BT50-CK2-235 95.3
CBS919— cc12 0 SK40-BST-100 92.9 BT40-LBK6-240 59.6  BT50-CK3-110 75.0
BSB Tpy o mpobumeen Hid10- 0019|239 SK40-BST-150 123.9 BT50-CK3-140 82.1
BSB Rough CBS925- cc12| 31.0 gﬁgg;ggmgg 19223 99 BT50-LBK1-115 53.6  BT50-CK3-175 78.6
Boring Cutter CBS925- CC12| 38.1  gk20-RaT-200 1237 BT50-LBK1-145 | 59.6  BT50-CK3-290 140.7
N —— SKB0_BST—250 155 4 BT50-LBK1-200 | 80.4  BT50-CK3-300 140. 7
- - —— BT50-LBK2-110 | 53.6  BT50-CK3-350 189.3
LBK yasmxTen . BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
LBK Extension Rod -t BT50-LBK2-175 | 65.4  BT50-CK4-160 78.6
. BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
cneundukaums BT50-LBK3-125 53.6  BT50-CK4-270 140.7
. BT50-LBK3-140 | 59.6  BT50-CK4-300 140. 7
EE{S_ESE%S_} gg j;ﬁ 2 tﬁﬂ-%-ég 1177 BT50-LBK3-155 | 59 6  BT50-CK4-350 189.3
BT40-BSE50-165 | 53.6 LBK3-3-30 14.3  BT50-LBK3-185 | 5.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 626 LBKa-a—as 145 BTS0-LBK3-215 | 75.0  BT50-CK5-165 78.6
' BT50-LBK3-255 | 91.7  BT50-CK5-210 101.0
BT40-BSB72-165 | 71.4 LBK5-5-60 19.0
BT40-BSB90—-180 89.3 LBK5-5-90 21.4  BT50-LBK3-290 108.3 BT50-CK5-270 140.7
BT50-BSB25-135 | 80 4 LBK6-6-60 214 BT50-LBK3-300 | 108.3  BT50-CK5-300 140. 7
BT50-BSB38-180 | 81.9 LBKo-¢-199 59 BT50-LBK3-350 | 148.9  BT50-CK5-350 189.3
BT50-BSB50-180 | 86.4 5-R N TBK npeotpasysall pr - BT50-LBK4-115 53.6  BT50-CK6-95 75.0
BT50-BSB50-240 92.4 CBS925 100-R . Y BT50-LBK4-145 59.6  BT50-CK6-155 78. 6
BT50-BSB62-195 | 953  CBS925-135-R @ BISO-LBK4-160 | 654  BT50-CK6-215 101.0
BT50-BSB&2-270 | 107. 1 ' BT50-LBK4-205 | 75.0  BT50-CK6-250 140. 7
BT50-BSB72-195 | 104. 3 E\ \\° LBK Conversion Slee BT50-LBK4-255 | 91.7  BT50-CK6-300 140. 7
BT50-BSB72-285 | 140.0 - BT50-LBK4-305 | 108.3 BT50-CK6-350 | 189.3
_ . cneuudukauus BT50-LBK4-350 148.9
BT50-BSB90-210 | 163.9 LBK2-1-36 31.0 | RKE— v CK
BT50-BSB90-300 | 208.3 TBS410-45 TPO9|[ 11.9 LBK3-1-41 31 o BT50-LBK5-105 53.6  Yabmkuten
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9 LBK3-2-37 31.0 BT50-LBK5-180 65.4 CK Extension Rod o
BT50-BSB105-285 | 383 1  1BS413-60 TP11| 11.9  LBK4-1-58 357  BT50-LBK5-240 | 75.0 —
i TBS416-75 TP11[11.9  LBK4-2-50 35.7  BT50-LBK5-300 | 108.3 .g
BSB-LBK I'p y 6 np o 6u s cTBS419+90 TC16] 19.0 LBK4-3-50 35.7  BT50-LBK5-350 148. 9
TBS419-115 TC16( 19.0 LBK5-1-60 40.4° BT50-LBK6-95 53 6 —
BSB-LBK Rough TBS425-130 Tc16/| 38.1 LBK5-2-54 40.4 _ _ ’
Boring Cutter LBK5-2-74 40.4  BTS0-LBKé-155 | 65.4
LBK5-3-47 40,4 BT50-LBK6-170 65.4 = =
LBK-4-42 0L BTO0BKE20 | 100 eraag o
Ay : -LBK6— .3 CK2-2-30 29.7
cneundukaums LBK5:4:67 40. 4 BT50-LBK6-350 148.9  CK3-3-30 29.7
[ ] IiKed-63 i 4 OK4-d-45 35.7
cneungukauna A 7 IBK6-2-93 500 HSK63A-LBK1-105| 148.9  OK4-4-60 35.7
BSB25-52-LBK2 | 27.4  (BSA10-50 o LBKé-3-56 464 HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 28. 6 CBS413-60 9 LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  CK5-5-90 44.7
BSB50-90-LBK4 | 32.9  CBS416-75 L9 LBKOAS 204 HSK63A-LBKA-115| 148.9  CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS419-115  [CC12| 19.0  |BKe—5 41 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12] 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

Hap ueHaTa He BKNOYBa TOBapuW, TakCu 1 Takcu.
LleHa Ha caoenka B wartcku gonapu B Kutaun.
HHKaKBVIB'bI'IpOCI/I M O Nn A |/|3npaTeTe|/|M

N
(@)

i 0 evaBSRANBBVIRZY-tw

(]


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

ER Collet Toolholder YabnxuTenHa uana 3a ER FMB mMeTpuyeH UHCTPYMEHT 3a dhpe3oBaHe Ha nuua

ER Collet Toolholder ER Extension Collet FMB Metric Face Milling Tool Holder

cneundukaumus

Liena

neundukauvklpeunsHochpeymsHocipeLnsHodg
0.01mm 0.008mm 0.005mm

Collet

cneuundukaums Llena

NO. xColletxA/MxL usD
R8-ER25 17.1
R8-ER32 17.1
R8-ER40 19.7
MTB3-ER20 16.0
MTB3-ER25 16.0
MTB3-ER32 17.1
MTB4—-ER25 17.1
MTB4-ER32 18.6
MTB4-ER40 22.4
MTB5-ER40 26.4
NT30-ER25 17.1
NT30-ER32 17.1
NT30-ER40 19.7
NT40-ER25 17.1
NT40-ER32 1 7l
NT40-ER40 19.7
18020-ER16-35MS 40. 4
18025-ER20-35MS 40. 4
1S030-ER32-42 27.4
1S030-ER32-60 27.4
HSK32E-ER16-050MS 82.1
HSK32E-ER20-050MS 82.1
HSK32E-ER20-060MS 82.1
= = 82 1
BT30-GER16-70 21.4
BT30-GER16-100 21.4
BT30-GER20-70 21.4
BT30-GER20-100 21. 4
BT30-GER25-70 21.4
BT30-GER25-100 21.4
BT40-GER16-70 21.4
BT40-GER16-100 21.4
BT40-GER20-70 23.9
BT40-GER20-100 23.9
BT40-GER25-70 23.9
BT40-GER25-100 23.9
BT40-GER32-70 23.9
BT40-GER32-100 23.9

ER raeueH kniou / raikn
ER Wrench/Nuts

"y ®

cneuundukayms

Collet

ER8A/M
ER11A/M
ER16A/M
ER20A/M
ER25UM
ER32UM
ER40UM
ERS50UM

LN
o—_o~N~NhO

®

&

=

Wrench

PN
wO—_o~NN~No

&3]

cneundukaumnsa
NO. xColletxA/MxL
BT30-ER11-70 16.0
BT30-ER11-100 16.0
BT30-ER16-70 18.6
BT30-ER16-100 18.6
BT30-ER16-150 19.7
BT30-ER20-70 18.6
BT30-ER20-100 18.6
BT30-ER20-150 19.7
BT30-ER25-70 18.6
BT30-ER25-100 18.6
BT30-ER25-150 19.7
BT30-ER32-70 18.6
BT30-ER32-100 18.6
BT30-ER32-150 19.7
BT30-ER40-80 17.1
BT30-ER40-100 17.1
BT40-ER11-70 21.1
BT40-ER11-100 21.1
BT40-ER16-70 211
BT40-ER16-100 21.1
BT40-ER16-150 22.4
BT40-ER16-200 37.1
BT40-ER20-70 21.1
BT40-ER20-100 21.1
BT40-ER20-150 22.4
BT40-ER20-200 37.1
BT40-ER25-70 21.1
BT40-ER25-100 211
BT40-ER25-150 22.4
BT40-ER25-200 37.1
BT40-ER32-70 21.1
BT40-ER32-100 21.1
BT40-ER32-150 22.4
BT40-ER32-200 37.1
BT40-ER32-250 50.3
BT40-ER32-300 74.0
BT40-ER40-80 19.7
BT40-ER40-100 19.7
BT40-ER40-150 23.9
BT40-ER40-200 39.7
BT50-ER16-100 39.7
BT50-ER16-150 50.3
BT50-ER16-200 63. 6
BT50-ER20-100 39.7
BT50-ER20-150 50.3
BT50-ER20-200 61.0
BT50-ER20-250 81.9
BT50-ER20-300 100. 4
BT50-ER25-70 39.7
BT50-ER25-100 39.7
BT50-ER25-150 50.3
BT50-ER25-200 61.0
BT50-ER25-250 84.7
BT50-ER25-300 100. 4
BT50-ER32-70 39.7
BT50-ER32-100 39.7
BT50-ER32-150 50.3
BT50-ER32-200 61.0
BT50-ER32-250 81.9
BT50-ER32-300 97.9
BT50-ER32-350 126.9
BT50-ER32-400 158.9
BT50-ER40-100 42. 4
BT50-ER40-150 52.9
BT50-ER40-200 63. 6
BT50-ER40-250 87.4
BT50-ER40-300 1056.7
BT50-ER40-350 129.6
BT50-ER40-400 158.9
BT50-ER50-100 74.0
BT50-ER50-150 81.9
BT50-ER50-200 92.6
BT50-ER50-250 121.7
BT50-ER50-300 158.9

ER abpxay 3a yabmkaBaHe Ha LiaHra
ER Collet Extension Toolholder

Collet
A/M/i

cneundukauma

DxColletxA/MxL
C10-ER8-100
C10-ER8-150
C12-ER8-100
C12-ER8-150
C12-ER11-100
C12-ER11-150
C16-ER11-100
C16-ER11-150
C16-ER16-100
C16-ER16-150
C16-ER16-200
C16-ER16-250
C16-ER20-100
C16-ER20-150
C16-ER20-200
C20-ER20-100
C20-ER20-150
C20-ER20-200
C20-ER20-250
C20-ER16-100
C20-ER16-150
C20-ER16-200
C20-ER16-250
C20-ER11-100
C20-ER11-150
C20-ER25-100
C20-ER25-150
C25-ER16-100
C25-ER16-150
C25-ER16-200
C25-ER16-250
C25-ER20-100
C25-ER20-150
C25-ER20-200
C25-ER25-100
C25-ER25-150
C25-ER25-200
C25-ER25-250
C25-ER32-100
C25-ER32-150
C32-ER32-100
C32-ER32-150
C32-ER32-200
C32-ER32-250
C40-ER40-100
C40-ER32-100
C32-ER40-100

N = X R o NN NN S SN S T N S i S PP

O NRARO OO N, ORO NN L ONN RN N OO oo NN o NN o NN o NINNNNN W

NO. xdxL

[bpxay 3a hpe3oBaHe Ha UHCTPYMEHTH C NHYOB d}pomBTSO FMB27-60
FMB Inch Face Milling Tool Holder

-

\

4

cneundukaumsa

NO. xdxL

R8-FMA25. 4
R8-FMA31. 75
C20-FMB25. 4
NT50-FMA31. 75-75
NT50-FMA38. 1-75
NT50-FMA47. 625-75
NT50-FMA50. 8-75
BT40-FMA25. 4-60
BT40-FMA25. 4-100
BT40-FMA31. 75-60
BT40-FMA31. 75-100
BT40-FMA38. 1-60
BT40-FMA38. 1-100
BT50-FMA25. 4-60
BT50-FMA25. 4-100
BT50-FMA25. 4-150
BT50-FMA25. 4-200
BT50-FMA25. 4-250
BT50-FMA25. 4-300
BT50-FMA31. 75-60
BT50-FMA31. 75-100
BT50-FMA31. 75-150
BT50-FMA31. 75-200
BT50-FMA31. 75-250
BT50-FMA31. 75-300
BT50-FMA38. 1-60
BT50-FMA38. 1-100
BT50-FMA38. 1-150
BT50-FMA47. 625-75
BT50-FMA47. 625-150
BT50-FMA47. 625-200
BT50-FMA50. 8-75
BT50-FMA50. 8-100
BT50-FMA50. 8-150

NO.

Llena
usb

17.
17.
17.
43.
43.
92.
55.
17.
19.
18.
19.
19.
21.
42.
42.
52.
63.
84.
1M1
43.
43.
56.
67.
87.
119.0
42. 4
45.0
59.6
84.7
145. 4
198.3
55.4
68.9
79.3

usb

BT30-FMB22-45 14.6
BT30-FMB22-60 14.6
BT30-FMB22-100 18.6
BT30-FMB27-45 14.6
BT30-FMB27-60 14.6
BT30-FMB27-100 18.6
BT30-FMB32-45 16.0
BT30-FMB32-60 16.0
BT40-FMB22-45 17.1
BT40-FMB22-60 17.1
BT40-FMB22-100 18.6
BT40-FMB22-150 22.4
BT40-FMB22-200 37.1
BT40-FMB22-250 47.6
BT40-FMB22-300 61.0
BT40-FMB22-350 74.0
BT40-FMB27-45 17.1
BT40-FMB27-60 17.1
BT40-FMB27-100 18.6
BT40-FMB27-150 23.9
BT40-FMB32-60 17.1
BT40-FMB32-100 17.1
BT40-FMB32-150 23.9
BT40-FMB40-60 19.7
BT40-FMB40-100 21.1
BT40-FMB40-150 26.4
BT50-FMB22-60 39.7
BT50-FMB22-100 39.7
BT50-FMB22-150 50.3
BT50-FMB22-200 61.0
BT50-FMB22-250 81.9
BT50-FMB22-300 100. 4
BT50-FMB22-350 119.0
BT50-FMB22-400 132.4
BT50-FMB22-450 153.3
BT50-FMB22-500 185. 3
BT50-FMB22-550 211.7
BT50-FMB22-600 238.1

39.7
BT50-FMB27-100 39.7
BT50-FMB27-150 52.9
BT50-FMB27-200 63. 6
BT50-FMB27-250 84.7
BT50-FMB27-300 103. 1
BT50-FMB27-350 119.0
BT50-FMB27-400 145.4
BT50-FMB32-60 42.4
BT50-FMB32-100 45.0
BT50-FMB32-150 56.9
BT50-FMB32-200 67.4
BT50-FMB32-250 87.4
BT50-FMB32-300 119.0
BT50-FMB40-60 42.4
BT50-FMB40-100 45.0
BT50-FMB40-150 58.1
BT50-FMB40-200 68.9
BT50-FMB40-250 90.0
BT50-FMB40-300 119.0
BT50-FMB60-75 84.7
BT50-FMB60-150 145. 4
R8-FMB22 16.0
R8-FMB27 16.0
R8-FMB32 17.1
R8-FMB40 19.7
C20-FMB22 16.0
C20-FMB27 16.0
C20-FMB32 17.1
C25-FMB22 17.1
C25-FMB27 17.1
C25-FMB32 17.1
C32-FMB22 18.6
C32-FMB27 18.6
C32-FMB32 18.6
MT3-FMB22 17.1
MT3-FMB27 17.1
MT3-FMB32 17.1
MT4-FMB22 19.7
MT4-FMB27 19.7
MT4-FMB32 19.7
NT30-FMB22 18.6
NT30-FMB27 18.6
NT30-FMB32 18.6
NT40-FMB22 18.6
NT40-FMB27 18.6
NT40-FMB32 18.6
NT40-FMB40 21.1
NT50-FMB22 42.4
NT50-FMB27 42.4
NT50-FMB32 42.4
NT50-FMB40-75 43.6
NT50-FMB32-150 52.9
NT50-FMB32-200 63. 6
NT50-FMB60-75 92.6

IIIIIIIIIIIIL K a K

Hap ueHaTta He BKNtoYBa TOBapu, TAKCU U TAKCU.
LleHa Ha coenka B waTtcku gonapu B Kutai.

B WU B b n poc u, M O n Aa, M 3 nNnparTeTe M ™Mewnn: EE\/E}éﬁ}F{?ZﬁﬁYY}QSYv(!F?ZZSJ tVV


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

GSK Bucoka ckopoct U C MouwHa cToiika 3a uaHra Abpxay 3a 3akpensaHe Ha rbpba Ha SDC SLN Side Fixed Type Toolholder
BucokoTo4YeH NHCTPYMEHT
GSK High Speed And

High MpeuusHocT Toolholder

@ C Powerful Collet Toolholder SDC Back-Pull Collet Toolholder SLN Side Fixed Type Toolholder

cneundukaumsa u E
NO. xCol letxL
BT30-GSK10-60 20.3
g;gg:ggmg:zg %8 g cneuundukauyms LieHa cneuundukayms
BT30-GSK16-90 20' 3 NO. xCol letxL usD NO. xCol letxL SR
BT40-GSK10-60 23: 9 R8-C32 63. 6 BT30-SDC6-90 .6 NO. xdxL
BT40-GSK10-100 23.9 NT30-G25 63.6 BT30-SDC8-90 .6 g
BT40-GSK16-60 23.9  NT30-G32 63.6  BT30-SDC10-90 59.6 E}ig_gtmﬁ 1 2: 8
BT40-GSK16-100 23.9  NT40-G25 63.6 BT30-SDC12-90 596 BT30-SLN20 160
NT40-G32-105 61.0 BT40-SDC6-90 63.6 BT30-SLN25 160
Collet SK10 7.1 MT4-C32 740 BT40-SDC8-90 3.6 BT30-SLN32 160
Collet SK16 9.0 mf;:gg"ﬁ ]22 j BT40-SDC10-90 636 BT40-SLN06-75 21.1
e 150 o  BT40-5DG12-90 63.6 BT40-SLNO8-75 211
Bear ing Spanner 15.4 NT50-C32-105 92. 6 BT40-SDC6-120 79.3 BT40-SLN10-75 21.1
NT50-C42-115 119.0 ~ BI40-SDC8~120 79.3  BT40-SLN12-75 17.1
MTA/ B Hocas a Mop BT30-C20-80 61.0  BI40-SDC10-120 /9.3 BT40-SLN16-75 17. 1
T bores Taper Toalholder BT30-C25-80 61.0 —BI40-SD012-120 79.3  BT40-SLN20-75 17.1
BT30-C32-105 61.0 BT40-SLN20-150 25.3
MITA ~ MTB Bra0-c20-90 61,0 Collet SDCO6 1.9 BT40-SLN25-100 17.1
- BT40-C25-90 61.0  ColletSDCO8 119 BT40-SLN25-150 25.3
- BT40-032-105 55.4 R 191 BT40-SLN32-100 17.1
: BT40-C42-100 105.7  Collet SDG12 13.1 BT40-SLN32-150 25 3
cneumndukaums Liena BT50-620-105 92.6 BT40-SLN40-100 19.7
NO. xMT. . xL usb BT50-C25-105 92.6 TOpCcHOHHa 3almnTa Ha MHCTPYMeHTa BT50-SLN06-105 46.1
BT30—MTA2—75 16. O g%gg:gg%:} (3)2 19025 67 Torsional Tapping Protection Toolholder BT50‘SLN08_105 46. 1
BTa0MTAI -1 oe s T i BT50-SLN16-105 39.7
s e e an e BT50-SLN20-105 39.7
BT40-MTA1-45 18.6 BT50-632-300 224.7 .
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132.4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 > BT50-SLN40-105 42.4
BT40-MTA3-75 16.0 BT50-C42-200 171.9 5 BT50-SLN40-150 52.9
BT40-MTA4-165 31.7 BT50-C42-250 211.7 ) BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259. 3 BT50-SLN40-250 92.6
BT50-MTA1-120 55. 4 SK50-C32-110 171.9 e BT50-SLN40-300 105.7
BT50-MTA1-45 43.6  JT80-C32-110 " NO. xColletxL BT50-5LNS0. 8-120 55.4
BT50-MTA2-13 52.9 olle :
Bng_MTAz_éos 39 7 Collet C25 3.6 BT50-J4112 119.0 ©10-SLN4-100 22. 4
BT50-MTA3-150 5.9  ColletC32 3.6 | BTS0-Ja124 132.4° " (10-SLN4-150 22.4
BT50-MTA3-75 39.7  ColletC42 7.6 BT40-J4112 793 610-SLN6-100 22.4
: Wrench G20/25/32/42 3.9 BT40-J4124 92.6 . _
BT50-MTA4-180 66. 1 MT3-04112 o g}g gtui 138 %% j
gl 397 Comtaararaui s narpomun , MT4-J4112 793 o17-SLNA-180 o
‘ MT5-J4124 100. 4 Wi )
BT50-MTA5-210 90.0 C12-SLN6-100 22.4
= Drill Chuck = — R
N;jg_m¥ﬁi j| 2 2 - ‘ GT312 China Standard 16.0 C12-SLN8-150 224
NT50-MTA1-45 43: 6 GT312 Japanese Standard 18.6 C16-SLN10-100 22 4
NT50-MTA2-60 42 4 GT24 China Standard 19.7 C16-SLN10-150 22.4
NT50-MTA3-75 424 GT24 Japanese Standard 22.4 C16-SLN6-100 22.4
NT50-MTA4-90 42.4 cneundukauns LleHa CTpaHuyeH pesa VIHCTpyMeHTaneH Abpxay Ha TPUOH G16-SLN6-150 22.4
-MTA5- —SLN8- 22.4
NT50 MTA5 105 43 6 NO. xCol letxL USD Side Milling Tool Holder of Saw Blade g} 2_§tng_1gg 22 4
APU13 Drill Chuck 23.9 - - _ )
BT40-MTB1-120 26.4 APU16 Drill Chuck 26. 4 g%g_gtmg_}gg gg g
BT40-MTB1-45 186 BT30-APU0S-80 37.1 e 100 P
BT40-MTB2-120 25.3  BT30-APU13-100 37.1 090Nt 20 o
BT40-MTB2-60 16,0 BT30-APU16-100 39.7 Co0-SNa—100 F
SHS’H??QS ?2 <3) BT 800 o C20-SLN8-150 25.3
-MTB3- : BT40-APU13-100 37.1 8
BT40-MTB4-165 31.7 BT40-APU16-120 39.7
BT40-MTB4-90 17.1 BT50-APU13-110 58.1 NT40-SLN12 19.7
BT50-MTB1-120 55. 4 BT50-APU13-180 79.3 m)et;vc'q’rrﬁgrf NT40-SLN16 19.7
BT50-MTB1-45 43.6  BT50-APU16-130 62.1 GOl NT40-SLN25 19.7
BT50-MTB2-135 52.9 BT50-APU16-180 84.7  BT40-SCA22-90 65. 4 NT40-SLN32 19.7
BT50-MTB2-60 39.7 NT30-APU13-100 39.7  BT40-SCA25. 4-90 65.4 NT50-SLN12 42.4
BT50-MTB3-150 52.9 NT40-APU13-100 39.7  BT40-SCA25.4-120 83.3 NT50-SLN16 42.4
BT50-MTB3-75 39.7 NT30-APU16-120 42.4 BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT50-MTB4-180 66. 1 NT40-APU16-120 424 BT40-SCA32-90 65. 4 NT50-SLN25 4.4
BT50-MTB4-90 397 Camo3artsrauy ce natporHunk1 =13 19.7 NT50-SLN32 42. 4
BT50-MTB5-105 43. 6 Camogarsrauy ce I'IanOHHVIK1 16 23.9 TecT Ha WNMHAENA HA MALWMHHUS UHCTPYMEHT NT50-SLN40-105 43. 6
BT50-MTB5-210 90.0 C20-APU13 31.7 Machine Tool Spindle Test Rod NT50_SLN42—1 05 47.6
NT40-MTB2 18.6  G20-APUT6 Al — . NT50-SLN50. 8-120 55. 4
g C32-APU13 35 7 r \
NT40-1TB4 1oe  ReaU3 o - 15020-11. 3-Prob 40.4
NT40-MTB4 18.6  pa_apute 343 ——— |8020-11.3- robe 404
NT50-MTB1-45 436 WT3-APU13 304 u u . 3—Probe .
NT50-MTB2-60 42. 4 MT4-APU13 30: 4 NO. xL 1S025-20-Probe 40. 4
NT50-MTB3-75 424 NT3-APU1S 331 BT30 92.9
NT50-MTB4-90 42. 4 MT4=APU16 33 1 BT40 92.9 HSK32E-11. 3Probe 82.1
NT50-MTB5-105 436 APU Wrench(08/13/16) 1.9 BT50 131.0

Hap ueHaTta He BKNo4YBa TOBapu, TakCu 1 TaKkCu.
LleHa Ha caenka B waTtcku gonapu B Kutan.

HFIKaKBVIB'brlpOCl/IyMOﬂﬂyMBHpaTeTeMMeﬂﬂ:eva@m‘Z/é‘{\e%wcerg'tw

N
oo



http://www.mzg.tw

Akcecoapu 3a CNC MHCTpyMeEHTHU

CNC Tool Holder Accessories

Croika 3a uHcTpymeHTu ¢ LIMY BonT Ha nnb3ravya CNC pbpxay 3a MHCTpymeHTU Lockset CNC abpxay 3a MUHCTPYMEHTU -9 : CNC abpxay 3a MHCTpymeHTU Lockset
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset \ CNC Tool Holder Lockset
45°/60°/90°
{7
BT DIN69872 180 JIs
cneundpukaums cneuundmkayms cneuundmkayms cneuundmkaums
BT30-45° . NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° . 18025 59.6 BT40 19.0
BT30-90° 1.9 HSK25 59.6 BT50 38.1
BT40-45° 1.4 HSK32 59.6
BT40-45° Mpes aynkatalpes dynkhtd HSK40 71. 4
BT40—60: €9 HSK50 71.4
g%‘rg-zgo 13 ‘1? HSK63 83.3
BT50-45° rpes aynkarallpes dynidté HSK100 v
BT50-60° 3.6 .
BT50_60° Mpes qynKaTaI'Ipes ﬂyﬂl&-TQ CbanaTen Ha Z-ocu CNC Edge Finder HOHM§TBam NPbT Ha WNUHAENa Ha MaWWHHNA UHCTPYMEHT
BT50-90° 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
DIN69872-30 3.6
DIN69872-40 3.6
DIN69872-50 6.0
1507388-30 4.6
1807388-40 4.6
1807388-50 6.0
J1S6339-30 3.6
J1S6339-40 3.6
J1S6339-50 6.0 doToenekTpuyeckn undpepbnar Ordinary ~ aHTumarHuThu  Ceramic
MAZAK-BT40 3.6
MAZAK-BT50 6.0 cneundmnkaums cneundukauns @
doToenekTpuyeckn Z-axis Seiter? Ordinary type 2.4 BT30 3.9
uundepbnart Z-axis Seiter/ aHTUMarHUTHM type 3.6 BT40 3.9
KepamuieH maruuT type 10.7 BT50 5.4
cpoToenekTpuieckm type 13.3

Hap ueHaTa He BktoYBa TOBapwu, TakCu U TaKCK.
LleHa Ha caenka B WwaTtcku gonapu B Kutan.

FIKaKBVIB'bI'IpOCVI,MOﬂﬂ,V|3I'IpaTeTeMMeﬁﬂ:eva@mzéY%Wdﬂzg'tw



http://www.mzg.tw

AKcecoapu 3a cTpyroBse

Lathe Chuck Accessories

Yk T Brok Liena
5 inch 10.7

6 inch 1.9

¢ 8 inch 15. 4

10 inch 19.0

12 inch 22.1

dukcupalla nnacT1Ha ¢ YeniocTHa YeniocT

cneuundukalms 2 JAWS Llena 3 JAWS Llena 4 JAWS Llena Chuck Jaw Fixing Plate Pa3mepy LleHa
usD
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS-204 - 5 inch 61.9
5 inch SBL-205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9 ,ﬁ . 8 inch S
Kyxu xuapasnuyen natpornnid  inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 o 2 8 inch 107’ 1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 5 . :
10inch SBL-210 | 6976 | SB-210 | 697 6 | SBS=210 | 800. 0 10 inch 115.4
Hollow Hydraulic Ghuck| 12inch SBL-212 | 1190.4| $B-212 | 1190 4| SBS-212 | 1326. 1 -
15inch SBL-215 |2642.9| SB-215 |2642.9| SBS-215 | 3000.0 SBPAINAPABNIYEH POTELHICHSH UMAMHALD
lonama Gnerna 6 inch 2DTK-206 | 647.6 | 3DTK-206 | 647. 6 | 4DTK-206| 714.3  solid Hydraulic Pasmepu Liena

Kyxu xnapaBnuyeH naTpoHH
Large Aperture

Hollow Hydraulic Chuck 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 4DTK—210 1038. 1
Avmor ypaplenvrypap |6 jnch 3JDB-206 | 988. 1

‘S inch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0  Rotary Cylinder . ==
i 5 inch(0815) |[109.6

6 inch(1020) |131.0

Kyxu xmnfaanw;er—l:a'rpow K8 inch 3JDB-208 | 11214 ) 8/10|nch(1225) 150.0
Hollow Hydrautio Chuck | 101inch 3JDB-210 | 1258. 3 12 inch(1530) |197.6
AL e SBL206K0| 431 0 | SB208KQ | ¢11 6 |SBS-20BKQ] 714 3 NS ey
Hollow Half-Through |8 inch SBL-208KQ| 714.3 | SB-208KQ | 681. 0 |SBS-208KQ| 788. 1 Hollow Hydraulic Pasmepu
Pneumatic Chuck | 10 jnch SBL-210KQ| 785.7 | SB-210KQ | 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder .
4 inch INL-04 | 428 .6 | JIN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 452 4 | IN-05 | 409 6 inch(1036) 1273,
6 inch INL-06 | 500.0 | JIN-06 | 459 6 6 inch(1246) |306.0
TERPA XuRPaOMICH NATRORKNG o1y INL-08 | 547.6 | JIN-08 | 511.9 8 inch(1552) 1357.1
Solid Hydraulic Chuck 10inch JNL-10 714.3 JN-10 666. 7 10 |nch(1875) 647.6
12inch INL-12 [ 1119.0] JN-12 |1088.1 12 inch(2091) 1309.6
15inch JINL-15 JN-15 2309. 6 CbeanHUTENEeH AUCK C NaTPOHHUK

5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3

Toupm o a6 inch| 1L-06 | 595.3 | 2L-06 | 544.0 | 3L-06 | 642.9
~ Long Stroke 8 inch| 1L-08 | 619.0 | 2L-08 | 542.9 | 3L-08 | 666.7

Solid Hydraulic Chuck | 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0

Chuck Connecting Disc Paamepu

4 inch 35.7

5 inch 21.4
AvnbrynapAunbryaap |4 inch JLS-206 | 892.9 6 inch 214
Hollow Hydraulic Chuck | 10inch JLS-210 | 1038.1 10 inch 476
12 inch 71.4

Tebpaa 4eniocT 3a XMAPaBANYHN NAaTPOHHULM

Hard Jaw For Pasmepu
Hydraulic Chucks
5 inch .
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
cneundukauus 2 JAWS | Lewa 3 JAWS | Llewa 4 JAWS | Liewa # 12 inch 204.7
. 15 inch 369.0
Tespa xuag aiME:ij”e“;L o beh i 36B-06 | 720.3 M e x )
ompensation oll H a 4yenwccT HaAa BeHTMUNaAaTO a 3a xmu
Hyzrauhc Chuck 8 |noh 3GB_08 839.3 U. B
5 inch JYL-05 | 738.1 | JY-05 714.3 | JYS-05 | 833.3  Fan Softyaw For Paamepy e
Kyx xuapasnisen narponsd i nch JYL-06 | 785.7 | JY-06 761.9 | JYS=06 | 904.7  veradie Chucs 5 inch
Vertical Hollow |8 inch JYL-08 | 928.6 |JY-08 904.7 | JYS-08 | 976.1 6 inoh
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 - ',”Ch
| INCl
5 inch SBL-205KQL| 714.3 | SB-205KQL | 690.4 |SBS-205KaL| 785.7 :
bruranen paowbalrThroush L6 inck i aw SBL-206KQL| 7739 | SB-206KAL | 750.0 |SBS-206KAL| 857. 1 10 inch
Hollow Half-Through |8 inch SBL—208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical M w e smaruwen naibOdnch SBL-210KQL| 976.1 | SB-210KQL | 952.4 |SBS-210KAL| 1071. 4 15 inch
Yy e N K C T o o o ol o o ° ° o
Me «xa . N 2 X WA Bl MU R M [ Aofe P O H R M hellyp a°=120 a°=120

Soft Jaw For
Hydraulic Chucks

S5Mexa uenwct 3a xuAaB MeKiaduen ox Tp30an » 4 pBaMbenwias 8 MIACTT o 8 Hxwiuaup1@ M e i @ Hune m a0 T ro3nan x i A p2aMeenknai W @ MKACTTP B A KWL A B N M U H

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

g 3 M e[ H Uena Pasmepu H Uena Pasmepu H Lena Pasmepu H Uena
usD usD usD usbD
5H40 40 | 13.6 6H50 50 |17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 34.6
5H50 50 | 17.1 6H60 60 |20.4 8H50 50 |20.4 10H60 60 |27.4 12H70 70 (404
5H60 60 |20.4 6H70 70 | 23.9 8H60 60 |23.9 10H70 70 | 31.0 12H80 80 (47.6
5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 | 59.6
Standard® bl Bw Por Pydladticcit e BHB@ n 1o ¢ 7802 |30 3 6HOB 4 v 90~ p 324 v« 8HE0 80 |[31.0 10H90 90 |41.7 12H100 | 100 | 73.9
5H90 90 |45.3 6H100 100 | 37.6  8H90 90 |35.7 10H100 | 100 | 50.0 12H120 | 120 | 80.0
p 3 M e p 1g° SR 5H100 100 | 51.1 6H120 120 | 51.1 8H100 100 | 42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0

2 o ERETE 6H130 | 130 | 56.0 8H120 | 120 | 511 10H120 | 120 | 596 =190°

Pk o 1103 6H150 | 150 | 61.9 8H130 | 130 | 547 10H130 | 130 66,1 "<t cree s faraenen
!“Ch . 1o 8H140 | 140 | 654 10H150 | 150 | 80.0 —

g net 880 gg e 8H150 | 150 | 69.0 10H170 | 170 |102.4

10 inch |120°| 42 | 16.1 8H200 | 200 1135.7 10H180 | 180 11096 J5H100 | 100 [154.7

12 inch 50 |27.4 4 15H120 | 120 |170.3

15 inch 62 | 679 15H150 | 150 |257.1

Hap ueHarta He BKNtoYBa TOBapwu, TAKCU N TaKCH.

LleHa Ha caenka B waTtcku gonapu B Kutan. )
HHKaKBVIBbI'IpOCVI,MOl'IH,I/I3I'IpaTeTeMMeﬁﬂ:eva@miéY%WdHZg'tw



http://www.mzg.tw

Linkedin

CkaHunpaHe, CBbpXeTe ce c Hac

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

